Air Cylinder

Series CJZ2

26, 910, 916

Long life of over 1.5 times  Compact and lightweight: ) @\{%

(In-house comparison) l/ _
= CJ1

The lateral width of the cover has been

The mounting accuracy of the cylinder and reduced approximately 10% from the

the wear resistance of the seals have been CJ1 Series. In addition to a weight

improved, thus dramatically increasing the reduction of over 30%, a space- —
cylinder's life to more than 1.5 times that o saving configuration has been CJP

the CJ1 Series. achieved. ——

High speed actuation possible:

Either the rubber bumper or the air cushion can be CM2
selected according to the drive speed

'_ “ {‘}t& Easy installation: conditions. Therefore, it can support high speed C85

Improved wear resistance:

The bearing portions of the rod cover and the
clevis have been improved in wear resistance
to ensure the longevity of the cylinder.

drives.
The installation is simple because ~ ® Rubber bumper - 50 to 750mm/s —
a tool can be placed directly over (Standard equipment) CG1

" . g .
@ ‘L/ ] the cover for installation. ® Air cushion - 50 to 1000mm/s

Reduced piston rod deflection: &
The clearance between the bushing and the piston rod has been decreased to C95
achieve higher accuracy, thus decreasing the deflection of the piston rod. e ——
Variations CAl
Series Action Rod Basic | = Star:;iard Ve Bo(ﬁrﬁl)ze Page cs1
mglgt;gt ‘ cusrlmﬁon ’ Clean ‘ ’ Copper free
Standard: CJ2 ‘ 5 ‘ ‘ ‘ 1.3-2
Double
_ acting 6
P - Double rod[ L @ @ L @ 1.3-13
A 10
;.'-
R =k Single Single rod, 16
cﬁ"‘:ﬂ = acting retusrr?/rél?end ¢ ¢ ¢ 1.3-20
Non-rotating rod: ggﬁﬁgHsmgle rod} ® | ° 1.3-30
CJ2K s
e Single Single rod, Spri
- e I I 1335
Built-in speed Single rod| @ 1.3-42
controller: CJ2Z Double
== acting
- Double rod @ @ @ 1.3-47
Low friction: CJ2Q 10
— Double :
" Single rod @ @ 1.3-52
L t
s / acting 16

1.3-56

Direct mount: CJ2R %‘éﬁﬁgHsingle rod}

I I I
Single Single rod, Spring]
o ] e e 13.61
Non-rotating rod/ %‘3#25’H3ingle rod} ® ® 1.3-65
Direct mount: s
CI2RK ga—=— Single Single rod, Spri
ety @ 13-69
Made to Order
Applicable auto switch Band mounting Rail mounting Refer to p.5.4-1
for made to order
- D-A7/A8, D-A7CH/A80H, .
Reed switch D-C7/C8, D-C73C/C80C D-A73C/AB0C, D-ATIW EI:;);UCIS of series
. . D-H700. D-H7C D-F7/37, D-F70V, D-J79C '
Solid state switch ' D-F70O0W/J79W, D-F7OWV, -
D-H7OW, D-H7BAL, D-H70OF D-F7BAL, D-F70F, D-F7NTL gl




Standard: Double Acting Single Rod

Series CJZ2

26, 910, 16

How to Order

Bore size ¢
6 6mm
10 | 10mm ¢ Standard stroke (mm)
16 | 16mm @ 6| 15,30, 45, 60
- 210 | 15, 30, 45, 60, 75, 100, 125, 150
@16 | 15, 30, 45, 60, 75, 100, 125, 150, 175, 200
Mounting
Basic Cushion
Axial foot

Front flange
Double clevis (Except for g6)

O|m|ir|@

Rubber bumper
Air cushion (Except for g6)

A

I

CJ2

60

L
[ |
L

WAGIETIOEYIME CDJ2 16

60 C73

i ) ® Number of
f"’?’i‘ Wlth a_uto switch switches
—= (built-in magnet) Auto switch — 2
Port location on head cover + Refer to the table below for selecting _ S | 1
applicable auto switches. n n
26 210/216
R ° + If requiring a built-in magnet cylinder
— — Perpendl.cular 90 without an auto switch, refer to the
R In-line In-line model number example below.

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.

+ Refer to p.1.3-4 for the configuration.

Part No. of Cylinder with Built-in Magnet

5 - Load voltage Auto switch model™* Lead wire* i ] )
Style| Special function [Electrical| (g"[‘j;";‘li) oe ac | Band | Rail@ioe19 |05 ]3] 5 vond Apﬂggble Symbol "-A' .(rall mounting) or _—B
enry |2 (96,910,218 perp | In-fine | ) L@ N (band mounting) should be suffixed to the
(:-;Nvgulr\le) | sy _ c76 _ |(a76H | @ |@|—|—| 1c | — part No. of the cylinder with auto switch.
<
S Grommet | —| — J200v| — | A2 |[AT2H| @ |@|—|—| £, |Railmounting| CDJ2B10-45-A
= — X.
z _ | i2v | 100V | C73 | A73 |A73H | ® |@|® Band mounting] CDJ2B16-60-B
© No 2 wire 5V, 12v| <100V | C80 | A80 |A80H | @ |@|—|— | IC |Relay
e comecorl™® 24v| 12v | — |C73C|A73C| — | @ |@|/@|®| — | PLC
onnector [——
o 5V, 12V| <24V | C80C | ABOC | — ® (000 cC
D'agngf‘gg;gg'ca‘“’" Grommet |Yes — — — | A7TOW | — e 0|—|—| —
3 wire (NPN) sv 1] — H7A1 |FINV| F79 | @ (@ | O|— c
Grommet| | 3 wire (PNP) ' H7A2 | F7PV | F7P | @ (@ |O|—
< ) — | H7B |[F7BV| J79 | @ |@|O|—
S 2 wire 12V
2 Connector — H7C | J79C | — o o006 —
2 ) swie(eN)| | H7NW | FINWV| F79W | @ |@|O|—|
o Diagnostic indication N , _ _ Relay
g (2 color) Yo e PN 4 H7PW F/PW . ® (@O PLC
g H7BW [FOBWV|J79W | @ (@ | O|—
o N 2 wire 12v
= Water resistant -
3 G eoon ™ |crommet — |H7BA| — |F7BA| — |@|O|—
With timer 3 wire (NPN) sy 12V — — |FINT | — | @|O|— c
With diagnostic output ’ _ _
— e 4 wire H7NF F79F | @ (@O
wi
ot i s o (NPN) — HILF | — |FiLF | @ |@|O|—| —
* Lead wire length 0.5m:-e-e — e.g)C73C [S13 ) EXTSTRPRPROS Z e.g.) C73Cz
1) ERPPTRPRRRS L C73CL  None: - N C73CN

+ Solid state switches marked with" O " are manufactured upon receipt of order.
++ “D-A79W” cannot be mounted on bore size 10 cylinder with air cushion.

1.3-2



Standard: Double Acting Single Rod Series CJZ

Specifications

Action Double acting/Single rod
Fluid Air
Proof pressure 1.05MPa
Max. operating pressure 0.7MPa
. . 26 0.12MPa
Min. operating pressure
210, 916 0.06MPa
Ambient and fluid temperature Without auto switch: ~10°C to 70°C, With auto switch: ~10°C to 60°C*
Cushion Rubber bumper/Air cushion
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance "0
Piston speed 50 to 750mm/s
26 0.012J
Allowable kinetic energy 210 0.035J
216 0.090J
* No freezing
JIS symbol
Standard Stroke (mm) ———
Double acting/Single rod Bore size Standard stroke C95
6 15, 30, 45, 60
CAl
‘ ‘ 10 15, 30, 45, 60, 75, 100, 125, 150 I
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 CS1
Made to Ord ini i i
- ade to Lrder Minimum Strokes for Auto Switch Mounting
i Min.
Refer to p.5.4-1 for made to order Mounting AU S[\leltCh Nun_"lbﬁr of strc|>r|]<e
products of series CJ2. mode SHIENES (mm)
2 (same surface) 50
b-c7 2(different surf 15
- = D-C8 (different surfaces)
A\ Precautions : : 10
— e e e ——— 3 | Db-Hm 2 (same surface) 60
r ; -= E | DH/IOW 2 (different surfaces) 15
I Be sure to read before handling. Refer to " T B-:;ﬁéL 1 o
p.0-39 to 0-46 for Safety a -
1 . . 1 — | D-C73C 2(same surface) 65
Llnstructlons and common precautions. _: 26 | pD-c8oC 2(different surfaces) 15
e ————— 510 | D-HTC 1 0
A\ Caution
. 216 2(same surface) 65
’ Mountin ) D-H7LF 2 (different surfaces) 25
(D During installation, secure the rod cover and 1 15
tighten by apply?n_g an appropriate tightening B-ﬁ;{ﬂAa/ASOH 2 10
force to the retaining nu_t or to the rod cover D-A73C/ABOG 1 5
body. If the head cover is secured or the o D-F7
head cover body is tightened, the cover £ D-J79 2 5
could rotate, leading to a deviation. 5 D-F7O0V 1 5
(2) Tighten the retaining screws to an g |DbJr9C
appropriate tightening torque within the =z | D-AIW
range given below. ¢ | D-F7OW 2 15
26: 2.1 to 2.5Nm, 10: 5.9 to 6.4Nm, g16: =% | BIrew
10.8 to 11.8Nm D-F7BAL L 0
(3 To remove and install the snap ring for the 216 B'ZE;NV
knuckle pin or the clevis pin, use an -
appropriate pair of pliers (tool for installing a D-F7LF 15
C type snap ring). In particular, use a pair of 1 15

ultra-mini pliers such as the Super Tool
CSM-07A for removing and installing the
snap rings on the g10 cylinder.

(@) In the case of auto switch rail mounting style,
do not remove the rail that is mounted.
Because the retaining screws extend into the
cylinder, this could lead to an air leak.

1.3-3



Series CJ2

Mounting Accessories/Refer to p.1.3-12 for details. Port Location on Head Cover
. Double ; ; ; i
Mounting Basic Axial foot |Front flange| javis* Either perpendicular to the cylinder axis or
in-line with the cylinder axis is selectable for

- Mounting nut ° ° ° _ basic style. (g6 is available only as in-line style.)
<
E Rod end nut ) ) ° )

7 Clevis pin — — — [ J
- Single knuckle joint [ J [ J [ [ J
9 ioint*

8_ Double knuckle joint [ J [ J [ o Perpendicular

T bracket — — — [ ] .
: — —— . Weight )
« Double clevis or double knuckle joint are packaged with pins and rings.
Bore size (mm) 6 | 10 | 16
. Basic weight® 15 | 24 | 55
Mounting Bracket Part No. — .
- Additional weight for each 15 of stroke | 2 4 | 6.5
Mounting bracket Bore size (mm) —

UM IS 6 10 16 E fg Axial foot 8 | 8 |20
Foot CJ-L006B CJ-L010B CJ-L016B E g |Front flange 5 5 | 15
Flange CJ-F006B CJ-F010B CJ-FO16B = & | Double clevis™ (with pins) | — | 4 | 10
T bracket™ — - -

- - - €J-10108 CJ-T0168 g” Single knuckle joint — | 16 | 22
# T bracket is used with double clevis (D) 7]
. ) . & |Double knuckle joint | — | 24 [19.5
Auto Switch Mounting Bracket Part No. (Band mounting) 3
< |T bracket — | 32 | 50
Bore size
(mm) Bracket part No. Note « This basic weight includes weights of mounting nut
BJ2-006 and rod end nut.
6 - Common use to all of =% The mounting nut is not attached to the double
10 BJ2-010 D-C7, C8 and D-H7 clevis style, so the mounting nut weight is already
16 BJ2-016 reduced.
[A set of stainless steel mounting screws] Calc;lat{on e).(a::_p;: CJ120L10'45
Note) A set of stainless steel mounting screws "BBA4" is attached. (A switch a5|lc. weig y _(Z )
mounting band is not attached. Please order the band separately.) : Adc_iltlonal weight: 4/15 stroke
"BBA4" screws are used for D-C7/C8/H7. * Cylinder stroke: 45 stroke
“D-H7BAL" switch is set on the cylinder with the screws above when * Mounting bracket weight: 8 (Axial foot)
shipped. * 24+4/15 X 45+8=44¢g

Also, when a switch only is shipped, "BBA4" screws are attached.

Theoretical Force

Refer to the "Double acting cylinder" in Theoretical Force Table 1 of
Technical data 3 on p.5.6-7.

1.3-4



With Air Cushion

Standard

: Double Acting Single Rod Series CJZ

CJZ‘ Mounting H Bore size H Stroke ‘A‘

With air cushion

With covers on both sides equipped with the cushion
function, the cylinder absorbs the impact during high-speed

operation.

Clean Series

Port location

on head cover

Specifications

Action Double acting/Single rod
Lubrication Non-lube
Bore size 210, 916
Max. operating pressure 0.7MPa
Min. operating pressure 0.1MPa

Piston speed

50 to 1000mm/s

Mounting

Basic, Axial foot, Front
flange, Double clevis

Cushion Mechanism

Bore size Effective cushion Allowable kinetic
(mm) length (mm) energy (J)
10 9.4 0.07J
16 9.4 0.18J

* Refer to p.1.3-6 for the construction.

Copper Free

10_C\]2‘ Mounting H Bore size H Stroke ‘

Port location
on head cover

TCIean series

The rod section of actuator is reinforced with the double-seal
structure. The air cylinder can be incorporated in the system

which directly discharges the external leak from the clean

room through the relief port.

Specifications

20-CJ2‘ Mounting H Bore size H Stroke ‘

Port location
on head cover

Copper free

To eliminate influences of copper ions or halogen ions
during CRT manufacturing processes, copper and fluorine
materials are not used as component parts.

Specifications

Action Double acting/Single rod Action Double acting/Single rod
Bore size 26, 910, 216 Bore size 26, 910, 916
Max. operating pressure 0.7MPa Max. operating pressure 0.7MPa
26 0.14MPa 26 0.12MPa
Min. operating pressure 210, 216 0.08MPa Min. operating pressure 210, 216 0.06MPa

Cushion

Rubber bumper (standard)

Cushion

Rubber bumper (standard)

Standard stroke

Same as the standard (Refer to p.1.3-3)

Standard stroke

Same as the standard (Refer to p.1.3-3)

Auto switch

Possible to be mounted

Auto switch

Possible to be mounted

Mounting

Basic, Axial foot,
Front flange

Mounting

Basic, Axial foot, Front flange,
Double clevis (Except for g6)

Construction

Construction

1.3-5

C95
CAl
CS1




Series CJ2

Construction (The cylinder cannot be disassembled.)

CJ2006-R

@2 ®

® ®

CJ2]10, CJ2016

o

@ @a2

® O e

With air cushion

(5)Piston

Magnet

Piston construction in case of
auto switches equipped

(5) Piston

Magnet

Piston construction in case of
auto switches equipped

@ ® @O 0@ @O DO GO® z/ua a8
i o
o
[[===] ST e E 2 E
e
Component Parts With Air Cushion
No. Description Material Note No. Description Material Note
O] Rod cover Aluminum alloy White anodized Cushion needle Stainless steel
@) Head cover Aluminum alloy White anodized (B) Steel ball Bearing steel
® Cylinder tube Stainless steel Cushion ring Brass
@ Piston rod Stainless steel W) Check seal NBR
®) Piston Brass Needle seal NBR
® Mounting nut Brass Nickel plated Cushion ring gasket NBR
@ Rod end nut Rolled steel Nickel plated
Bumper Urethane
@* Packing retainer Aluminum alloy White anodized
Piston seal NBR
a Rod packing NBR
(7} Tube gasket NBR
(&) Piston gasket NBR

*

Only for @6 cylinder

1.3-6



Standard: Double Acting Single Rod Series CJZ

Fl‘
Basic (B)

CJ2B ’ Bore size H Stroke HPort location on head cover

Mounting nut *

CJ2B6 o
Rod end nut % . e xos
NN GA iping port M5 X 0. -
& MM @i Piping port M5 X 0.8
D |
[ 5 _
0B A F_IT|. NA <N_B>
H S + Stroke
Z + Stroke
2
Mounting nut * %
CJ2B10, 16 Z
' Rod end nut -
NN GA Piping port M5 X 0.8 GB piping port €8
" 3 = M5 X 0.8
T S ‘ ' ; o% —
=11 s 5 MB
C95
H S + Stroke Port location on AL
Z + Stroke head cover: CAl
) In-line (R) —
Cs1

With air cushion: CJ2B | Bore size H Stroke \A’Port location on head cover

=
+—1  Port location on
—1 head cover:

Mounting nut * In-line (R) Piping port
Rod end nut_ ' _ /M5 X0.8
) GA ’Plplﬂg port M5 X 0.8 _{i?.g?_ /
o \ \ /
\ N uy
A e ] = LR
e <]
o NA L. NB | Rod end nut
[ S + Stroke o
L, Z + Stroke .
E .l Low
Material: Iron
Part No. | Bore B C d H
NTJ-006A] 6 [ 55 [ 6.4 [M3X05] 2.4
NTJ-010A] 10 [ 7 [81 [Max0.7] 3.2
NTJ-015A] 16 | 8 | 9.2 [M5x08] 4
* Refer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B C D F GA GB H MM NA NB NDhs NN S T Z
6 15 | 12 | 14 3 8 |145| — | 28 | M3X05 | 16 7 6308 | MEX10 | 49 | 3 77
10 15 12 14 4 8 8 5 28 M4 X 0.7 125 9.5 8_8_022 M8 X 1.0 46 — 74
16 15 18 20 5 8 8 5 28 M5 X 0.8 12.5 9.5 10 —8.022 M10 X 1.0 47 — 75
With air cushion/pimensions not mentioned in the below table are the same as the above table.  (mm)
Bore B |C [GA [cB |[NA [ NB | WA[WB [ww [ s z H Basic With air cushion
CAD| KSR SCJ26, #1
10 15 |17 |75 | 65 | 21 | 20 | 145|135 | 45 | 65 | 93 CAD| eSS AU
16 18 20 7.5 6.5 21 20 145 | 135 | 5.5 66 94 CJ2B16: e SCJ216, #1 SCJ216, #2

* The data shows auto switch styles.
Please delete the unnecessary parts.

1.3-7



Series CJ2
l
Axial Foot (L) ||

CJ2L | Bore size H Stroke ||Port location on head cover|

CJ2L6 Mounting nut *
Cover NN L \F GA Piping port M5 X 0.8
Rod end nut I .
surface level MM & s Piping port
5 5 _ /M5X 0.8
AN et i
51 =t )
| A x|y T Na NB Rod cover side Head cover side
/ Mounting hole H S + Stroke
i [ S Z + Stroke
=
CJ2L10, 16 . .
Biias Mounting nut - .
surface level Rod end nut \.F, GA Piping port B -
v\ o 2-M5 X 0.8 Piping port
a : 9 /AS X 0.8
(=]
I T -
W i \r Gi\. gg AF_Z_
[
=1 [ G5,
X NB
. A v Y. NA | R Port location on
> 4 Bircke head cover: In-line (R)

With air cushion: CJ2L \ Bore size H Stroke \A\Port location on head cover

. , =Hi '_'_é < —>i Port location on
Mounting nut * = e - head cover: In-line (R)
WA Lwe,]|
Er Rod end nut Piping port
surface level GA Piping port M5 X 0.8 GB <y, Wik

S + Stroke
Z + Stroke
Rod end nut
d
e
M)
ol 4+
R H
Material: Iron
Part No. | Bore B © d H
NTJ-006A| 6 |55 6.4 [M3X05] 24
NTJ-010A| 10 | 7 [81 [M4x07] 32
NTJ-015A] 16 | 8 | 9.2 [M5x0.8] 4
* Refer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B © D F |GA|GB| H |LB| LC|LH | LT |LX|LY |LZ MM NA | NB NN S T X Y z
6 15 | 12 | 14 3 8 (145 — | 28 | 15 | 45| 9 |16 | 24 |165| 32 [M3X05| 16 | 7 [M6X1.0| 49 | 3 5 7 77
10 15 | 12 | 14 4 8 8 5 28 |15 (45| 9 |16 | 24 [16.5| 32 |[M4X0.7/12.5|/ 9.5 |[M8X 1.0l 46 |— | 5 7 74
16 15 | 18 | 20 5 8 8 5 28 | 23 | 55[14 | 23|33 |25 |42 [M5X0.8/12.5/9.5|M10X1.0| 47 |— | 6 9 75
With air cushion/bimensions not mentioned in the below table are the same as the above table.  (Mm)
Bore B C GA | GB LB NA | NB | WA | WB | ww S Z I Basic With foot With air cushion
CJ2L6----SCJI26, #1  SCJ26, #1, #3 —
10 15 | 17 | 75|65 |165) 21 | 20 |145|135]| 45 | 65 | 93 CJ2L10----SCJ210,#1  SCJ210,#1,#3  SCJ210, #2, #3
16 18 | 20 | 75|65 | 23 | 21 | 20 [145[135| 55 | 66 | 94 CJ2L16---SCJ216, #1  SCJ216, #1,#3  SCJI216, #2, #3

* The data shows auto switch styles.
Please delete the unnecessary parts.

1.3-8



Fl‘
Front Flange (F)

Standard: Double Acting Single Rod Series CJZ

CJ2F \ Bore size H Stroke HPort location on head cover\

CJ2F6

Cover
surface level

{\ 2
\2 -oFC

Mounting hole

MM

Rod end nut

NN

Mounting nut *

Piping port

__GA Piping port
4 M5 X 0.8

M5 X 0.8
A

_.J

le
FTNA

-n
=

' S + Stroke

Z + Stroke

Rod cover side Head cover side

CJ2F10, 16
Cover fod o IMounting nut * Piping port
surface level odendnut [ GA  Piping port 2-M5 X 0.8 GB
r = ¥ E : "
A A A o HISA VA '
T9 (ﬁ‘i O | i = h X
ANZAY HIS | VAN
L%J |\2eFC____ A _'L"%\ NB
- = Mounting hole f - P L | Port location on
Z + Stroke head cover: In-line (R)

With air cushion: CJ2F | Bore size H Stroke | A[Port location on head cover |

Mounting nut *

Port location on
head cover: In-line (R)

C Piping port
over
surface level Rod end nut S M5 X 0.8 |
r/-n T l_ .| - _| /
Al A lm ] A
- - T S
]E. i 1E =T 1 Ll
NA | nB o8|
S + Stroke
Z + Stroke Rod end nut
H
Material: Iron
Part No. | Bore | B C d H
NTJ-006A| 6 | 55| 6.4 |[M3X05]| 2.4
NTJ-010A| 10 | 7 | 8.1 |M4X0.7| 3.2
NTJ-015A| 16 | 8 | 9.2 [M5X08| 4
* Refer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B © D F FB | FC | FT | FX | FY | FZ | GA | GB H MM NA | NB NN S T Z
6 15 12 14 3 8 13 |45 |16 | 24 14 32 |145| — | 28 |[M3X05]| 16 7 |[M6X10 | 49 3 77
10 15 12 14 4 8 13 | 45| 16 | 24 14 32 8 5] 28 |M4X0.7(125| 95 |[MBX10 | 46 | — | 74
16 15 18 20 5 8 19 | 55| 23 | 33 20 | 42 8 5 28 |M5X0.8(125| 95 |[M1I0X10 | 47 | — | 75
With air cushion/pimensions not mentioned in the below table are the same as the above table. (mm)
Basic Font flange With air cushion
Bore | B | C [FB|GA|GB|NA|[NB[WA[WB[WW] S [ Z Cme ________ fee i e
10 15 | 17 |145] 7565 | 21 | 20 |145|135]| 45 | 65 | 93 cAD) CI2F10---SCJ210, #1  SCJ210,#1,#4  SCI210, #2, #4
16 18 | 20 | 19 | 75 | 65| 21 | 20 |145|135| 55 | 66 | 94 CJ2F16.---SCJ216, #1  SCJ216, #1, #4  SCJI216, #2, #4

* The data shows auto switch styles.
Please delete the unnecessary parts.

1.3-9

C95
CAl
CS1



Series CJ2

Double Clevis (D)

CAD

CJ2D| Bore size H Stroke |

Z + Stroke R
H S + Stroke U CZ
Rod and nut NE aCD Hg+g.uau o Cx 18,12
GA  Piping port 2-M5 X 0.8 GB Clevis pin
MM o (0das —2939) |!
(o] '
I [l i L — y 1
T #’l 1 =
= iy L | T mounting 4
—pd
A NA i

Z7 + Stroke

+ Clavis pins and set rings are attached.

With air cushion: CJ2D | Bore size [ Stroke | A

= =
= =
o= - )
i
WA WB
Z + Stroke R
H 5 + Stroke U —
Rod end nut NB oCDHs 0 874
GA  Piping port 2-M5 X 0.8 e Clevis pil'cll 030 AT
{90:1 d9 _00501 !
[l H |- s K .:__
B | _ _ ! T mounting € iV,
ror Refertop.1.3-12% /' -
NA . for details. s | =
ERER L
=d=mpaH=4 = e
LY, ]
W
Z7 + Stroke T
Rod end nut
Material: Iron
Part No. | Bore | B Cc d H
« Clevis pins and set rings are attached. NTJ-010A| 10 | 7 |8.1 [M4X07]3.2
NTJ-015A| 16 | 8 | 9.2 [M5X08]| 4
(mm)
Bore A B C [CD(cd)| CX Cz D GA GB H MM NA NB R S U Z 74
10 15 12 14 3.3 3.2 12 4 8 18 28 M4 X 0.7 | 125 | 225 5 46 8 82 93
16 15 18 20 5 6.5 18 5) 8 23 28 M5 X 0.8 | 125 | 27.5 8 47 10 85 99
T mounting dimensions (mm)
Bore TC TH TV T™W X TY
10 4.5 29 40 22 32 12
16 55 35 48 28 38 16 %
With air cushion/bimensions not mentioned in the below table are the same as the above table. (mm) Double clevis
Bore B | clcz|ea|cB|NA|[NB| S |WA|[WB |wWw| z | zz  ©2D10-SCI210,#5
CJ2D16 ---v-r SCJ216, #5
10 15 | 17 | 15 | 75 | 195 | 21 | 33 | 65 | 145 | 265 | 45 | 101 | 112 " o shows auto switch styles.
16 18 20 18 75 | 245 | 21 38 66 | 145 | 315 | 55 | 104 | 118 Please delete the unnecessary parts.

1.3-10



Auto Switch Mounting Position

Standard: Double Acting Single Rod Series CJZ

Reed Switch
<Band mounting>

D-C7/C8

=Hs

=

Auto switch

26

<Rail mounting>
D-A7/A8

ol
T Mt i
il All 23
1 11
D-A7[1H/A80H
ol :E'—« s :I:r
F_;r Shg| T g
7

£|of
uje
D-A79W Auto switch
7] |:;‘+-‘5 . e EE—
e == -}
£ T = SR
Min. 7 | 9| 7
bending radius Al 235
of lead wire: 10 |11]11]

Auto Switch Mounting Position

Solid State Switch
<Band mounting>

D-H7U

D-H7TOW @D
D-H7BAL  Lns
D-H7TOF  ~ -

<Rail mounting>

Auto switch

D-F7/J7 C85
D-F7OW/J79W Auto switch CG1
D-F7OF/F7BAL L
MB
C95
( ): D-F7LF CAl
Auto switch —
I .,\Tin, bending
1.7 \radius of lead A 23 1B
L 49 wire:10
D-J79C
Auto switch
[ ]
0 '_'_:"."7-' i
£ L8

210

13.313.3

Auto switch
model D-C7 D-A70H/A80H D-F7BAL
D-C8 D-H70] D-H7OW D-A73C/A80C D-F7T0W
D-C73C D-H7C D-H7BAL D-A7/A8 D-F7/37 D-F70F D-A79W
D-C80C D-H70OF D-F700V D-J79W
D-J79C D-F70WV
Bore A B A B A B A B A B A B A B
2 2 1 1
6 (8.5) (0.5) (7.5) (0) - - — - - - - - - —
10 25 25 15 15 0 0 3 3 3.5 35 7.5 7.5 0.5 0.5
16 3 3 2 2 0.5 05 3.5 35 4 4 8 8 1 1
Auto Switch Mou nting Height = () in the table: In case of double rod style, series CJ2W.
Auto switch | D-C7/C8 D-A7IH/A80H
model | D-H7C/H7OW D-C73C D-A7 D-F7/37 D-A73C D-F700V
D-H70F D-C80C BAAE D-A8  |D-FTOWA79W | D-A80C D-F7TO0WV D-J79¢C DT
D-H7BAL D-F7BAL/F7TCIF
Bore Hs Hs Hs Hs Hs Hs Hs Hs Hs
6 15 17.5 18 — — — — — —
10 17 19.5 20 16.5 17.5 235 20 23 19
16 20.5 23 23.5 19.5 20.5 26.5 23 26 22

1.3-11



Series CJ2

]

Accessory Dimensions (mm)
Single knuckle joint Clevis pin Knuckle pin
MM oNDH10
L L L
= RE1 1] it 7 e - ¢ tm 2
. Il bt =)
A1l |urg? | nx s o s :
LA (U B4 7 nil) =
w17 012 el RS

Material: Stainless steel

Material: Rolled steel X Material: Stainless steel
Part No.|Bore| Dd9 | d [ L | ¢ |m| t |Setring

Part No.|Bore [A1|L1| MM |NDH1OINX|R1|U1 Part No.[Bore| D9 |d | L | ¢ |m| t |Setring

CD-J010| 10 |33 3 [15.2[122[1.2]0.3| C 3.2
[-JO10B| 10 | 8 [21|M4X0.7|33*3%63.1| 8 | 9 CD-2015| 16 |52083 |4.8[22.7|183[1.5/0.7| C5 1Y-JO10| 10 (332353 3 |16.21221.7]0.3| C 3.2
1-J016B| 16 | 8 |25|M5X08|5 *5%86.4| 12| 14 CD-JA00*| 10 |3323%9 3 [18.2[15.2[1.2(0.3| C 3.2 1Y-J015| 16 |52583% (4.8]166/12.2/1.5/0.7| C5

* For @10 double clevis style, with air cushion and
built-in speed controller

Double knuckle joint Mounting nut Rod end nut

+ Knuckle pins and set rings are attached.

oNDH10 L
L
s pry e
nx8?
012
=—H
Material: Rolled steel Material: Brass Material: Iron
Bore | A1 L L1 MM
Part No. PartNo. | Bore | B | C d H PartNo. | Bore | B | C d H
Y-JO10B | 10 8 |16.2| 21 |M4X0.7
Y-JO16B | 16 11 [16.6| 21 [M5X0.8 SNJ-006B | 6 8 |92 |M6X10| 4 NTJ-006A | 6 55 | 6.4 |[M3X05| 2.4
PartNo. | NDas | NDho | NX | R: | Ut SNJ-010B| 10 | 11 |[12.7|M8X1.0| 4 NTJ-010A | 10 7 |81 |M4x07|3.2
Y-J010B | 33000 337004 35 | g | 10 SNJ-016B | 16 14 |16.2| MI0X10 | 4 NTJ-015A | 16 8 |92 |M5%X08]| 4
*
Y-3016B | 599 [570% | 65 | 12 | 10 SNKJ-016B*| 16 | 17 [19.6| M12X1.0 | 4
* For g16 non-rotating style.
(Use SNJ-016B for 210 non-rotating style.)
T bracket Rod end cap
Double clevis
style cylinder Flat: CJ-CFOOO Round: CJ-CROCO
“Z AL MM MM
= ¥ i
it | I /0 j ] T
J' = I =<l =13 T
SR L) L
0TDH10 I LI.N_ w
Material: Iron
Part No. Bore [ A | D | L MM N|R|W
Flat Round
PartNo. | Bore |[TC| TDH1o |TH|TK|TN|TT|TU[TV|TW|TX|TY|TZ CJ-CFOD6 | GJ-CRODG | 6 6 1811l M3xo515 86
CJ-TO10B| 10 |45|3.3%9%8|29(18(3.1|2 |9 |40(22(32(12]| 8 CJ-CF010 | CJ-CRO10| 10 | 8 [10|13| M4X0.7 | 6 [10]| 8
CJ-TO16B| 16 |55|5%3%8 |35(20 (6.4 |2.3|14 |48 |28 |38 |16 |10 CJ-CF016 | CJ-CR0O16 | 16 |10|12|15| M5X0.8 | 7 |12 10

i
ﬁ Accessory: SCJ2 #11

1.3-12



Standard: Double Acting Double Rod

Series CJ2W

26, 910, 216

i

How to Order

Bore size ¢

_6 | 6mm

10| 10mm ¢ Standard stroke

16 | 16mm 26, 810, 816 | 15, 30, 45, 60

Mounting ]

5 Basic Cushion
L Axial foot — ' Ru'bber bumper
F Front flange A Air cushion (Except for g6)

16—45

coaw

16—45

cow

—C/3

With auto switch
(built-in magnet)

s -?ﬁf"ﬁ

AP

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.

| ® Number of
) switches
Auto switch —— T 3
= Refer to the table below for selecting _—
applicable auto switches. S 1
n

+ If requiring a built-in magnet cylinder
without an auto switch, refer to the model
number example below.

Part No. of Cylinder with Built-in Magnet

- - Load voltage Auto switch model™* Lead wire™ i ) .
Style| Special function |Electrical g (é\ﬁzgﬁ) 5 e Band Rail (10,216) | 0.5 | 3 | 5 [Nong] Apﬁ)l;:dable Symbol "-A" (rail mounting) or "-B
entry | € (06,010,018 pery [ ndine | O[O @|N) (band mounting) should be suffixed to the
(SNVIi‘/’Irile) | sv I c76 _ |ateH| @ |@|—|—| 1c | — part No. of the cylinder with auto switch.
e
S Grommet| " —| — Jeoov | — | A7T2 [AT2H | @ |@|—|—| £, |Railmounting| CDJ2WB16-60-A
2 _ L 12v | 100V | C73 | A73 |A73H | @ |® | @ |— " [Band mounting| CDJ2WB10-45-B
o No 2 wire 5V, 12v| =100V | C80 | A80 [A80H | ® |@|—|— | IC |Relay
e Yes 24v| 12v | — |C73C|A73C| — | @ |@|@|@®| — | PLC
Connector—
_ - No 5V, 12v| =24V | C80C | ABOC | — ® 000 C
D‘ﬁG“"S‘gg;g,d)'ca"°" Grommet |Yes — — — |ATOW| — | @ |@|—|—| —
3 wire (NPN) o — H7AL | F/NV| F79 | @ |@|O|—]| |~
Grommet| | 3wire (PNP) ' H7A2 | F7TPV | F7P | ® |@|O|—
< ) — H7B | F7BV [ J79 | ®@ (@ | O|—
S 2 wire 12V
2 Connector — H7C | J79C | — ® 006 —
z ] Jwie (VW] H7NW | F7NWV| Frow | @ (@ [O[—|
Q Diagnostic indication - ’ _ _ Relay
g (2 color) Ves 3wire (PNP) sav H7PW F7PW| @ (@O PLC
7 H7BW |F7BWV|J79W | @ | @ |O|—
k=] - 2 wire 12v
= | Water resistant -
5’) 2 colon Grommet — H7BA — FIBA| — | @|O|—
With timer 3 wire (NPN) sy 12V — —_ FINT | — |@|O|— |c
Withdiﬁzggg%\rgoutput 4 wire ' H7NF R F79F [ @ O|—
Latch with d
st o (NPN) — HiLF| — |FiLr | @ [@]0]—| —
+ Lead wire length 0.5m-----en — e.g.) C73C 5mceeeeens Z e.g.)C73Cz
3Meeeeeeens L C73CL  None- N C73CN

* Solid state switches marked with" O " are manufactured upon receipt of order.
#x “D-A79W”cannot be mounted on bore size 10 cylinder with air cushion.
=% “D-H70OW", “D-H7BA” and “D-H70F” cannot be mounted on bore size g6 cylinder.

1.3-13

Cl1
CJP

w2
5
=
Ve
=3
oL
st




Series CJ2W

JIS Symbol

Double acting/Double rod

|
Made to Order

Refer to p.5.4-1 for made to order
products of series CJ2W.

A\ Precautions

o e e ey
: Be sure to read before handling. Refer to :
j P.0-39 to 0-46 for Safety 1
1 Instructions and common precautions. 1

L |

A\ Caution

| Mounting

(D During installation, secure the rod cover and
tighten by applying an appropriate tightening
force to the retaining nut or to the rod cover
body. If the head cover is secured or the
head cover body is tightened, the cover
could rotate, leading to a deviation.

(2 Tighten the retaining screws to an
appropriate tightening torque within the
range given below.

26: 2.1 to 2.5Nm, ¢10: 5.9 to 6.4Nm, 216:
10.8 to 11.8Nm

(3 To remove and install the snap ring for the
knuckle pin or the clevis pin, use an
appropriate pair of pliers (tool for installing a
C type snap ring). In particular, use a pair of
ultra-mini pliers such as the Super Tool
CSM-07A for removing and installing the
shap rings on the g10 cylinder.

@ In the case of auto switch rail mounting, do
not remove the rail that is mounted. Because
the retaining screws extend into the cylinder,
this could lead to an air leak.

1.3-14

Specifications

Action Double acting/Double rod
Fluid Air
Proof pressure 1.05MPa
Max. operating pressure 0.7MPa
26 0.15MPa
Min. operating pressure
210, 916 0.1MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C, With auto switch: -10°C to 60°C*

Cushion Rubber bumper/Air cushion
Lubrication Non-lube
Thread tolerance JIS class 2

+1.0

Stroke tolerance

0

Piston speed

50 to 750mm/s

26 0.012J
Allowable kinetic energy 210 0.035J
216 0.090J

= No freezing

Standard Stroke

(mm)

Bore size

Standard stroke

6, 10, 16

15, 30, 45, 60

Minimum Strokes for Auto Switch Mounting

Auto switch Number of Min.
i stroke
Mounting model switches (mm)
2 (same surface) 50
D-cr 2(different surf 15
= D-C8 (different surfaces)
= 1 10
3 B-:;gw o 2 (same surface) 60
E D-H7BAL ® 2 (different surfaces) 15
S | D-HINF® 1 10
28]
D-C73C 2(same surface) 65
26 | D-C80C 2(different surfaces) 15
g10 | D-H7C 1 10
716 2(same surface) 65
— D-H7LF® 2 (different surfaces) 25
1 15
D-A7/A8
D-A70H/A80H 2 10
D-A73C/A80C 1 5
o D-F7
-é D-J79 2 5
D-F700V
>
S |Dpurec 1 5
— D-A79W
& | b-F7rOw 2 15
~—~ | D-J79W
210 | p.F7BAL
216 D-F7OWV 1 10
~— | D-F79F
2 15
D-F7LF
1 15

Note 1) Cannot be mounted on @6 cylinder.



Standard: Double Acting Double Rod Series C-JZW

Mounting Accessories/Refer to p.1.3-12 details. Weight @)
Mounting Basic Foot Flange Bore size (mm) 6 (10| 16
Standard Mounting nut ° ° ° Basic weight” 27|35 70
Rod end nut ° ° ° Additional weight for each 15 of stroke| 3 | 6 | 9
Option Single knuckle joint ° ° ° xgité?]tting bracket ;C::ge 156 156 ‘112
Double knuckle joint™ [ ) )

* Double clevis or double knuckle joint is packaged with knuckle pins and set rings.

Mounting Bracket Part No.

Bore size (mm)

Mounting bracket
. 6 10 16
Foot CJ-L006B CJ-L010B CJ-L016B
Flange CJ-F006B CJ-F010B CJ-F016B

Auto Switch Mounting Bracket Part No. (Band mounting)

el Sl Bracket part No. Note
(mm)
6 BJ2-006 Common use to all of
10 BJ2-010 D-C7, C8 and D-H7
16 BJ2-016

Note) A set of stainless steel mounting screws "BBA4" is attached. (A switch
mounting band is not attached. Please order the band separately.)
"BBA4" screws are used for D-C7/C8/H7.

"D-H7BAL" swi
shipped.
Also, whenas

With Air C

itch is set on the cylinder with the screws above when

witch only is shipped, "BBA4" screws are attached.

ushion

Copper Free

* This basic weight includes weights of mounting nut
and rod end nut.
Calculation example)
CJ2WL10-45
e Basic weight: 35 (210)
* Additional weight: 6/15 stroke
o Cylinder stroke: 45 stroke
*Mounting bracket weight: 16 (Foot)
35+6/15 X 45+16=69g
eRefer to p.1.3-4 for weight of the accessory.

Theoretical Force

Refer to the "Double acting cylinder" in Theoretical
Force Table 1 of Technical data 3 on p.5.6-7

In the case of the double rod style,

the force at IN side will be its theoretical force.

C95
CAl

CJ2W | Moun

ting H Bore size H Stroke ‘A

With air cushion

With covers on both sides equipped with the cushion
function, the cylinder absorbs the impact during high-speed

operation.

Specifications

Action Double acting/Double rod
Lubrication Non-lube
Bore size (mm) 210, 16
Max. operating pressure 0.7MPa
Min. operating pressure 0.1MPa

Piston speed

50 to 1000mm/s

Mounting

Basic, Foot, Flange

Cushion Mechanism

Borrsnilze Effl(:]tg:ﬁ ?:;:])Ion Allowable kinetic energy (J)
10 9.4 0.07J
16 9.4 0.18J

* Refer to p.1.3-16 for the construction.

20-CJ2W’ Mounting H Bore size H Stroke

Copper free

To eliminate influences of copper ions or halogen ions
during CRT manufacturing processes, copper and fluorine
materials are not used as component parts.

Specifications

Action

Double acting/Double rod

Bore size (mm) 26, 210, 916
Max. operating pressure 0.7MPa
) ) 26 0.15MPa
Min. operating pressure
210, 216 0.1MPa
Cushion Rubber

Standard stroke (mm)

15, 30, 45, 60mm

Auto switch

Possible to be mounted

Mounting

Basic, Foot , Flange

1.3-15

CS1



Series CJ2W

Clean Series

10-CJ2W | Mounting || Bore size H Stroke

Clean series

The rod section of actuator is reinforced with the double-seal
structure. The air cylinder can be incorporated in the system
which directly discharges the external leak from the clean

room through the relief port.

Specifications

Action Double acting/Double rod
Bore size 210, 216
Max. operating pressure 0.7MPa
Min. operating pressure 0.1MPa

Cushion

Rubber bumper

Standard stroke

Same as the standard (Refer to p.1.3-14)

Auto switch Possible to be mounted
Mounting Basic, Axial foot,
Front flange
Construction
‘ — . PR S
S, L H+—1
)
Construction (The cylinder cannot be disassembled.)
T ©
III
X —
— HT I i
= |3 - -
- I
With air cushion
@ @ @ ®
n Y
=
- o
Component Parts For Air Cushion Style
No. Description Material Note No. Description Material Note
@ Rod cover Aluminum alloy White anodized (7 Cushion needle Stainless steel
@ Cylinder tube Stainless steel (E) Steel ball Bearing steel
® Piston rod Stainless steel Cushion ring Brass
@ Piston Brass (B} Check seal NBR
® Mounting nut Brass Nickel plated Cushion ring gasket NBR
® Rod end nut Rolled steel Nickel plated (W) Needle seal NBR
@ Bumper Urethane
Piston seal NBR
©® Rod seal NBR
Tube gasket NBR
an Piston gasket NBR

1.3-16



Fl‘
Basic (B)

Standard: Double Acting Double Rod Series C-JZW

CJZWB’ Bore size H Stroke ‘

=)
A
CJ2WB6 Mounting nut* £
Rod cover GA Piping port
Rod end nut
q)o MM Ti2-M5 X0.8
t o — -
1 Cs A FIT|. NA |
S + Stroke
- Z + 2 X Stroke
2
a
S
GA  Piping port GA NN MM
cI)Q /2-M5 X 0.8 %
B e A
e - v O i 51
x IS —
0B NA NA |_F A
S + Stroke H + Stroke
Z + 2 X Stroke -
With air cushion: CJ2WB ’ Bore size H Stroke ‘ A
WA
=
Mounting nut * — = %
WA
Rod end nut .
o GA Piping port 2-M5 X 0.8 9&
)
- L]
. ) - T T
= A NA Rod end nut
S + Stroke d
Z + 2 X Stroke
St o| + }»
B
H Material: Iron
B
Part No. s?zr: B | C d H
NTJ-006A| 6 | 55| 6.4 [M3X05| 2.4
NTJ-010A| 10 | 7 | 8.1 [M4X0.7| 3.2
+ Refer to p.1.3-12 for details of the mounting nut. ~ NTJ-015A| 16 | 8 | 9.2 [M5X038] 4
(mm)
Bore A B C D F GA H MM NA ND h8 NN s* T z*
0 61 117
6 15 12 14 3 8 14.5 28 M3 X 0.5 16 6-0.018 M6 X 1.0 66) 3 (122)
10 15 12 14 4 8 8 28 M4 X0.7 | 125 8 Yo M8 X 1.0 49 — 105
16 15 18 20 5 8 8 28 M5 X 0.8 125 | 10802 M10 X 1.0 50 — 106

With air cushion/pimensions not mentioned in the below table are the same as the above table.

Bore B C GA NA WA WWwW S Z
10 15 17 7.5 21 14.5 45 66 122
16 18 20 7.5 21 14.5 5.5 67 123

# () in S or Z dimensions: With auto switch

Basic

|| CJI2WBG: -+ SCJ26, #6
CJ2WB10:+:-- SCJ210, #6

CJ2WB16:::+--- SCJ216, #6
* The data shows auto switch styles.
Please delete the unnecessary parts.

1.3-17

CJ1
CJP

w2
5
=
Ve
=3
oL
st




Series CJ2W

|
Foot (L)

CJ2WL ‘ Bore size H Stroke

Mounting nut *

Rod end nut A F GA
MM NN | Piping port
\\ %..\‘ 2-M5 X 0.8
Tl o L —
ey W !: e ___,-r )
) o
i
XY _IT[, NA
S + Stroke
Z + 2 X Stroke
Rod end nut e
R Piping port
Cover surface level 2-M5X 08 GA, F. NN MM
| M\ i Fi O
. o
Z\ AR
RN E vasn £ =R
S 0
L1 . * T T
LX Mounting nut
LZ NA Y_IX A
S + Stroke H + Stroke
2-0LC 7+ 2 X Stroks
Mounting hole *
Cover s
surface level GA  Piping port 2-M5 X 0.8
P_—--v"— = 0
A 0O
——
MNA MNA
S + Stroke
Z + 2 X Stroke
Rod end nut
Material: Iron
PartNo. | Bore | B | C d H
NTJ-006A| 6 |55 |64 |M3X05| 2.4
NTJ-010A| 10 | 7 |81 |M4X07]| 32
+ Refer to p.1.3-12 for details of the mounting nut. ~ NTJ-015A] 16 | 8 |92 |[M5X08] 4
(mm)
Bore A|D|F |GA|H |[LB|LC|LH|LT|LX]|LY|LZ MM NA NN S| T | X | Y z*
61 117
6 15 3 8 |145| 28 15 | 45 9 16 | 24 |165]| 32 M3 X 0.5 | 16 | M6 X 1.0 (66) 3 5 7 (122)
10 15 4 8 8 28 15 | 45 9 1.6 | 24 |16.5| 32 M4 X 0.7 [125| M8 X 1.0 49 — 5 7 105
16 15 5 8 8 28 23 | 55| 14 | 23| 33 25 | 42 M5 X 0.8 |125| M10X 1.0 | 50 — 6 9 106
. . . /Dimensions not mentioned in the below table are the *()inS or Z dimensions: With auto switch
With air cushion/ same as the above table. | ] Basic With foot
Bore B |ca| LB |NA|WA |WW| S Z CI2WLE--wvvveo- SCJ26, #6 SCJ26, #6, #3
10 15 | 75 1165 21 114545 | 66 | 122 CJ2WL10------SCJ210, #6  SCJ210, #6, #3
CJ2WL16------SCJ216, #6  SCJI216, #6, #3
16 18 75 23 21 |145]| 55 67 | 123 * The data shows auto switch styles.

1.3-18

Please delete the unnecessary parts.



Standard: Double Acting Double Rod Series CJZW

Fl‘
Flange (F)

CJ2WF‘ Bore size H Stroke ‘

Mounting nut *

Piping port
MM 2-M5 X 0.8
e
Rod end nut
1" Stroke
Rod end aul Z + 2 X Stroke

Cover Mounting nut *
surface level \ IN | GA Piping port GA NN MM
J.;;gqr per 2 2
.El > 3 .]' i 'y -_|I =
|y Ay
FX . FT
\2-0FC
FZ Mounting hole P NA NA L F A
S + Stroke H + Stroke —
N Z + 2 X Stroke il C95
CAl
With air cushion: CJ2WF | Bore size H Stroke ‘A CS1

WA

S + Stroke

Z + 2 X Stroke
Rod end nut
d
ol 4
B ‘_LH
Material: Iron
Part No.| Bore | B © d H
NTJ-006A| 6 55 | 6.4 [M3X05]| 2.4
NTJ-010A| 10 | 7 |81 |M4X0.7| 3.2
+ Refer to p.1.3-12 for details of the mounting nut. NTJ-015A| 16 | 8 |92 [M5X08] 4
(mm)
Bore A D F FB FC FT FX FY Fz GA H MM NA NN S* T z*
61 117
. . . 1 .
6 15 3 8 13 4.5 1.6 24 14 32 14.5 28 M3 X 0.5 6 M6 X 1.0 (66) 3 122)
10 15 4 8 13 4.5 1.6 24 14 32 8 28 M4 X0.7 | 125 | M8X 1.0 49 = 105
16 15 5 8 19 55 2.3 33 20 42 8 28 M5X 0.8 | 125 | M10 X 1.0 50 — 106

Dimensions not mentioned in the below table are the *(1)in S or Z dimensions: With auto switch

With air cushion/ same as the above table. [ Basic Flange
Bore B FB GA NA | WA | WW S Z CI2WFG:+vvveene SCJ26, #6 SCJI26, #6, #4
10 15 | 145 | 75 21 | 145 | 45 66 122 CJ2WF10--++--SCJ210, #6 SCJI210, #6, #4

16 18 19 75 21 145 55 67 123 CI2WF16:+--- SCJ216, #§ SCJ216, #6, #4
* The data shows auto switch styles.

Please delete the unnecessary parts.

1.3-19



Standard: Single Acting Spring Return/Extend

Series CJZ =

6, 910, 216

How to Order

Spring extend

Spring return

___Boresize o
) 6 | 6mm
# 10| 10mm
g 16 | 16mm
Mounting
B Basic
L Axial foot
F Front flange
D |Double clevis (Except for 6)

¢ Standard stroke

26

15, 30, 45, 60

210

15, 30, 45, 60

216

15, 30, 45, 60, 75, 100, 125, 150

Action

S

Single acting/Spring return

T

Single acting/Spring extend

16

45

R

16

45

R

C/3

With auto switch

Built-in magnet
Port location on head cover

Bore
1 1
Symbo 26 210, 916
— — | Perpendicular
R In-line | In-line

+ Refer to p.1.3-4 for the configuration.
+ Not applicable to single acting/spring
extend style (T).

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.

® Number of

switches
Auto switch — 2
= Refer to the table below for selecting 1
applicable auto switches. n n

= If requiring a built-in-magnet cylinder
without an auto switch, refer to the
model number example below.

Part No.of Cylinder with Built-in Magnet

5 B Load voltage Auto switch model Lead wire” _ _ _
Style| Special function Electricalg ((\SVJ:I[Tugt) e e Band Rail (910,216) | 0.5 | 3 | 5 |Nong] Ap{z)l;:dable Symbol "-A" (rail mounting) or "-B
enry | B (26,910,018 perp. | Indline | & || @] N (band mounting) should be suffixed to the
3 wire part No. of the cylinder with auto switch.
(NPN) | — 5V — C76 — A76H | @ (@ |—|— | IC —
<
S Grommet| "% —| — 200V | — | A72 |A72H | @ |@ |—|—| £, |Rail mounting | CDJ2B16-60S-A
= _ X.
H _ | i2v | 100v | C73 | A73 |A73H | @ |®|® Band mounting| CDJ2B10-45S-B
3 No - 5V, 12V| <100V | C80 | A80 [A8B0H | ® |@|—|— | IC |Relay
wire
2 24v| 12v | — |C73C|A73C| — | @ |@e|/@|®| — |PLC
Connector [—
‘ o o 5V, 12V| <24V | C80C | ABOC | — ® 0600 C
D'agng’;‘gﬁ,;gg'““” Grommet |Yes —_ —_ — | A7TOW | — e ®|—|—|—
3 wire (NPN) sv 1w — H7A1 | FINV| F79 | @ (@ |O|— c
Grommet 3 wire (PNP) ' H7A2 | FITPV| F7P | @ |@|O|—
- ) — H7B |F7TBV | J79 | @ (@ |O|—
S 2 wire 12v
2 Connector — H7C | J79C | — o o060 —
% ; 3 wire (NPN) sV 12V H7NW [FINWV|F79W | @ (@ | O |— c
o Diagnostic indication - ) — — Relay
s (2 colon) ves 3 wire (PNP) 2av H7PW FIPW| @ (@O PLC
g H7BW |F7BWV|J79W | @ (@ | O |—
o N 2 wire 12v
= | Water resistant —
3 2 colon Grommet — |H/BA| — |F/BA|— |@|O|—
With timer 3 wire (NPN) sy 10V — N E7NT | — |@|O|— o
W\thdlagggls:r():uulpul 4 wiire ' H7NFE P F79F . . O —
h with di
Latch wi (;:3:35[\0 oulpul (NPN) . H7LF _ F7LF . O _ 7
* Lead wire length 0.5m:-eeeeee — e.g.) C73C Bm.reeee Z e.g) C73Cz
1] 1) EECEROE L C73CL None:::- N C73CN

+ Solid state switches marked with" O " are manufactured upon receipt of order.

1.3-20



Standard: Single Acting Spring Return/Extend Series CJZ

\\#ﬂ-‘ .1/
* >

,m& ﬁjﬁ Spring return

JIS symbol

Single acting/
Spring return

Single acting/
Spring extend

A

AN
/ V'

Made to Order

Refer to p.5.4-1 for made to order products of
series CJ2 single acting style.

A Precautions

[ = e e e e e e ey
: Be sure to read before handling. Refer to 1
j P-0-39 to 0-46 for Safety Instructions and

1 common precautions. 1
e o o o o o o ]
A\ Caution

() During installation, secure the rod cover and tighten
by applying an appropriate tightening force to the
retaining nut or to the rod cover body. If the head
cover is secured or the head cover body is tightened,
the cover could rotate, leading to a deviation.

(2) Tighten the retaining screws to an appropriate
tightening torque within the range given below.

26: 2.1to 2.5Nm, 10: 5.9 to 6.4Nm, g16: 10.8 to
11.8Nm

(3 In the case of the single acting cylinder, do not
operate it in such a way that a load would be applied
during the retraction of the piston rod of the spring
return style, or during the extension of the piston rod
of the spring extend style. The spring that is built into
the cylinder provides only enough force to retract the
piston rod. Thus, if a load is applied, the piston rod
will not be able to retract to the end of the stroke.

@ In the case of the single acting cylinder, a breather
hole is provided in the cover surface. Make sure not
to block this hole during installation, as this could
lead to a malfunction.

(® To remove and install the snap ring for the knuckle
pin or the clevis pin, use an appropriate pair of pliers
(tool for installing a C type snap ring). In particular,
use a pair of ultra-mini pliers such as the Super Tool
CSM-07A for removing and installing the snap rings
on the @10 cylinder.

® In the case of the auto switch rail mounting, do not
remove the rail that is mounted. Because the
retaining screws extend into the cylinder, this could
lead to an air leak.

Specifications

Action Single acting/Spring return | Single acting/Spring extend
Fluid Air
Proof pressure 1.05MPa
Max. operating pressure 0.7MPa
) ) 26 0.2MPa 0.25MPa
Min. operating pressure 210, 216 0. 15MPa
Ambient and fluid temperature Without auto switch: ~10°C to 70°C, With auto switch: ~10°C to 60°C*
Cushion Rubber bumper
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance L0
Piston speed 50 to 750mm/s
a6 0.012J
Allowable kinetic energy 210 0.035J
216 0.090J
* No freezing
Standard Stroke mmy  Spring Force )
Bore size Standard stroke Bore size Retracted Extended
6 15, 30, 45, 60 (mm) position position
10 15, 30, 45, 60 o 3.72 L7
16 15, 30, 45, 60, 75, 100, 125, 150 10 6.86 3.53
16 14.2 6.86

Minimum Strokes for Auto Switch Mounting

— Auto switch Number of s’t\fgllle
R model switches (mm)
2 (same surface) 50
b-c7 2(different surf 15
© | pcs (different surfaces)
= 1 10
3 D-H7O 2 (same surface) 60
g | D-H7TOWW -
- D-H7BAL® 2 (different surfaces) 15
& | D-H7TNFD 1 10
[an]
— | D-C73C 2(same surface) 65
26 | D-C80C 2(different surfaces) 15
g10 | D-H7C 1 10
216 2(same surface) 65
D-H7LFD 2 (different surfaces) 25
1 15
D-A7/A8
D-A70H/A80H 2 10
D-A73C/A80C 1 5
=) D-F7
£ | b 2 5
D-F700V
é D-J79C 1 5
= D-A79W
& | D-F7row 2 15
~—~ | D-J79W
210 | p.F7BAL
216 D-F7O0WV 1 10
— D-F79F
15
D-F7LF 15

Note 1) Cannot be mounted on @6 cylinder.

1.3-21

C95
CAl
CS1



Series CJ2

Weight/Spring Return (S) () Mounting Accessories/Refer to p.1.3-12 for details.
Bore size (mm) 6 10 16 Front Double
Mounting Basic | Axial foot %
15 Stroke 11 28 63 flange clevis
30 Stroke 16 35 80 - Mounting nut ® ° Py _
45 Stroke 18 44 102 g Rod end nut P P P P
c
Basic weight* 60 Stroke 23 53 124 g Clevis pin — — — Py
75 Stroke — — 145 B o
100 Stroke — — 188 c Single knuckle joint o o o o
9 —_
125 Stroke — — 224 % Double knuckle joint o o [ ) o
150 Stroke — — 250 T bracket — — — )
Mountin Axial foot 8 8 20 = Double clevis or double knuckle joint are packaged with pins and set rings.
9 Refer to p.1.3-4 for the accessory weight.
bracket Front flange 5 5 15
weight Double clevis** (with pins — 4 10 .
— (s (Wth pins) Theoretical Force
# This basic weight includes weights of mounting nut and rod end nut.
«% The mounting nut is not attached to the double clevis, so the mounting Refer to the “Single acting/spring return cylinder” in Theoretical Force
nut w_eight is already reduced. Table 1 of Technical data 3 on p.5.6-7. In the case of
Calculation example) CJ2L.10-45S the spring extend style, the force at OUT side will be the ending force
*Basic weight: I 44 (910-45 stroke) of the spring return, and that at the IN side will be the amount of the IN
.Tffg—tgg pracket weight:-- 8 (Axialfooh side force of the double acting style cylinder from which the beginning
. =529 . force of the spring return has been subtracted.
Weight/Spring Extend (T) @)
Bore size (mm) 6 10 16
15 Stroke 17 28 64 Copper Free
30 Stroke 21 34 80
45 Stroke 23 43 100 . . . i
20-CJ2 ’ Mounting ‘ ’ Bore size H Stroke ‘ ’ Action ‘ 5:;‘;33%‘;3;\
Basic weight* 60 Stroke 27 51 121 T
75 Stroke — — 140 Copper free
100 Stroke - — | 178 To eliminate influences of copper ions or halogen ions during CRT
125 Stroke — — 212 manufacturing processes, copper and fluorine materials are not
150 Stroke — — 236 used as component parts.
Mounting Axial foot 8 8 20
bracket Front flange 5 5 15
weight Double clevis** (with pins) — 4 10

* This basic weight includes weights of mounting nut and rod end nut.

#x The mounting nut is not attached to the double clevis, so the mounting
nut weight is already reduced.

Calculation example) CJ2L10-45T

®Basic Weight: e 43 (10-45 stroke) 4
®Mounting bracket weight: - 8 (Axial foot) Specifi cations
43+8=52
g Action Single acting/Spring return ‘Single acting/Spring extend
Bore size (mm) 26, 210, 16
M ti B ket Part N Max. operating pressure 0.7MPa
oun lng racke ar OB - ( ) Min. operating 26 0.2MPa ‘ 0.25MPa
. ore size (mm ressure
Mounting bracket p 210, 816 0.15MPa
9 6 10 16 :
Foot CJ-L006B CJ-L010B CJ-L016B Cushion Rubber bumper
Flange CJ-FO06B CJ-FO10B CJ-FO16B Standard stroke (mm) Same as the standard (Refer to p.1.3-21.)
T bracket™ — CJ-T010B CJ-TO16B Auto switch Possible to be mounted
* T bracket is used with double clevis (D). Basic, Axial foot, Front flange
: . f Mounting Doub’Ie clevis (E’xce t for zei
Auto Switch Mounting Bracket Part No. (Band mounting) P
Sl sl Bracket part No. Note
(mm)
6 BJ2-006 Common use to all
10 BJ2-010 of D-C7, C8 and
16 BJ2-016 D-H7

(A switch mounting band is not attached. Please order the band
separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL” switch is set on the cylinder with the screws above
when shipped.

Also, when a switch only is shipped, “BBA4” screws are attached.

QNote) A set of stainless steel mounting screws “BBA4” is attached.

1.3-22



Standard: Single Acting Spring Return/Extend Series CJZ

Construction (The cylinder cannot be disassembled.)

Single acting/Spring return
a2 W O @® @G®W ® v @ @ @

NRW

@B @ @ OB G

— ]
]

[ ]
f e il N = £ —|—
O
Single acting/Spring extend
—EE @ @ J{ 14 1\ ) 1‘.5 M ® }31/.51-) 1@/ —
- cot1
—3= =t e
13_'1{'5.'9'; @ @ @ ]3* E

WE—

CJ206 Piston/Rod cover

Component Parts

No. Description Material Note No. Description Material Note

@ Rod cover Aluminum alloy White anodized ©) Packing retainer Aluminum alloy White anodized (26 spring extend)
@ Head cover Aluminum alloy White anodized Bumper Urethane

® Cylinder tube Stainless steel D) Mounting nut Brass Nickel plated

@ Piston rod Stainless steel @ Rod end nut Rolled steel Nickel plated

® | Piston A Brass @ | Piston seal NBR

® Piston B Brass Rod seal NBR

@ Return spring Piano wire @ | Tube gasket NBR

Spring seat Brass Piston gasket NBR

1.3-23



Series CJ2

Single Acting/Spring Return: Basic (B)

CJ2B ’ Bore size H Stroke ‘ S’Port location on head cover‘

%f Mounting nut* —».G—B<— - -
Rod end nut S } Piping port Piping port
M5 X 0.8 M5 X 0.8
& MM NN ¥
[m) T —7
s _ I Il &
! VA Vs
0B
A LF NA NB Port I(_J(I:atll_on o; head
H S + Stroke cover: In-line (R)
| Z + Stroke
* Refer to p.1.3-12 for details of the mounting nut. (mm)
S* Z*
Bore | A[B |[C |[D|F [GB|H| MM |[NA|[NB|NDh8| NN |5t |16to|31to|46to[6Llto|76to|10lto[126to| 5to |16to(31to[46to|61to|76t0|10L0|12%610
15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st
345435475615 62.5(715(755(89.5
_ Q P I N = =] =
6 |15]8 ]9 3|8 28 | M3X051 3 | 7 | 65015 MEXL0 (395) | (485) | (525) | (665) (675) | (165) | (805) | (945)
10 |15[12 14| 4 | 8 | 5 | 28 |M4X0.7|5.5[9.5| 8 8022|M8X1.0(455|53 |65 |77 | — | —|—|—[735/81 |93 [105| —|—|—|—
16 |15[18|20| 5 | 8 | 5 |28 [M5X08|5.5]9.5|108022|M10X1.0/455| 54 | 66 | 78 | 84 | 108|126 |138|735| 82 | 94 | 106|112 | 136|154 | 166
# () in S or Z dimensions: With auto switch
Single Acting/Spring Return: Axial Foot (L)
CJ2L ’ Bore size H Stroke ‘ S’ Port location on head Cover‘
H E
Rod end nut _Mounting nut _GB_ Piping port Port location on head

rGover surface level

cover: In-line (R)

“'{‘H"?‘- :

| = 3

| VAN ;

| \

NA _‘I:J_B__ Piping port
2-0LC o S + Stroke | M5 X 0.8
Z+Stroke — Rod end nut
_d
Material: Iron
Part No. | Bore | B Cc d H
NTJ-006A| 6 55| 6.4 |[M3X05| 24
NTJ-010A| 10 7 | 81 |M4X0.7| 3.2
NTJ-015A| 16 8 | 9.2 |M5X08| 4
* Refer to p.1.3-12 for details of the mounting nut. (mm)
s* z*

Bore |A|B|C|D|F |GB|H |LB[LC|LH|LT[LX|LY|LZ]| MM |NAINB| NN [X|Y |5t [16to|31to|46t0[61to|76to|101to|126t0| 5to |16to(31to[46to|61to|76t0|101t0|126t0
15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st
345(435[475(615 62.5[715[755|89.5

6 15/8(9(3[8|—|28|13(45|9 |1.6]24(165/32 |M3X05] 3 |7 [M6X10[5|7 5) | o5 | G5 (665 | — | | | T @9 |5 | on) | @ | T | T | |

10 |15|12(14|4 |8 |5 [28(15|4.5] 9 [1.6]24 |165]32 [M4X0.7|55(9.5[MBXL0[5|7 455|563 |65 |77 | —|— | —|—[735][81 |93 |105|—|—|—|—

16 |15/18]20|5 |8 |5 |28(23]|5.5[14(2.3|33|25|42 |M5X0.8|55(9.5[MOX10|6 |9 |455]|54 | 66 | 78 | 84 | 108|126 | 138 |735| 82 | 94 | 106 | 112|136 | 154 | 166
1] Basic With foot # () in S or Z dimensions: With auto switch
CJ2B6:---w-+-- SCJ26, #7 SCJ26, #7, #3

CJ2B10::--- SCJ210, #7  SCJ210, #7, #3
CJ2B16- -+ SCJ216, #7  SCJ216, #7, #3
* The data shows auto switch styles.

Please delete the unnecessary parts.

1.3-24



Standard: Single Acting Spring Return/Extend Series CJZ

Single Acting/Spring Return: Front Flange (F)

CJ2F ‘ Bore size H Stroke ‘S‘ Port location on head cover ‘

Rod end nut Port location on head

Mounting nut*
NN &~ —— -Piping port cover: In-line (R)
Cover surface level \ M5 X 0.8
T MR
] ——
l, .Y %
I | Y
A
| 2-aFC | Pi
o | | ping port
Mounting hole -.["!B l-—.-l M5 X 08_\
S+ Stroke o
r_ ~ Z + Stroke __|
* Refer to p01.3-12 for details of the mounting nut.
(mm)
s* z*
Bore |A|B|C|D|F [FB|FC|FT|FX|FY|FZ|GB|H| MM |NA|NB| NN |5to|16to|31to|46to|61to|76t0|101t0(126t0| 5t0 [16t0(31to|46to|61to|76t0|101to 126t
15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100t | 125st | 150st
3451435475615 62.5[715[755(89.5
6 15/8(9(3|8|11|45(16|24|14|32|—|28|M3X05] 3 | 7 | M6X10 o) 5| 25| @65 | | T | T | T |69 |65 |05 s T | T | T | T
10 15(12|14| 4 | 8 |13|45]16(24(14[32| 5 |28|M4X0.7|55|9.5| MBX10 [455|53 |65 |77 | —|—|—|— |735/81 [ 93 |105| —|—|— |— MB
16 15(18/20| 5|8 |19(55]2.3{33[20[42| 5 |28|M5X0.8|5.5|9.5| MI0X1.0|455|54 | 66 | 78 | 84 |108 | 126|138 |73.5| 82 | 94 | 106 | 112 | 136 | 154 | 166
# () in S or Z dimensions: With auto switch
C95
Single Acting/Spring Return: Double Clevis (D) —
CAl
CJZD‘ Bore size H Stroke ‘S —
CS1
Z + Stroke B L
Rod end nut H S + Stroke U
MM Piping port M5 X 0.8 NB 0CDws 0™
GB Clevis pin
{ocdas=f53)
o
5] E,
_ Sl
T
= lh/:. i T mounting
1 Refer to p.1.3-12
1 1
A NA I I for details.
P
L- —_—td
TY
W
ZZ + Stroke 4-0TC
Material: Iron
PartNo.| Bore | B | C d H
NTJ-006A 6 55 | 6.4 |M3X05| 2.4
. . NTJ-010A| 10 7 | 81|Maxo07| 32
= Clevis pins and set rings are attached. NTIOBA| 16 | 8 |92 |M5x08] 4
(mm)
S z
Bore A| B |C|CD|CX|CzZ| D |GB|H MM NA|NB| R | U |5t [16to|31to|46t0(61to|76to|101to|126t0| 5to |16to(31to|46to|61to|76t0(101t0|126t0
(cd) 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st
10 15|12|14|3.3|3.2|12| 4 |18 |20 [M4X0.7 |55[225| 5 | 8 |455|53|65|77|—|—|—|—|735]81 |93 |105|—|—|—|—
16 15|18 20| 5 |65|18| 5 | 23|20 [M5X0.8 |[5.5]275| 8 |10 |455|54 | 66 | 78 | 84 | 108|126 |138|755| 84 | 96 | 108 | 114|138 156 | 168
T mounting dimensions
27 .
BOr® "o 15st [ 1610305t | 3Lto 45st [ 4 o 60st | 6Lto 75 | 1101008 [10110 1259t] 1260 1505t Boresize| TC | TH | TV | TW | TX | TU
10 84.5 92 104 116 — — — — 10 45| 29 | 40 | 22 | 32 | 12
16 89.5 98 110 122 128 152 170 182 16 55| 35| 48 | 28 | 38 | 16
Basic With flange
SCJ26, #7 SCJ26, #7, #4
-SCJ210, #7 SCJ210, #7, #4

CJ2F16--:--- SCJ216, #7  SCJ216, #7, #4
* The data shows auto switch styles.
Please delete the unnecessary parts.

1.3-25



Series CJ2
|

Single Acting/Spring Extend: Basic (B)

CJ2B ’ Bore size H Stroke ‘T Mounting nut*
-]
MM = GA _ Piping port
CJ2B6 \ Q| NN 2 ’/M5X0.8
A i in
— = e _ - —_— <
/ N |
A F T, NA NB
H + Stroke S + Stroke
Z + 2 X Stroke

Mounting nut*

-]
CJ2B10, 16 a GA_ Piping port
o] NN z M5 X 0.8
F_ | NA NB
Rod end nut H + Stroke A S + Stroke
- Z + 2 X Stroke
* Refer to p.1.3-12 for details of the mounting nut. (mm)

s* z*
Bore A|B|C|D|F|GA|H| MM NN |[NA|NB|{NDh8| T |5to |16t0|31to|46t0|61to|76to (1010|126t | 5to |16t0|3Lto|46t0|6Lto|76t0|101to|126t0
15st | 30st | 45st | 60st | 75st | 100st | 125t | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st

46.5(555(59.5(73.5 745|83.5|87.5(1015

0

6 1512 |14 | 3 | 8 |145|28 |M3XO05|M6X 10|16 | 3 | 6. 8ots| 3 | 15| )| asy|785)| — | — | — | — |i95)| )| 2| pues| — | — | — | —
10 15|12 |14 | 4 | 8 | 8 |28 [M4X0.7[M8X10[125]55] 80| —[485] 56 |68 | 80 | — | — | — | — |765] 84| 96 [108 | — [— |— [ —

16 15118 (20 |5 [ 8 | 8 |28 |M5X0.8|MI0X10[125]5.5[10 §0pp| — [485| 57 | 69 | 81 | 87 | 111]129[141(765] 85 | 97 |109 |115 |139 |157 | 169
# () in S or Z dimensions: With auto switch

Single Acting/Spring Extend: Axial Foot (L)

CJ2L ’Bore size H Stroke ‘T

CJ2L6 Cover Mounting nut*
surface level MM NN \l' F  GA o Piping port g
m— =, e RAE WV O
Ll al B M5 X 0.8 [ &
i ' =1
|>_ s P I A
3 [ 9% ﬁ(
L = ; el
] | 0oB | 08
| ) Rod ( [ [
il = ST, A _| ____i(_:‘_"l'__lT". NA ! |NB F{od cover I-I_ead cover
— |, H<+SEiroke 15 S+Stroke | side side
CJ2L10, 16 e Z + 2 X Stroke . e
Hodendnd Mounting nut* Rod end nut
Cover surface level™, pm ‘NN _F_GA  Piping port
\\ \ al AT T MsX08 d
— 1
m| >| e
;I _||_| ..‘. ol
e, i 8 L+ |
B
| —- | = ] -t
o LZ 2.0LC A XYL NA Material: Iron
( Mounting hole "‘7'-' * St@ke T ! S + Stroke Part No. | Bore | B C d H
Z + 2 X Stroke
= ~ ™ NTJO006A| 6 |55]64|M3X05|24
NTJ-010A| 10 | 7 |8.1 |M4X0.7]3.2
NTJ-015A| 16 | 8 | 9.2 |[M5X08| 4
* Refer to p.1.3-12 for details of the mounting nut. (mm)
s* z*

Bore |A|B|C|D|F [GA|H [LBILCILHILTILX|LY|LZ| MM |NA[NB| NN [T |X|Y|5to [16to|31to|46t0|61to|76t0|101to(126t0|5to |16to|31to|46t0|61to|76to|100to (12610
15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 1256t | 150st
46.5|55.5(59.5| 73.5 745| 83.5|87.5|10L5

6 1512 |14| 3 |8 |145|28(15(4.5| 9 |1.6 [24]165[32|M3X05/16 | 3 |M6X10{3 |5 |7 615 605)| @5| 085 — | — | — | — [(95)| 5] 023 a6 — | — | — | —

10 15112 (14| 4 |8 |8 [28]|15[45] 9 |1.6 2416532 | M4X0.7[125|5.5 [M8X10|—|5 |7 [48.5| 56 |68 | 80 | — | — | — |— |765] 84| 96 (108 | — |— | — | —

16 151820 5|8 | 8 [28|23|5.5]14|2.3|33|25]42 | M5X0.8]125 |5.5 [ M0X10|—| 6 | 9 [48.5| 57 | 69 | 81 | 87 |111(129 |141[765]| 85 | 97 [109 |115 |139 |157 | 169

L] Basic With foot % () in S or Z dimensions: With auto switch
CJ2B6:++omen SCJ26, #8 SCJ26, #8, #3
CJ2B10-------SCJ210, #8 ~ SCJ210, #8, #3
CJ2B16::+---+ SCJ216,#8  SCJ216, #8, #3
* The data shows auto switch equipped styles.
1.3-26 Please delete the unnecessary parts.




Standard: Single Acting Spring Return/Extend Series CJZ
|

Single Acting/Spring Extend: Front Flange (F)

CJ2F ‘ Bore size H Stroke ‘ T Mounting nut*
CJ2F6 Cover surface level NN ! GA Piping port
MM 9 /I 1/M5X08
=k ——= - — =)
i A *:'- | E—— | 1yt -'7*"&__ e s
(ORI o =
b
[ FT}|
- FX | > | |
EX__ .l |\2-eFC E NB
‘ FZ Mounting /A= |-E-—TL= NA_ - Rod cover Head cover
hole H + Stroke . S + Stroke _ side side
Rod end nut Z + 2 X Stroke el
CJ2F10, 16 ;
Cover surface level Mounting nut* GA  Piping port Rod end nut end nut
= NN M5 X 0.8
A\ ' 5 G— . gg 18
| & I 7 u IL-L'I \’/_\
1 z % | | OB
I FX ™ FT - ~—=~H
LET- \2-0FC A £ WJ | NB Material: Iron
_Fe | Mounting, <—"—» =
hole ___ H+ Stroke S + Stroke _»| PartNo.| Bore | B | C d H
Rod end nut - oo ZH X Svoke —————————* NTJ006A| 6 |[55]6.4|M3X05|24
NTJ-010A| 10 | 7 |81 |[M4X0.7]|3.2
NTJ-015A| 16 | 8 | 9.2 [M5X08| 4
* Refer to p.1.3-12 for details of the mounting nut. (o)
s* z*

Bore A|B|C|D|F |FBIFC|FTFX|FY|FZ|GA/H | MM [NAINB| NN | T |5to [16to(31to|46to(61to(76t0 [101to(126t0(5t0 16t0(31to(46t0(61to (76to 101t (126t

15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st | 15st | 30st | 45st | 60st | 75st | 100st | 125st | 150st
46.5(55.5 (595|735 745 1835|875 |10L5
6 15 |12 (14| 3| 8 |13 |45]1.6|24|14|32145(28 |M3X05{16| 3 [M6X10| 3 6L5)| 605) | (645|785 — | — | — | — |(795)|(885) | @5)|0en| — | — | — | —
10 15 (12 (14| 4 |8 |13 |45[1.6/24|14|32| 8 |28 |[M4X0.7[125|5.5|M8X10|—[48.5| 56 | 68 | 80 | — | — | — | — [765]84 |96 |108| — |— | — | —

16 15118 120| 5|8 [19(55]2.3|133[20[42| 8 |28 |M5X08[125]5.5|MI0X10|—|485]| 57 | 69 | 81 | 87 |111]129141|765) 85 | 97 | 109 |115 |139 | 157 | 169

# () in S or Z dimensions: With auto switch

Single Acting/Spring Extend: Double Clevis (D)

CJ2b ‘ Bore size H Stroke ‘T

Z + 2 X Stroke B R
[ U o4
Rod end nut H + Stroke __ S+Stroke Y] o
MM\ GA  Piping port M5 X 0.8 _INB| | oCDws 8" CXoi
= * . | "Clevis pin ocdas 4o o
o | # §
/ l\ Q ! LY n
T T L L LA .
oy LA ] | T B
© Mee—t—pFT ] v
A& | o e e sfor top:1.3-12) 2T
I for details. | I T
i I I | =
A _ﬂ&J uie 1J_%_L‘
L l__!____ 4 JrE -:_IL_JL__
e o i o ks ==
0B LT
Tw
Z7 + 2 X Stroke | 4-0TC , X
TV
# Clevis pins and set rings are attached.
(mm)
S Y4
Bore AlB|clcplex|cz|D |GA| H | MM [NA|NB| R | U |5t |16to|31to|46t0(61to|76to(101to|126t0| Sto |16to 3Lto|46to (61t |76to (101to|126t0
(cd) 15st | 30st | 45t | 60st | 75st | 100st | 125st | 150st | 15t | 30st | 45st | 60t | 75st | 100st | 125t | 150st
10 15 |12 [ 14[3.3|3.2|12 | 4 | 8 |28 |M4X07|125(185| 5 | 8 [485|56 (68|80 | — | — | — | —[845[92 [104[116|— |— | — | —
16 15118 [ 20| 5 16.5]18 | 5 8 |28 [M5X08[12.5[235] 8 [10 |48.5| 57|69 |81 |87 |111]|129]141|86.5| 95 |107 (119|125 |149|167|179
(mm) T mounting dimensions
Bore ZZ Boresize [ TC | TH | TV | TW | TX | TY
5 to 15st|16 to 30st |31 to 45st |46 to 60st |61 to 75st |76 to 100st | 101 to 125st 126 to 150st
10 95.5 103 115 127 — — — — 10 45 | 29 | 40 | 22 | 32 12
16 100.5 | 109 121 133 139 163 181 193 16 55 | 35 | 48 | 28 | 38 16
Basic With flange

CJI2FB:---e-e SCJ26, #8 SCJ26, #8, #4
CJ2F10---+---SCJ210, #8 SCJ210, #8, #4
CJ2F16:-:-- SCJ216, #8 SCJ216, #8, #4
* The data shows auto switch equipped styles.
Please delete the unnecessary parts. 1.3-27

C95
CAl
CS1



Series CDJ2

Auto Switch Mounting Position: Single Acting/Spring Return (S)

Reed Switch Solid State Switch
<Band mounting> <Band mounting>
D-CTICB = Hs Auto switch

-
~

.q.

D-A7/A8

3

=

<Rail mounting>
D-F7/J7/D-F7IW/D-J79W

D-H7_/H7[JW/H7BAL D-H7[F H

Auto switch

T — — D-F7LIF/D-F7 BAL
2z AT ——— r
218 C.Eﬂ:i.{tk - E, Auto switch
ae ]
Min. bendin i ! ¢ = =
. bending | | Tyl - s o 52
radius of L f Al i —
lead wire: 10 Al |23 B S = Wy 1I-;p:j-'—‘
A 23 B
L (30)
D-A79W ( ):D-H7LF
Auto switch
" . = D-F7LIV/D-F70WV Auto switch
w W@y ] i -’\j
T i il g o
..‘Ii B = | & 10
; - L ¥ m_I;"E
Min. bending Al |23.5 [ B - i
radius of ! ]
lead wira: 10 [11_
D-A7(H/A80H Auto switch D-J79C
: Auto switch
[y \\'—‘g e - L .
m = ) — ==3a i ,':ﬂ
T T ] ===
22 B el Ny E--.._?—.t —
| . .
Auto switch Yl o10
D-A73C/A80C S , 133 [ [133 Al | 26 B
ORI e—
[(E :I':[ 1_‘___'_ 7
Wl “ﬂ . Auto Switch Mounting Height (mm)
010 I I Bore =
13.3 13.3 A 24 | L B Auto switch model (mm) HS
Auto Switch Mounting Position/Spring Return (mmy D-C7/C8 6 15.0
3 : D-H7O/MH70O0W 10 17.0
A Bore A dimensions
Auto switch model | 11010 1557 16 to 3050 31.to 451 46 to 6051 61 to 755 76 0 100°L] 101 0 125%| 0 5% ° D-H7OF/H7BAL 16 | 205
D-C7/C8 6 8.5 175 | 215 | 355 — — — — 120 D-C73C 6 17.5
D-C73C 10 9.0 16.5 | 28.5 | 405 — — — — |25 D-C80C 10 19.5
D-C80C 16 8.5 17.0 | 29.0 | 41.0 47 71 89 101 [ 3.0 16 23.0
D-H7 6 75 16.5 | 20.5 | 345 — — — — 1.0 6 18.0
D-H7C 10 8.0 155 | 27.5 | 39.5 — — — — 1.5 D-H7C 10 20.0
16 75 16.0 | 28.0 | 40.0 46 70 88 100 | 2.0 16 23.5
D-H7OW 6 6.0 15.0 19.0 33.0 — — — — 0 D-A7 10 16.5
D-H70F 10 6.5 14.0 26.0 38.0 — — — — 0 D-A8 16 19.5
D-H7BAL 16 6.0 145 | 265 | 385 | 445 | 685 | 865 | 985 | 0.5 D-A7CH/ABOH o s
D-ATIA8 10 9.5 17.0 | 29.0 | 41.0 — — — — D-F7/37 .
16 9 175 | 295 | 415 | 475 | 715 | 895 | 1015 | 35 D-E7LIW/I79W
B:’;ZES/ASOC 10 | 100 | 175 | 295 | 415 | — — — — |85 _D-F7BAL/FTOF il B
10 23.5
D-A7CIH/AS0H D-A73C/A80C
D-E70V/I79C 16 9.5 18.0 | 30.0 | 420 48 72 90 102 | 4.0 ——— 16 26.5
-F700 10 20.0
10 105 | 18.0 | 30.0 | 42.0 — — — — |40
D-F7owWv 16 | 10.0 | 185 | 305 | 425 | 485 | 725 | 905 | 1025 | 45 _D-F7OWV 16 | 230
D-F7BAL/F7TOW 10 | 140 | 215 | 335 | 455 | — — — — 175  py79c 10 1 230
D-F70F/J79W 16 135 | 22.0 | 34.0 | 46.0 52 76 94 106 | 8.0 16 26.0
10 7.0 145 | 265 | 385 — — — — |05 10 19.0
D-ATOW 16 65 | 15.0 | 27.0 | 39.0 45 69 87 99 | 1.0 D-ATOW 16 22.0

1.3-28



Standard: Single Acting Spring Return/Extend Series CJZ

Auto Switch Mounting Position: Single Acting/Spring Extend (T)

Reed Switch Solid State Switch
<Band mounting:- <Band mounting:- Auto awitch U
D-C7/C8 Auto switch D-H7L/HT_W/H7BAL/MH7TLIF 1
= Hg \ i—;.;[
4 e E \r.éﬁ"'q 5 Hs .
Gl o=={E=r ©=TH =
D-C73C/C80C 2 D-H7C P
Auto switch ) 1 CJ1
\ 7 - Siite
gy A E_@i\* -t CJP
===l
e I =Hs Al| ss2 | ——
e
. . ; : CM2
<Rail mounting> PR =<Rail mounting> =
D-A7/A8 D-F7/J7/D-F7(JW/D-J79W C85
2 —@} ==~ \— 4  D-F70F/D-F7BAL Autoswitch ~— ———
] Y :
1 iy —T'_.._ L~ A= RO Vi 7 CGl1
Min. bending radius | |l U )J_f e A 7 —
- = .
a of lead wire: 10 A 23 B o % uJ "- —U: MB
7 111" A (2 —
( xoHnF Cc95_
D-A79W M\_ D-F7LIV/D-FTC WV Auto switch CA1
2 41,;'3‘11_1_5}[[ = ———- - @) 4 —%:#%E _ \—Fd cs1
. Try <3 [E £ ]
T ‘-$-_ ™ T ‘ b b i
235 B = wﬂ_? Al |23 v 1B
Min. bending radlus Mm
of lead wire: 10
D-J79C )
D-A73C/ABOC Auto switch Auto switch
o e e — - - :7
el i O <e=ff
0| 3 1 el *;'_"rl‘.J
| T =K I-I | s -
| = = b m u
[] T -I:Il | !!
|__o10 ¥ . “| 010 A
13.3 |33 A |24 B 13.37133
Auto switch
N Auto Switch Mounting Height (mm)
;.'—"h' g g
-
A . Bore =
e — Auto switch model (mm) HS
22 D-C7/C8 6 15.0
D-H7O/H7OW 10 17.0
Auto Switch Mounting Position/Spring Extend (mm) _D-H7OF/H7BAL 16 20.5
) Bore A B dimensions D-C73C 6 175
Auto switch Model | () | Al stroke |10 10 1557 16 to 3051 31 1o 45°] 46 to 6051 62 to 75| 76 0 100 10L10 126% ] 12610 160% D-C80C 10 | 195
D-C7/C8 6 2.0 85 | 175 215 | 355 — — — — 16 23.0
D-C73C 10 25 9.0 | 165 | 285 | 405 — — — — 6 18.0
D-C80C 16 3.0 85 | 170 | 29.0 | 410 | 47 71 89 101 D-H7C 10 20.0
B-H7C] 6 1.0 75 | 165 | 205 | 345 — — — — 16 23.5
D-H7C 10 1.5 80 | 155 | 275 | 395 — — — — D-A7 10 16.5
16 2.0 75 | 160 | 280 | 40.0 | 46 70 88 100 D-A8 16 19.5
D-H70W 6 0 6.0 15.0 19.0 33.0 — — — — D-A7CIH/A80H
D-H70F 10 0 65 | 140 | 260 | 380 | — — — — D-F7/37 10 [ 175
D-H7BAL 16 0.5 6.0 14.5 26.5 38.5 44.5 68.5 86.5 98.5 D-F70O0W/J79W
D-A7/A8 10 3.0 9.5 17.0 29.0 41.0 — — — — D-E7BAL/E700F 16 20.5
16 35 90 | 175 | 295 | 415 | 475 [ 715 | 875 | 1015
D-AT3CIABOC 10 35 | 100 | 175 | 295 | 415 | — — — - D-A73C 0] 285
D-F7/37 D-A80C
D-A7C0H/AS0H 16 265
D-E70V/I79C 16 4.0 95 | 180 | 300 | 42.0 | 48 72 90 102
S 10 | 40 | 105 [ 180 [ 300 [ 420 [ — — — — D-F70V 10 [ 200
16 | 45 | 100 | 185 | 305 | 425 | 485 | 725 | 905 | 1025 . D-F7OWV 16 | 23.0
D-F7BAL/F7OW 10 7.5 14.0 | 215 | 335 | 455 — — — — D-379C 10 23.0
D-F7OF/J79W 16 80 | 135 | 22.0 | 34.0 | 46.0 52 76 94 106 16 26.0
10 0.5 70 | 145 | 265 | 385 — — — — 10 19.0
D-A7OW 16 1.0 65 | 150 | 27.0 | 390 | 45 69 87 99 D-ATOW 16 22.0

1.3-29



210, 216

Non-rotating Rod: Double Acting Single Rod

Series CJZ2K

How to Order

Bore size ¢
10 10mm

16

16mm

-
= Mounting ¢

Basic

Standard stroke (mm)

Axial foot

210

15, 30, 45, 60, 75, 100, 125, 150

Front flange

216

15, 30, 45, 60, 75, 100, 125, 150, 175, 200

O(mn|r |®

Double clevis

Standard CJ2K 16

I

6|O

L 111660

C/73

CDI2K

With auto switch
(Built-in magnet)
Port location on head cover

Symbol Port location
— Perpendicular
R In-line

+ Refer to p.1.3-31 for the configuration.

Applicable Auto Switches/refer to p.5.3-2 for further information on auto

® Number of

switches
Auto switch S
+ Refer to the table below for selecting _s | 1
applicable auto switches. n

+ If requiring a built-in-magnet cylinder
without an auto switch, refer to the
model number example below.

Part No. of Cylinder with Built-in Magnet

switch.

s » Load voltage Auto switch model™™ Lead wire™ (m) i ) )
Style| Special function Electricalé (gvd;gﬁ) 56 A Rail 05| 3| 5 |None Apllz:;c;ble Symbol “-A” (rail mounting) or “-B
entry |8 Band Perp. | Indine | © |O|@| N (band mounting) should be suffixed to the
3 wire part No. of the cylinder with auto switch.
N e — C76 — |A76H | ® (@ |—|—| IC | —
< Yi R _— P — | — . .
s Grommet | 200v A72 |AT2H | @ | @ _ £y | Rail mounting | CDJ2KB16-60-A
z . L 12v | 100V | C73 | A73 |A73H | @ |®|@® — " [Band mounting| CDJ2KB10-45-B
8 No 2 wire 5V,12V| <100V | C80 | A80 |A80H | @ (@ |—|—| IC |Relay
e e 24v| 12v | — |C73C|A73C| — | o |@|®@|@®| — |PLC
Connector [—
o 5V,12V| <24V | C80C | ABOC | — ® 000 C
Diagnostic indication Grommet |Yes . _ — ATOW - o o|—|—| —
3 wire (NPN) sv iy — H7A1 | FINV| F79 | @ (@ |O|— c
Grommet| | 3wire (PNP) ' H7A2 | F7TPV| F7P | @ |@|O|—
= 2 wire 12v o H7B | F7BV | J79 ® 0 O|—|
2 Connector H7C | J79C | — o o 00
5 | 3 wire (NPN) 5V 12V H7NW |FINWV|F79W | @ | @ | O|— I
Q Diagnostic indication : , _ _ Relay
g (2 color) ves 3 wire (PNP) sav H7PW F7PW | @ (@O PLC
_g H7BW [H7BWV| J79W | @ | @ |O |—
o N 2 wire 12v
= | Water resistant -
3 @ colon Grommet — |H/BA| — |F/BA| — @ |O|—
With timer 3 wire (NPN) — — |F7NT ® O~
5V,12V Ic
o 4 wire HINF| — |F79F | @ |@|O|—
Latch with d
atch wit (Zligzrc)rsl\coutput (NPN) _ H7LE . E7LE @ O—| —
+ Lead wire length 0.5m---eeee — e.g.) C73C [S144 EEREEEIREE Z e.g.)C73Cz
BMeeeeeens L C73CL  None: N C73CN

* Solid state switches marked with* O " are manufactured upon receipt of order.
#x “D-A79W” cannot be mounted on bore size 10 cylinder with air cushion.

1.3-30



Non-rotating Rod: Double Acting Single Rod Series CJZK

Specifications

A cylinder in which the rod does not
rotate because of its hexagonal shape.

Non-rotating accuracy
210: £1.5° @16: +1°
Can operate without lubrication.

s

JIS symbol
Double acting/Single rod

[

Port Location on Head Cover

Either perpendicular to the cylinder axis or in-line
with the cylinder axis is available for basic style.

o

e R%\‘

<%

~
Perpendicular

A\ Precautions

el |

I Be sure to read before handling. Refer to :
j P.0-39 to 0-46 for Safety Instructions and 1

In-line

1 common precautions. 1
- |
A\ Caution

(D During installation, secure the rod cover and tighten
by applying an appropriate tightening force to the
retaining nut or to the rod cover body. If the head
cover is secured or the head cover body is tightened,
the cover could rotate, leading to a deviation.

(2) Tighten the retaining screws to an appropriate
tightening torque within the range given below.

210: 10.8 to 11.8Nm, 16: 20 to 21Nm

(3 In the case of the non-rotating cylinder, do not
operate it in such a way that rotational toque would
be applied to the piston rod. If rotational torque is
applied, the non-rotating guide will become
deformed, thus affecting the non-rotating accuracy.

@ To screw a bracket or a nut onto the threaded portion
at the tip of the piston rod by placing a wrench over
the parallel section of the piston rod, make sure to
retract the piston rod entirely, and use the portion of
the rod that protrudes. To tighten, take precautions to
prevent the tightening torque from being applied to
the non-rotating guide.

(® To remove and install the snap ring for the knuckle
pin or the clevis pin, use an appropriate pair of pliers
(tool for installing a C type snap ring). In particular,
use a pair of ultra-mini pliers such as the Super Tool
CSM-07A for removing and installing the snap rings
on the @10 cylinder.

® In the case of the auto switch rail mounting, do not
remove the rail that is mounted. Because the
retaining screws extend into the cylinder, this could
lead to an air leak.

Action Double acting/Single rod
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.06MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C, With auto switch; ~10°C to 60°C*

Cushion Rubber bumper
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance %'0
) 210 +1.5°
Non-rotating accuracy
216 +1°

Mounting

Basic , Axial foot,
Front flange, Double clevis

Piston speed

50 to 750mm/s

210 0.035J
Allowable kinetic energy
216 0.090J
= No freezing ——
C95
Standard Stroke mm |CA1
Bore size Standard stroke —_—
10 15, 30, 45, 60, 75, 100, 125, 150 CS1
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200
Minimum Strokes for Auto Switches Mounting
eRefer to p.1.3-3.
Mounting Accessories/refer to p.1.3-12 for details.
Mounting Basic Axial foot | Front flange chzlc:\]/?sl,?‘
o Mounting nut ([ ) o o —
3
g Rod end nut o ( o o
3
& Clevis pin — — — Y
- Single knuckle joint [ ] [ [ ] [ ]
i)
g_ Double knuckle joint™ () [ ] o ()
T bracket — — — o

+ Double clevis or double knuckle joint is packaged with pins and rings.

1.3-31



Series CJ2K

Weight (@ Mounting Bracket Part No.
Bore size (mm) 10 16 IR e Bore size (mm)
Basic weight™ 24 55 10 16
Foot CJ-L016B CJK-LO16B
Additional weight for each 15 of stroke 4 6.5 Flange CI-FO16B CIK-FO16B
Mounting Axial foot 20 20 T bracket” CJ-T010B CJ-TO16B
bracket Front flange 15 15 * T bracket is used with double clevis (D).
weight . . .
9 Double clevis** (with pins) 4 10 Auto Switch Mounting Bracket Part No. (Band mounting)
= This basic weight includes weights of mounting nut and rod end nut. Bore size
++ The mounting nut is not attached to the double clevis style, so the mounting nut (mm) Bracket part No. Note
weight is already reduced. 10 BJ2-010 Common use to all of

Calculation example: CJ2KL10-45
« Basic weight: 24 (10) 16
« Additional weight: 4/15 stroke
« Cylinder stroke: 45 stroke
« Mounting bracket weight: 20 (Axial foot)
24+4/15 X 45+20=569

BJ2-016 D-C7, C8 and D-H7

Copper Free

20-CJ2K ’ Mounting HBore size H Stroke‘ ’fr?ﬁggg%%%r

A Caution Copper free
Handli To eliminate influences of copper ions or halogen ions
analing during CRT manufacturing processes, copper and fluorine
<Mounting> materials are not used as component parts.

® Avoid using the air cylinder in such a way that rotational torque would be
applied to the piston rod because this will deform the non-rotating guide,
thus affecting the non-rotating accuracy. Refer to the table below for the

f | Specifications
approximate values of the allowable range of rotational torque.

Action Double acting/Single rod
210 216 i
Allowable rotational torque Nm Max. operating pressure Y
0.02 0.04 Min. operating pressure 0.06MPa
*Operate the cylinder in such a way that the load to the piston rod is Cushion Rubber bumper (standard)
always applied in the axial direction. ) 210 +1.5°
®To screw a bracket onto the threaded portion at the tip of the piston rod, Egcdu:;cn—rotatmg — 'D
make sure to retract the piston rod entirely, and place a wrench over the y 916 x1

flat portion of the rod that protrudes. To tighten, take precautions to
prevent the tightening torque from being applied to the non-rotating guide.

Standard stroke (mm) Same as the standard (Refer to p.1.3-31.)

Possible to be mounted

Auto switch

Basic, Axial foot,

Mounting Front flange, Double clevis

Note) A set of stainless steel mounting screws "BBA4" is attached. (A switch
mounting band is not attached. Please order the band separately.)
"BBA4" screws are used for D-C7/C8/H7.

"D-H7BAL" switch is set on the cylinder with the screws above when
shipped.
Also, when a switch only is shipped, "BBA4" screws are attached.

Construction (The cylinder cannot be disassembled.)

&

] 7
fl ¥
I — |
Rod cross section
Component Parts
No. Description Material Note No. Description Material Note
@ | Rod cover Aluminum alloy White anodized Rod end nut Rolled steel Nickel plated
@ Head cover Aluminum alloy White anodized ® Bumper Urethane
® | Cylinder tube Stainless steel Piston seal NBR
® Piston rod Stainless steel ) Rod seal NBR
® Piston Brass Tube gasket NBR
® Mounting nut Brass Nickel plated 12 Piston gasket NBR

1.3-32



Basic (B)

Non-rotating Rod: Double Acting Single Rod Series CJZK

CJ2KB ‘ Bore size H Stroke H Port location on head cover

Rod end nut

NN

Mounting nut®

oMDha

Piping port 2-M5 X 0.8

GB

Piping port M5 X 0.8

1
9y VAN
g f I
NE, SBB,} Port location on head
) S + Stroke cover: In-line (R)
Rod cross section B Z + Stroke )
* Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 210, SNKJ-016B for g16) (mm) C85
Bore A | BA| BB |CA|CB| F |[GA|GB | H | KA MM NA | NB NDh8 NN S z CG1
10 15 | 15 | 12 | 17 | 14 8 8 5 28 | 42 | M4X0.7 |125| 95 | 10 302 | MIOX1.0 | 46 | 74
16 15 | 18 | 18 | 20 | 20 8 8 5 28 | 52 | M5X08 |125| 95 | 12 307 | M12X1.0 | 47 | 75 MB
Axial Foot (L) C95
CJ2KL ‘ Bore size H Stroke ‘ ‘ Port location on head cover CAl
oc,\» —
CS1
. Rod cover side
[
Mounting nut* LOBA | S S
T 5 iping po X
Cover surface level Fod end nut AN | &% /_P|p|_n_g_p-n-__rg M5 X08 —
MM GB o)
\ = —Lf, 12 &
Sl Yo | =y OEZ
J 1< 4
I i —

Rod cross section

2-0LC
Mounting hole

S + Stroke

& Z+St_roie QBRI

'*E_BB__I Port location on head

cover: In-line (R)

Rod end nut

4

@15

Material: Iron

Part No. | Bore B C d H

NTJ-010A 10 7 8.1 [M4X0.7| 3.2

NTJ-015A 16 8 9.2 [M5X0.8| 4

+ Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 210, SNKJ-016B for g16) (mm)

Bore A |BA|BB|CA|CB| F |[GA|GB| H |[KA|LB|LC|LH|LT |LX|LY|LZ MM NA | NB NN X Y S z
10 15 (15|12 |17 |14 | 8 8 5 |28 |42|215|55| 14 |23 |33 | 25| 42 | M4X0.7|125[9.5| MIOX10| 6 9 46 | 74
16 15|18 |18 |20 | 20 | 8 8 5 |28 |52|23|55|14 23|33 25|42 |M5X08|125]|9.5|MI2X10| 6 9 47 | 75

1.3-33



Series CJ2K

Front Flange (F)

CJ2KF‘ Bore size H Stroke H Port location on head cover

09'3:/

% Rod cover side

Mounting nut*
Cover surface level M Piping port 2-M5 X 0.8 Piping port M5 X 0.8
V.
# Rodend nut’, NN GA / GB
' . P R

o i \

—— 1 K - o -

HORR: o E— R B
FX

FB

T e | |
i . FT “|BB| port location on head

FZ 2-0LC  Rod cross LA LF.NA N8 cover: In-line (R)
Mounting Section H S + Stroke
hole Z + Stroke
+ Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 210, SNKJ-016B for g16) (mm)
Bore A |BA|BB|CA|CB| F FB | FC | FT | EX | FY | FZ |GA | GB | H | KA MM NA | NB NN S) A
10 15 | 15 | 12 | 17 | 14 8 [175| 55|23 | 33 | 20 | 42 8 5 28 | 42 |[M4X0.7[125]| 95 | MI0OX10| 46 | 74
16 15 | 18 | 18 | 20 | 20 8 19 | 55|23 | 33 | 20 | 42 8 5] 28 | 52 [M5X0.8|125| 9.5 | M12X1.0| 47 | 75

Double Clevis (D)
CJ2KD | Bore size H Stroke |

Z + Stroke R HiHE

H S + Stroke U -— ox82

Rod end nut NB oCDHg*§ %0 Q"‘Q—‘
MM GA  Piping port 2-M5 X 0.8 GB Clevis pin &

&v- | (ocdag:3320) ﬁ
I REr
N . A aryomr T mounting _ X
‘G:'E- patt » : Refertop.1.3-12 | | | -
" \ I
1 for details. | J =

..
I

-
I

3>

=

=

|
r——-
[

=

r
1
L

1
-
=3P
F-Y
°,
L]

Rod cross section

ZZ + Stroke
Rod end nut
Material: Iron
Part No. | Bore B C d H
NTJ-010A | 10 7 |81 [M4X0.7] 32
= Clevis pins and set rings are attached. NTI0I5A |16 R
Bore A BA BB CA | CB |CD(cd)] CX | GA | GB H KA MM NA | NB R S U z 77z
10 15 15 12 17 14 33 | 32 8 18 28 42 |M4X0.7| 125 | 225 5 46 8 82 93
16 15 18 18 20 20 D) 6.5 8 23 28 52 |M5X0.8| 125 | 275 8 47 10 85 99
T mounting dimensions (mm)
Bore TC | TH TV | TW | TX TY
10 4.5 29 40 22 32 12
16 5.5 35 48 28 38 16

1.3-34



Non-rotating Rod: Single

Acting Spring Return/Extend

Series CJZ2K

210, 916

How to Order

Spring extend Bore size ¢
S 10 10mm
%] 16mm ¢ Standard stroke (mm)
— 510 | 15, 30, 45, 60
= 216 | 15, 30, 45, 60, 75, 100, 125, 150
Mounting ¢
Spring return B Basic )
- Action
L Axial foot Sinal TnaiSon .
= Front flange S S!ngle act!ng/Spr!ng re turnd
D Double clevis T _|[Single acting/Spring exten

1645

[N R

L 1116145

With auto switch
(Built-in magnet)

Port location on head cover

Symbol

Port location on head cover

—C73
| ® Number of
switches
Auto switch = 2
* Refer to the table below for |
selecting applicable auto _n | n

switches.

Perpendicular

+ If requiring a built-in-magnet cylinder

R In-line

without an auto switch, refer to the

model number example below.

* Refer to p.1.3-31 for the configuration.
* Not applicable to single acting/spring

extend (T).

Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch.

Part No. of Cylinder with Built-in Magnet

= B Load voltage Auto switch model** Lead wire™ (m) _ ) .
Style| Special function |Electical| 8 (X)VLI:;EL%) e AC Rail 0.5 | 3 | 5 |Nong Aplgz:;cgble Symbol A (rail mounting) of *-&
entry |2 Band Perp. | Indine | © || @M (band mounting) should be suffixed to the
(:%Nv;i’r\le) _ | sy o c76 _ a6 | @ l@|—|—| c | — part No. of the cylinder with auto switch.
<
2 Grommet| | — J200v| — | A72 |A72H| @ |@|—|—| £ | Rail mounting | CDJ2KB16-60S-A
z _ | 12v | 100V | C73 | A73 |AT3H | @ |@ @] — Band mounting| CDJ2KB10-455-B
3 No! - 5V,12V| <100V | C80 | A80 |[A80H | @ (@ |—|— | IC |Relay
wire
e Yes 24v| 12v | — |C73C|A73C| — | ® (@@ /@ — |PLC
Connector —
‘ - No 5V,12v| <24V | C80C | ABOC | — ® (000 cC
D'agnf;‘gg;gg"?a“"” Grommet|Yes — — — | A7T9W | — ® 0o —|—|—
3 wire (NPN) sv oy — H7A1 | F7INV| F79 | @ (@ |O|— c
Grommet| | 3 wire (PNP) ' H7A2 | F7/PV| F7P | @ (@ | O|—
s 2 wire 12v o H7B |[F7BV | J79 | @ (@|O|—|
2 Connector H7C | J79C | — o o o0
% , 3 wire (NPN) SV 12V H7NW [FINWV|F79W | @ (@ | O |— I
o Diagnostic indication| - , — — Relay
g (2 color) ves 3 wire (PNP) 4y H7PW F7PW | @ @O PLC
g H7BW [H7TBWV|[J79W | @ (@ | O |—
o " 2 wire 12v
= | Water resistant —
3 @ color) Grommet — |H/BA| — |F/BA| — |@|O|—
With timer 3 wire (NPN) sV 12V —_ — F7INT | — |@|O|— o
Wllhd\aggglsél;:output 4 wire ’ H7NF - E79F () @ O|—
 with di
Latch wit (Zli\uglgssucuutpul (NPN) _ H7LF _ E7LE e @0O|—| —
* Lead wire length 0.5m:eeeeeee — e.g.) C73C Z e.g.)C73Cz
L C73CL None::- N C73CN

+ Solid state switches marked with* O ” are manufactured upon receipt of order.
#x “D-A79W” cannot be mounted on bore size 10 cylinder with air cushion.

1.3-35

Cl1
CJP

w2
5
=
Ve
=3
oL
st




Series CJ2K

Specifications

A cylinder in which the rod does not
rotate because of its hexagonal shape.

Non-rotating accuracy
210:; £1.5°, @g16: £1°
Can operate without lubrication.

Auto switch can also be mounted.
It can be equipped with auto switches to
simplify the detection of the stroke
position of the cylinder.

Spring extend Gﬂtﬂ

JIS symbol

Single acting/
Spring return

—BAA

Spring return

Single acting/
Spring extend

M

l
A\ Precautions

o e e ey
I Be sure to read before handling.
: Refer to p.0-39 to 0-46 for Safety
1 Instructions and common precautions.

Iy -

/\ Caution

(1 During installation, secure the rod cover and tighten by applying
an appropriate tightening force to the retaining nut or to the rod
cover body. If the head cover is secured or the head cover body is
tightened, the cover could rotate, leading to a deviation.

(2) Tighten the retaining screws to an appropriate tightening torque
within the range given below.

210: 10.8 to 11.8Nm, g16: 20 to 21Nm

(3 In the case of the single acting cylinder, do not operate it in such a
way that a load would be applied during the retraction of the piston
rod of the spring return style, or during the extension of the piston
rod of the spring extend style. The spring that is built into the
cylinder provides only enough force to retract the piston rod. Thus,
if a load is applied, the piston rod will not be able to retract to the
end of the stroke.

@ In the case of the single acting cylinder, a breather hole is
provided in the cover surface. Make sure not to block this hole
during installation, as this could lead to a malfunction.

(® In the case of the non-rotating cylinder, do not operate it in such a
way that rotational torque would be applied to the piston rod. If
rotational torque is applied, the non-rotating guide will become
deformed, thus affecting the non-rotating accuracy. (Refer to
p.1.3-32.)

(® To screw a bracket or a nut onto the threaded portion at the tip of
the piston rod by placing a wrench over the parallel section of the
piston rod, make sure to retract the piston rod entirely, and use the
portion of the rod that protrudes. To tighten, take precautions to
prevent the tightening torque from being applied to the non-
rotating guide. (Refer to p.1.3-32.)

@ To remove and install the snap ring for the knuckle pin or the
clevis pin, use an appropriate pair of pliers (tool for installing a C
snap ring). In particular, use a pair of ultra-mini pliers such as the
Super Tool CSM-07A for removing and installing the snap rings on
the 210 cylinder.

® In the case of auto switch rail mounting, do not remove the rail that
is mounted. Because the retaining screws extend into the cylinder,
this could lead to an air leak.

1.3-36

Action Single acting/Spring return | Single acting/Spring extend
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.15MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C, With auto switch; -10°C to 60°C*

Cushion Rubber bumper (Standard equipment)
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance *$0
210 +1.5°
Non-rotating accuracy
216 +1°
Piston speed 50 to 750mm/s
210 0.035J
Allowable kinetic energy
216 0.090J
* No freezing
Standard Stroke mm)  Spring Force N)
Bore size Standard stroke Bore size Extended |Retracted
10 15. 30 45. 60 (mm) position position
16 |15, 30, 45, 60, 75, 100, 125, 150 10 6.86 3.53
16 14.2 6.86
Minimum Strokes for Auto Switches Mounting
eRefer to p.1.3-3.
Mounting Accessories/Refer to p.1.3-12 for details.
Mounting Basic Axial foot | Front flange Dout_)li
clevis
o Mounting nut ([ ] o o —
a
2 Rod end nut ® [ (] (]
g
(2] Clevis pin — — — [ ]
c Single knuckle joint [ ] [ } [ ] [ ]
o .
= Double knuckle joint™ o [ o o
o]
T bracket — — — [ )

+ Double clevis or double knuckle joint is packaged with pins and rings.

va] Made to Order

Refer to p.5.4-1 for made to order products of series CJ2K.




Non-rotating Rod: Single Acting Spring Return/Extend Series CJZK

Weight/Spring Return ( ): Spring extend Q) Copper Free
Bore size (mm) 10 16 - - - =
20-CJ2K’ Mounting HBore 5|zeH Stroke HActlon ‘ ’ﬁﬁ'ﬁé%gaé'é’v”er ‘
15 Stroke 28 (28) 63 (64)
30 Stroke 35(34) | 80 (80) Copper free _ _
To eliminate influences of copper ions or halogen ions
45 Stroke 44 (43) | 102(100) during CRT manufacturing processes, copper and fluorine
* materials are not used as component parts.
Basic weight"* 60 Stroke 53 (51) | 124 (121) p p
75 Stroke — 145 (140)
100 Stroke — 188 (178)
125 Stroke — 224 (212) Specifications
150 Stroke _ 250 (236) Action Single acting/Spring return, Spring extend
Fluid Air
: Axial foot 20 20
lt\)/IouEtlng Bore size (mm) 210, 216
wr:i(g:;h?t Front flange 15 15 Max. operating pressure 0.7MPa
Double clevis™ (with pins) 4 10 Min. operating pressure 0.15MPa

+% This basic weight includes weights of mounting nut and rod end nut.

* The mounting nut is not attached to the double clevis style, so the
mounting nut weight is already reduced.
Calculation example: CJ2KL10-45S

e Basic We|ght ..........................

® Mounting bracket weight:------ 20 (Axial foot)

44+ 20 = 64g

Mounting Bracket Part No.

44 (210-45 stroke)

Bore size (mm)

Mounting bracket

10 16
Foot CJ-L016B CJK-L016B
Flange CJ-FO016B CJK-F016B
T bracket™ CJ-T010B CJ-T016B

* T mounting is used with double clevis (D).

Cushion

Rubber bumper (standard equipment)

Rod non-rotating accuracy

210: £1.5°, @16: £1°

Standard stroke (mm)

Same as the standard (Refer to p.1.3-36.)

Auto switch Possible to be mounted
M " Basic, Axial foot,
ounting Front flange, Double clevis
Auto Switch Mounting Bracket Part No. (Band mounting)
Bore size
(mm) Bracket part No. Note
10 BJ2-010 Common use to all of
16 BJ2-016 D-C7, C8 and D-H7

@

Note) A set of stainless steel mounting screws “BBA4” is attached.
(A switch mounting band is not attached. Please order the
band separately.) “BBA4” screws are used for D-C7/C8/H7.

“D-H7BAL” switch is set on the cylinder with the screws above

when shipped.

Construction (The cylinder cannot be disassembled.)

Single acting/Spring return

—8-A

!

&

Single acting/Spring extend

E

an w @

)
@ &£
Component Parts
No. Description Material Note No. Description Material Note
©) Rod cover Aluminum alloy White anodized ©) Bumper Urethane
) Head cover Aluminum alloy White anodized Mounting nut Brass Nickel plated
©) Cylinder tube Stainless steel a Rod end nut Rolled steel Nickel plated
® Piston rod Stainless steel 12 Piston seal NBR
® Piston A Brass 3 Rod seal NBR
® Piston B Brass Tube gasket NBR
@ Return spring Piano wire () Piston gasket NBR
Spring seat Brass

1.3-37

C95
CAl
CS1



Series CJ2K

Single Acting/Spring Return: Basic (B)

CJ2KB ‘ Bore size H Stroke ‘ S‘ Port location on head cover

ND e

NN Fiping port W5 7.0.8 Piping port M5 X 0.8

_Rod end_py{__‘\ Mounting nut* ™ -
MM / i -
ﬁ\ / - 7

——1 T

[e]

q):f i : il
e
| 2
g _ LA L LA LNA L] Port location on head
Rod cross section H | S + Stroke cover: In-line (R)
Z + Stroke
+ Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for g10, SNKJ-016B for 16) (mm)
Bore A BA BB CA | CB F GB H KA MM NA | NB NDh8 NN
10 15 15 12 17 14 8 5 28 4.2 M4 X 0.7 5.5 9.5 10 3 020 M10 X 1.0
16 15 18 18 20 20 8 5 28 5.2 M5 X 0.8 5.5 9.5 12 3007 M12 X 1.0
Dimensions by stroke
Symbol S z
St
Bore %% |5 t0 15 [16 to 3031 to 45]46 to 60]61 to 75]76 to 100[101t0 125[12610 150| 5 to 15 |16 to 30|31 to 45|46 to 60[61 to 75] 76 to 100 | 101 to 125]126 to 150
10 455 | 53 65 77 — — — — | 735 | 81 93 105 | — — — —
16 455 | 54 66 78 84 108 | 126 | 138 | 735 | 82 94 106 | 112 | 136 | 154 | 166
Single Acting/Spring Return: Axial Foot (L)
CJ2KL‘ Bore size H Stroke ‘S ‘ Port location on head cover‘ ©
a Rod cover side
Mounting nut* y
ﬁ [1BA
Piping port M5 X 0.8 e
A E. ./ — Piping port M5 X 0.8
Cover surface level g4 and nut e GB_ éb
MM ;.
P 'S R 1 M-t = —
) > 1 l i
{\‘.:1;.’»[ i35 Hff I >y ? .
: i Ly <
L x| s XY .|| .NA NB Port location on head
Lz s M H S + Stroke cover: In-line (R)
| E Mounting hole Z + Stroke i
I Rod end nut
L] ’i
Lo
Bl —=H
Material: Iron
PartNo.| Bore | B | C d H
NTJ-010A| 10 7 |81 |M4X07 |32
NTJ-015A | 16 8 [92 | M5X08 | 4

+ Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 210, SNKJ-016B for 216) (mm)
Bore A |BA|BB|CA|CB| F |[GB| H |KA|LB|LC|LH|LT |LX]|LY|LZ MM NA | NB NN Y
10 15 |15 |12 |17 |14 | 8 5 |28 |42 |215|55 |14 |23 |33 |25 | 42 |[M4X0.7] 55|95 |MI0X10| 6 9
16 15 |18 (18 |20 |20 | 8 5 |28 |52 |23 |55 |14 (23 |33 |25 |42 |M5X0.8|55|95|M12X10| 6 9
Dimensions by stroke
Symbol g Z
S
Bore %o | 510 15 | 16t0 30|31 to 45|46 10 60| 61 to 75 | 76 to 100|101 10 125 12610150 | 5 to 15 | 16 to 30 31 to 45 | 46 to 60| 61 to 75|76 to 100 10 to 125126 to 150
10 45.5 53 65 77 — — — — 73.5 81 93 105 — — — —
16 455 54 66 78 84 108 126 138 73.5 82 94 106 112 136 154 166

1.3-38



Non-rotating Rod: Single Acting Spring Return/Extend Series CJZK

Single Acting/Spring Return: Front Flange (F)

CJ2KF‘ Bore size H Stroke ‘ S‘Port location on head cover ‘

?..
&7

Rod cover side

Mounting nut*
Rod end nut

Cover surface level MM NN Piping port M5 X 0.8 GB OQ’ Piping port M5 X 0.8 CJ1
i
(eE 4] X
<
Rod cross section NA NB Port |0Cﬂti.0n on head
2-0FC g5 Sleke cover: In-line (R)
Mounting holl
el s Z + Stroke

+ Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 10, SNKJ-016B for g16)

(mm) ———
Bore A |BA|BB|CA|CB| F |FB|FC |FT |FX | FY | FZ | GB | H | KA MM NA | NB NN CG1
10 15 | 15 | 12 | 17 | 14 | 8 |175|55 |23 | 33 | 20 | 42 | 5 | 28 | 42 | M4X07 | 55 | 95 | MIOX10 ———
16 15 18 18 20 20 8 19 [ 55 | 23 | 33 20 42 5 28 | 52 | M5X08 | 55 | 95 | M12X 1.0 MB
Dimensions by stroke
Symbol S v C95
S
Bore Cote 51015 |16 to 30 | 31 to 45 |46 to 60 | 61 to 75 |76 to 100 | 101 to 125 |126t0 150 | 5to 15 |16 to 30 31 to 45 |46 to 60 |61 to 75 |76 to 100 | 101 to 125 | 126 to 150
10 455 | 53 65 77 _ _ _ _ 735 | 81 93 | 105 - _ Z Z CA1l
16 455 54 66 78 84 108 126 | 138 | 735 82 94 106 112 136 154 | 166
CS1
Single Acting/Spring Return: Double Clevis (D)
CJ2KD‘ Bore size H Stroke ‘S
Z + Stroke R
Rod end nut H S + Stroke U
MM Piping port M5 X 0.8  NB 0090
GB @CDHa o
L Clevis pin
& \ |V (ocdw 38R
r?a’_- .';l':;.;'r'_“
é"ﬁ Eﬂ\:i Eth_ || —i T mounting
¥ | Refer to p.1.3-12 \\\ -
A [ NA for details. R =
| Rod cross section ] i e | R |
OBA TY
SIS ™W ‘
L ZZ + Stroke _| 4-gTC X |
TV
Rod end nut
d
T
©1h
. . B i 19
* Clevis pins and set rings are attached.
(mm) Material: Iron
Bore A | BA | BB | CA | CB |CDed) CX |GB | H | KA MM NA|NB| R | U
Part No. | Bore B C d H
10 15 | 12 | 12 | 14 | 14 |33 [ 32| 18 | 20 | 42 | M4X 0.7 | 55 |225| 5 | 8 )
NTJ-010A 7 8.1 |M4X0.7| 3.2
16 15 | 18 | 18 {20 [ 20 | 5 (65| 23 | 20 | 5.2 | M5X 0.8 | 5.5 |27.5| 8 | 10 oAl 16 |8 |92 [Msxos| 4
Dimensions by stroke (mm)
Symbol S Z 77
S
Bore %%e 510 15[ 1610 3031 t0 4546 0 6061 to 75] 7610100 101 10 25}2610150]5 o 15 16 0 30[31.t0.45 [46 0 6061 t0 75 [7610 100 10 0 128026 10155 o 15 [16 10 30[31.t0.45 [46 10 60 1. t0 75 [ 7610 100 01 0 2826 10 150
10 455| 53 | 65 | 77 | — | — | — | — |735| 81 | 93 |105| — | — | — | — |845| 92 |104 |126 | — | — | — | —
16 455| 54 | 66 | 78 | 84 | 108 | 126 | 138 [ 755 | 84 | 96 | 108 | 114 | 138 | 156 | 168 | 89.5 | 98 | 110 | 122 | 128 | 152 | 170 | 182
T mounting dimensions
Bore |TC|TH|TV|TW|TX|TY
10 4.5|29|40|22|32 |12
16 5.5|35|48|28 |38 |16

1.3-39



Series CJ2K

Single Acting/Spring Extend: Basic (B)

CJ2KB\ Bore size H Stroke ‘T

g Mounting nut*
Rodendnut MM NN S| |GA Piping port M5 X 0.8
| /
—_ ¥
Ros ‘
<T
g ol FINA NB
) H + Stroke i S + Stroke -
Rod cross section Z + Stroke

= Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 210, SNKJ-016B for g16) (mm)
Bore A BA BB CA CB F GA H KA MM NA NB NDh8 NN
10 15 15 12 17 14 8 8 28 4.2 M4 X 0.7 12.5 5.5 10 _8_022 M10 X 1.0
16 15 18 18 20 20 8 8 28 5.2 M5 X 0.8 125 5.5 12 _8_027 M12 X 1.0
Dimensions by stroke
Symbol S Z
S
Bore Yoke 510 15 |16 to 30 |31 to 45|46 to 60 |61 to 75 |76 to 100|101 to 125[126 0 150 | 5 to 15 |16 to 30|31 to 45|46 to 60|61 to 75|76 to 100|101 to 125|126 to 150
10 48.5 56 68 80 — — — — 76.5 84 96 108 — — — —
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169
Single Acting/Spring Extend: Axial Foot (T)
CJ2KL\ Bore size H Stroke \T -
GO
Rod cover side
084

Mounting nut*
MM NN'_F GA Piping port M5 X 0.8

Rod end nut T %

Cover surface level
; -

!

1 T
ml > I1AA N
=l
s T}- %
X ] A : gl
LZ Rod cross section H + Stroke S + Stroke
2-pLC Z+2 X Stroke = d
Mounting hole
—=-H
Material: Iron
Part No. [ Bore B c d H
NTJ-010A | 10 7 |81 [Max07] 32
NTJ-015A | 16 8 | 92 |[M5Xx0.8| 4
+ Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 810, SNKJ-016B for 216) (mm)
Bore A |BA|BB|CA|CB| F |GA| H |KA|LB|LC|LH|LT|LX|LY]|LZ MM NA | NB NN X Y
10 15 |15 | 12 | 17 | 14 8 8 28 |42 |215/55|14 |23 |33 | 25 | 42 | M4X0.7|125|5.5 |[M10X10| 6 9
16 15 |18 | 18 | 20 | 20 8 8 28 |52 |23 |55|14 |23 |33 |25 | 42 | M5X0.8|{125|5.5 |[M12X10| 6 9
Dimensions by stroke
Symbol S Z
S
Bore Lot 5t015 |16 t0 30|31 to 45|46 to 60 |61 to 75|761t0100|101t0 125|126t0150 | 5to 15 |16 to 30 |31 to 45|46 to 60 |61 to 75|76 to 100 | 101 to 125 | 126 to 150
10 48.5 56 68 80 — — — — 76.5 84 96 108 — — — —
16 48.5 57 69 81 87 111 129 141 76.5 85 97 109 115 139 157 169

1.3-40



Non-rotating Rod: Single Acting Spring Return/Extend Series CJZK

Single Acting/Spring Extend: Front Flange (F)

CJ2KF\ Bore size H Stroke ‘T

?.
&
Rod cover side
[IBA
H ]
Cover surface level Mc:unt::glnut e
Rod end nut \"M NN l QY. Plping poet M. O e
i _'\* \ [o)
| 35
! EI > i
2 sllaET UBB
\N2eoFC______ [ A F | NA
Mounting hole H + Stroke S + Stroke
Rod cross section Z + 2 X Stroke

+ Refer to p.1.3-12 for details of the mounting nut. (SNJ-016B for 10, SNKJ-016B for g16)

(mm)
Bore AlBa|BB|ca|lcB| F|FmB|Fc|FT|FX|Fr|Fz|ca| H | KA MM NA | NB NN
10 15 | 15 | 12 | 17 | 14 | 8 |175|55 |23 | 33 | 20 | 42 | 8 | 28 | 42 | M4X0.7 |125| 55 | MI0X 1.0
16 15 | 18 | 18 | 20 | 20 | 8 | 19 |55 [ 23| 33 | 20 | 42 | 8 | 28 | 52 | M5X0.8 |125| 55 |M12X1.0 L——
Dimensions by stroke C95
Symbol S z —
Lo CA1l
Bore ¢ | 5t015 16030 |31 t0 45 |46 t0 60 |61 to 75 |76 t0 200 [10110 125 12610150 | 5 t0 15 |16 1030 |31 to 45 | 46 to 60 |61 to 75 |76 10 100 |101 10 125 | 12610 150
10 485 | 56 68 80 _ _ _ _ 765 | 84 96 108 _ _ _ _
16 485 | 57 69 81 87 111 | 129 | 141 | 765 | 85 97 109 | 115 | 139 | 157 | 169 CS1

Single Acting/Spring Extend: Double Clevis (D)

CJZKD‘ Bore size H Stroke \T

; Z + 2 X Stroke R
Rod end nut H + Stroke S + Stroke Ul
—_— — +0.030
' L GA Pipingpot M5X08 _NB_ 0CDus’
& Clevis pin
> o |/ (ecdw38E)
L ¢ L - il 8 ) ==
& ! @ZE:— { ﬂ-:, - __E:J T mounting
¥ Refer to p.1.3-12"
LA NA for details.
Rod cross section | i ! H
=] 2 | o
OBA Whvall A
L Tw |
ZZ + 2 X Stroke | 4-0TC/
* Clevis pins and set rings are attached. | ~+—rH
(mm) Material: Iron
Bore A | BA | BB | CA|CB|CDcd) CX | GA| H | KA MM NA | NB| R U et | Boe || © & g -
10 15| 15|12 | 17 | 14 |33 |32 | 8 28 | 4.2 | M4XO0.7 |125|185| 5 8 m
NTJ-010A 7 8.1 [M4X0.7| 3.2
16 15 | 18 | 18 | 20 | 20 5 |65| 8 28 | 5.2 | M5X 0.8 [125(23.5| 8 10 NTIosA | 16 s |92 [M5X08| 4
Dimensions by stroke (mm)
Symbol IS Z 77
S
Bore %0e 15 10 151610 30|31 t0 45| 46 10 60] 61t 75 7610 100 1010125 2610150 51015 |16:10.30] L 045 46 o 60 61 t0 75 7610 100 10110.125] 2510 50]5 to 15 |16 0 30 [31 1045 46 10 60|61 t0 75 7610 100 [ 010 125 26050
10 485| 56 | 68 | 80 - - - — |845] 92 |104 |116| - - - — 1955|103 | 115 | 127 | — - — —
16 485| 57 | 69 | 81 | 87 | 111|129 |141 |86.5| 95 | 107 |119 |125| 149|167 | 179 1005|109 | 121 [133 |139 |163 | 181 | 193

T mounting dimensions
Bore TC|TH|TV |[TW|TX|TY
10 45|29|40|22 |32 |12
16 55|35[48|28|38]|16

1.3-41



Built-in Speed Controller: Double Acting Single Rod

Series CJ2Z

210, 216

How to Order

Standard stroke (mm)

15, 30, 45, 60, 75, 100, 125, 150

15, 30, 45, 60, 75, 100, 125, 150, 175, 200

Bore size ¢
1 10mm
16 | 16mm
Mounting

B Basic 210
L Axial foot 716
F Front flange
D Double clevis

16—60

L
| | | |
L ||16—60

C73

Band mounting

With auto switch

(Built-in magnet)

Port location on head cover

Rail mounting

Symbol Port location

Perpendicular
R In-line
+ Refer to p.1.3-43 for the configuration.

4

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto swich.

® Number of

switches
Auto switch - | 2
= Refer to the table below for selecting Lf
applicable auto switches. n | n

= If requiring a built-in-magnet cylinder
without an auto switch, refer to the
model number example below.

Part No. of Cylinder with Built-in Magnet

5 Load voltage Auto switch model™* Lead wire™ (m)
. - IElectrical| & |  Wiring - Applicable Symbol “-A” (rail mounting) or “-B”
Style| Special function = £ (Output) bC AC Band Rail 0.5 | 3 | 5 [None| load Y ( ) .
y |2 Perp. | Indine | & [O|@| M) (band mounting) should be suffixed to the
?NVF\:ilr\S —| sv o c76 — a6 | @ |@|—|—] c | — part No. of the cylinder with auto switch.
= Y, — | — — — | —
] Grommet|"** 200V A72 |AT2H | ® | ® — £ |Rail mounting | CDJ2ZB16-60-A
s _ || 12v | 100v | C73 | A73 |A73H| @ |@ @]~ " |Band mounting| CDJ2ZB10-45-B
8 No 2 wire 5V,12V| <100V | C80 | A80 |A80H | @ |@|—|— | IC |Relay
e N 24v| 12v | — |C73C|A73C| — | @ |@|/@|® — |PLC
onnector [——
_ - No 5V,12Vv| <24V |CB0C | AB0C| — | @ (/@@ IC
D'agngf‘gg;gg'ca““ Grommet |Yes — — = A79W | — ® 10— |—|—
3 wire (NPN) sy — H7A1 | FINV| F79 | @ |@ | O|—|
Grommet| | 3 wire (PNP) ' H7A2 | F7TPV| F7P | @ (@ |O|—
= ) H7B |F7TBV| J79 | @ (@ |O|—
S 2 wire 12v — -
= Connector H7C | J79C | — o o 00
5) | 3 wire (NPN) SV 12V H7NW [FINWV|F79W | @ | @ |O |— I
o |Diagnostic indication : ’ _ _ Relay
g (2 color) ves 3 wire (PNP) sav H7PW F7PW | @ @O pLC
g H7BW [H7BWV| J79W | @ | @ |O |—
o N 2 wire 12v
= Water resistant —_—
3 @ color) Grommet — |H/BA| — |F/BA|— |@|O|—
With timer 3 wire (NPN) — — |F7NT ® O~
5V, 12V Ic
Wlthdlzszgncgls(:lr?uutput Awire H7NFE R F79F . . O —
hd
Latch wit (lecig:gsﬂcoutpul (NPN) . H7LE . E7LE e|O|—| —
+ Lead wire length 0.5m:-eeeee — e.g.) C73C [<104 EEREEERREE Z e.g.)C73Cz
3Meeeeeeeens L C73CL  None: - N C73CN

+ Solid state switches marked with* O " are manufactured upon receipt of order.
#x “D-A79W” cannot be mounted on bore size 10 cylinder with air cushion.

1.3-42



Built-in Speed Controller: Double Acting Single Rod Series CJZZ

Specifications

Space saving air cylinder
with built-in speed controller

Auto switch available

JIS symbol

Double acting/single rod

-3

Y

TE

Port Location on Head Cover

Either perpendicular to the cylinder axis or in-line
with the cylinder axis is available for basic style.

In-line

Perpendicular

A\ Precautions

e

1 Refer to p.1.3-3 before 1
I handling. 1

U |

Action Double acting/Single rod
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.06MPa

Ambient and fluid temperature

Without auto switch: —~10°C to 70°C, With auto switch: ~10°C to 60°C*

Cushion Rubber bumper (Standard equipment) CJ 1
Lubrication Non-lube —
Thread tolerance JIS class 2 CJP
Stroke tolerance 40
Speed controller Built-in
. Basic, Axial foot, CM2
Mounting Front flange, Double clevis I
Piston speed 50 to 750mm/s C85
210 0.035J
Allowable kinetic energy CG1
216 0.090J L
# No freezing M B
Standard Stroke mm |C95
Bore size Standard stroke
CAl
10 15, 30, 45, 60, 75, 100, 125, 150 —
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200 CS1
Minimum Strokes for Auto Switches Mounting
e Refer to p.1.3-3.
Mounting Accessories/Rrefer to p.1.3-12 for details.
) . Axial Front Double
M i
ounting e foot flange clevis™®
° Mounting nut o o ([ —
]
B Rod end nut o o [ o
]
o Clevis pin — — _ )
c Single knuckle joint o ® [ o
2 Double knuckle joint™ [ ] L L ([ ]
(o]
T bracket — — — [ J

+ Double clevis or double knuckle joint are packaged with pins and rings.

1.3-43



Series CJ2Z

Copper Free

Weight
Bore size (mm) 10 16
Basic weight* 40 73
Additional weight for each 15 of stroke 4 6.5
Mounting Axial foot 8 20
bracket Front flange 5 15
weight Double clevis™* (with pins) 4 10

20-CJZZ\ Mounting H Bore size H Stroke ‘ﬁg;tdlggevnei?non

TCopper free

To eliminate influences of copper ions or halogen ions
during CRT manufacturing processes, copper and fluorine
materials are not used as component parts.

* This basic weight includes weights of mounting nut and rod end nut.

#* The mounting nut is not attached to the double clevis style, so the mounting

nut weight is already reduced.
Calculation example: CJ2ZL10-45

®Basic weight: 40 (210)

* Additional weight: 4/15 stroke

e Cylinder stroke: 45 stroke

*Mounting bracket weight: 8 (Axial foot)
44+4/15 X 45+8=609g

Mounting Bracket Part No.

Specifications

Mounting bracket Borelsizelum)
10 16
Foot CJ-L010B CJ-L016B
Flange CJ-F010B CJ-F016B
T bracket™ CJ-T010B CJ-T016B

+ T bracket is used with double clevis (D).

Auto Switch Mounting Bracket Part No. (Band mounting)

Bore size Bracket part No. Note
(mm)
10 BJ2-010 Common use to all of
16 BJ2-016 D-C7, C8 and D-H7

(A switch mounting band is not attached. Please order the band

Q Note) A set of stainless steel mounting screws “BBA4” is attached.

separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL” switch is set on the cylinder with the screws above
when shipped.

Also, when a switch only is shipped, “BBA4” screws are attached.

Action Double acting/Single rod
Bore size (mm) 210, 916
Max. operating pressure 0.7MPa
Min. operating pressure 0.06MPa

Cushion

Rubber bumper (standard equipment)

Standard stroke (mm)

Same as the standard (Refer to p.1.3-43.)

Auto switch

Possible to be mounted

Mounting

Basic, Axial foot,
Front flange, Double clevis

Construction (The cylinder cannot be disassembled)

2 ©Bd . [ ]
A \ "\._ Y i! . II'. I
NN \ : \ \ - I |
\ \'\. : -.\l \ \ \ ; r - \
: '. :
= ' a o
| I | -~
A e
Component Parts

No. Description Material Note No. Description Material Note
@ | Rod cover Aluminum alloy White anodized ) | Mounting nut Brass Nickel plated
@ | Head cover Aluminum alloy White anodized (@ | Rod end nut Rolled steel Nickel plated
® | cylinder tube Stainless steel (3 | Piston seal NBR

@ | Piston rod Stainless steel Rod seal NBR

® | Piston Brass @ | Check seal A NBR

® | Bumper Urethane Check seal B NBR

@ | Speed controller needle Stainless steel @ | Tube gasket NBR

Check packing sleeve Brass Piston gasket NBR

@ | Steel ball Bearing steel Needle seal NBR

Retaining ring Carbon tool steel | Black zinc chromated

1.3-44



Built-in Speed Controller: Double Acting Single Rod Series CJZZ

FIH
Basic (B)

CJ2zB|

Bore size H Stroke HPort location on head cover

]
> ard . 2
= L] L=

o | WA wB -

NN Q| Mounting nut* N CJ1
MM ®, /GA Piping port 2-M5 X 0.8 GB Piping port —

& Ay ™ M5 X 0.8 CJP

f 9 B R
' . N
(Q H— 1 =

0B / A F, . NA NB ——

H S + Stroke Port location on head CM2
Rod end nut Z + Stroke cover: In-line (R) —

C85

CGl1

+ Refer to p.1.3-12 for details of the mounting nut. (mm IMB

Bore A B | C D F | GA| GB | H MM NA | NB NDh8 NN WA | WB |WW | S 7z —

10 15 | 15 | 17 | 4 8 | 75|65 | 28 | M4X07 | 21 | 18 88022 | MBX10 |145(135| 45| 63 | 91 |C95
16 15 | 18 | 20 | 5 8 | 75|65 | 28 | M5X08 | 21 | 18 | 10 80, | MIOX1.0 |145|135| 55 | 64 | 92 ————

CAl

Axial Foot (L) Cs1

CJ2ZL ’ Bore size H Stroke HPort location on head cover‘

| {
i W)

WA WB|
- -

o

Port location on head

cover: In-line (R
Mounting nut® (R)

Cover surface level Piping port 2-M5 X 0.8 -
/ MM NE\\*F--E‘& / G Piping port
} _._\\ \ Pl | !,ff'u'l5 X038
! 2y | s ISZ¥
ol = — - : t
2l I \ Lr/
ot 1 l ‘/‘51’_
L x| Vv at NB
“T’- Rodend / —_— =
hit / + Stroke
-------- — Z + Stroke
2-0LC
/ Mounting hole
Material: Iron
Part No. | Bore | B Cc d H
NTJ-010A| 10 | 7 |81 |M4X0.7| 3.2
NTJ-015A| 16 | 8 | 9.2 [M5X08| 4
* Refer to p.1.3-12 for details of the mounting nut. (mm)
Bore A|B|C|D|F|GA|GB|H |[LB|LC|LH|LT|LX|LY]|LZ MM NA | NB NN S WAWBWW| X |Y | Z
10 1515|117 | 4 | 8 |75|6.5| 28 |165|45| 9 |1.6|24 |165| 32 | M4X0.7 | 21 | 18 | M8X 1.0 | 63 [145(135({45| 5 | 7 |91
16 15|18 |20| 5| 8 |[75]|65| 28|23 |55|14 (23|33 |25|42|M5X0.8 |21 |18 |MI0X10| 64 [145|135|55| 6 | 9 |92
L] Basic Foot
CAD| CJ2Z[10 -weeeeveee SCJ210, #9 SCJ210, #9, #3
CJ2Z[116 --weeev-- SCJ216, #9 SCJ216, #9, #3

* The data shows auto switch styles.
Please delete the unnecessary parts. 1.3-45



Series CJ2Z

Front Flange (F)

CJ2ZF ‘ Bore size H Stroke HPort location on head cover‘

g!
HEH——OEF
SRz Ll
A wg
NN Mounting nut®
Cover surface level - | [ga Pipingport2-M5X 0.8 GB Piping port
MM | || - - y 0
“._/ ) ™ gl V. & M5 X 0.8
. I £ 1A AVA _E A
FX FT 0B
FZ 2-0FC / A F, NA_| NB Port location on head
tI‘;«‘Ioluming y, H S + Stroke cover: In-line (R)
o8 Z + Stroke
Rod end nut
« Refer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B C D F FB|FC | FT | FX | FY | FZ |GA | GB | H MM NA | NB NN WA |WB |[WW| S A
10 15 | 15 | 17 4 8 [145/45(16 |24 | 14 | 32 |75|65| 28 [M4X0.7] 21 | 18 [M8X1.0{145|135| 45 | 63 | 91
16 15 | 18 | 20 5 8 19 | 55|23 |33 |20 |42 | 75|65 | 28 IM5X0.8| 21 | 18 [M10X1.0{145|135| 55| 64 | 92
Double Clevis (D)
CJZZD‘ Bore size H Stroke ‘
= ——
ﬂ:@ =)
WA
Z + Stroke R
H S + Stroke U
; +0,030
Rod end nut Piping port - NB 0CDHo o " w02
- GA 2-M5X 0.8 GB Clevis pin 1CX40%
O ‘L {ocdas S 20)
Q o -
ui it - ! -w.'l'Eé- - i
- — T - - S T mounting
0B A NA Refer to p.1.3-12". | .
for details. 3 :

W :
L ZZ + Stroke J
Material: Iron
Part No. | Bore B C d H
NTJ-010A| 10 | 7 | 8.1 |M4X07]|3.2
NTJ-015A| 16 | 8 | 9.2 [M5X08| 4
# Clevis pins and set rings are attached. Material: Iron
Bore A B C [CD(cd) CX | CZ D GA | GB H MM NA NB R S WA | WB | WW VA 74
10 15 15 17 | 3.3 | 3.2 15 4 75 |195| 28 | M4X0.7| 21 31 5 63 8 145|265 | 45 99 110
16 15 18 20 5 6.5 18 5 75 |245| 28 | M5X08| 21 36 8 64 10 [ 145|315 | 55 | 102 | 116
T mounting dimensions (mm)
Bore TC TH v | T™W | TX TY Basic Flange Double clevis
CJ2Z10 «++evvee SCJ210,#9 SCJ210, #9, #4 Not available
CAD| ’ , 7Y,
10 45 129 | 40 | 2 | 32 | 12 CI2Z0I16 +vvvee SCJ216,#9 SCJ216,#9, #4  Not available
16 55 | 35 | 48 | 28 | 38 | 16 * The data shows auto switch equipped styles.

Please delete the unnecessary parts.

1.3-46



210, 216

How to Order

Built-in Speed Controller: Double Acting Double Rod

Series CJ2ZW

__Boresize ¢ %
- 10| 10mm

% T temm CcJp
e . Mounting ————

5 Basic Standard stroke (mm) CM2
L Axial foot 210 | 15, 30, 45, 60 L

F Front flange 216 | 15, 30, 45, 60 C85

CG1

Standard CJ2ZW|L |16 —45 MB
ey cbJ2zw/|L|[16H45Hc73 €95

CAl
® Nu_mber of —

With auto switch Switches CS1
(Built-in magnet) Auto switch — 2 —

+ Refer to the table below for selecting S 1
applicable auto switches. o n_ |

+ If requiring a built-in-magnet cylinder
without an auto switch, refer to the model
number example below.

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.

Part No. of Cylinder with Built-in Magnet

5 Load voltage Auto switch model** Lead wire™ (m)
; .o |Electrical| @ | Wiring ; Applicable Symbol “-A” (rail mounting) or “-B”
Style| Special function entl £ (output) DC AC | Band Rail 05 | 3 | 5 |Noney ~ g Y ( 9 '
y |2 Perp. | Indine | & [V [@)| N (band mounting) should be suffixed to the
?Nvgi'r\‘e) | sy o c76 _ |ateH | @ l@|—|—| c | — part No. of the cylinder with auto switch.
S Y — = — .
] Grommet | 200v A2 || A7Z-) [ K — £ |Rail mounting | CDJ2ZWB16-60-A
2 _ L 12v | 100V | C73 | A73 |A73H | @ |@|@®|— " |Band mounting | CDJ2zWB10-45-B
3 No 2 wire 5V, 12v| <100V | C80 | A80 [A80H | @ |@|—|— | IC |Relay
wil
e Yes 24v| 12v | — |C73C|A73C| — | @ |@|®@|@®| — | PLC
Connector [—
_ - No 5V, 12V| <24V | C80C | ABOC | — ® 000 C
Diagnostic Indicaion| Grommet|ves — — — |ATOW| — ® o —|— | —
3 wire (NPN) T H7AL | F7NV| F79 | @ (@O~ |«
Grommet| |3 wire (PNP) ' H7A2 | F7PV| F7P | @ |@|O|—
= 2 wire 1ov o H7B | F7BV| J79 | @ (@ |O|—|
Pt Connector H7C | J79C | — ® 00 o
Z ] swre(Ne)| | H7NW | FINWV| F7ow | @ |@[O|—|
o Diagnostic indication N , _ _ Relay
g (2 colon ves 3wire (PNP) Sav H7PW FIPW| @ (@O PLC
g H7BW [H7BWV| J79W | @ @ |O |—
il - 2 wire 12v
= | Water resistant -
(%  colon) Grommet — H7BA — FIBA| — | @|O|—
With timer 3 wire (NPN) sy 12V — —_ FINT | — |@|O|— N
With diagnostic output 4 wire ' H7NE P E79F . . O —
Latch with d
atcl wwl(zlsglrg?)sl\coumul (NPN) J— H7LF J— F7LF @ O|—| —
+ Lead wire length 0.5m--enes — e.g.) C73C |1 EERPRPRRRD Z e.g.)C73Cz
BMeeevreeens L C73CL  None:- N C73CN

* Solid state switches marked with* O ” are manufactured upon receipt of order.
#x “D-A79W” cannot be mounted on bore size @10 cylinder with air cushion.

1.3-47



Series CJ2ZW

Specifications

Space saving air cylinder

with built-in speed controller

JIS symbol
Double acting/Double rod

¥3 @F

A\ Precautions

e —————

1 Refer to p.1.3-14 before 1
I handling. 1

U |

1.3-48

Action Double acting/Double rod
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.1MPa

Ambient and fluid temperature

Without auto switch: —10°C to 70°C, With auto switch: ~10°C to 60°C*

Cushion Rubber bumper
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance L0
Speed controller Built-in

Mounting Basic, Axial foot, Front flange
Piston speed 50 to 750mm/s
210 0.035J
Allowable kinetic energy
216 0.090J
* No freezing
Minimum Strokes for
Standard Stroke (mm) Auto Switch Mountlng
Bore size Standard stroke
10 15. 30 45. 60 e Refer to p.1.3-3.
16 15, 30, 45, 60

Mounting Accessories/Rrefer to p.1.3-12 for details.

Mounting Basic Axial foot Front flange
Mounting nut o o o
Standard
Rod end nut ([ J o (]
. Single knuckle joint ([ ([ (]
Option —
Double knuckle joint ([ o (]

* Double clevis or double knuckle joint are packaged with pins and rings.

Mounting Bracket Part No.

Bracket Bore size (mm)
10 16
Foot CJ-L010B CJ-L016B
Flange CJ-F010B CJ-F016B

Auto Switch Mounting Bracket Part No. (Band mounting)

e Bracket part No. Note
(mm)
10 BJ2-010 Common use to all of D-C7,
16 BJ2-016 C8 and D-H7




Copper Free

Built-in Speed Controller: Double Acting Double Rod Series CJZZW

Weight @
Bore size (mm) 10 16
Basic weight™ 50 a5
Additional weight for each 15 of stroke 6 9
Mounting Axial foot 16 40
bracket weight Front flange 5 15

# This basic weight includes weight of rod end nut.

Calculation example:
CJ2ZWL10-45

®BasiC Weight «-weeveererneiiiiiins
¢ Additional weight

e Cylinder stroke

*Mounting bracket weight -+

50+6/15 X 45+16=84¢g

50 (210)
6/15 stroke

20-CJ2Wz ‘Mounting H Bore sizeH Stroke ‘

Port location
on head cover

Copper free

To eliminate influences of copper ions or halogen ions
during CRT manufacturing processes, copper and fluorine

materials are not used as component parts.

Specifications

Action Double acting/Double rod CGl
Bore size (mm) 210, 216 E—
Max. operating pressure 0.7MPa MB
Min. operating pressure 0.1MPa  —
Cushion Rubber bumper C95
Standard stroke (mm) 15, 30, 45, 60 CA1
Auto switch Possible to be mounted I
Mounting Basic, Axial foot, Front flange CS1

Construction (The cylinder cannot be disassembled.)

2

Component Parts

No. Description Material Note No. Description Material Note

® | Rod cover Aluminum alloy White anodized ® | Rodend nut Rolled steel Nickel plated
@ | cylinder tube Stainless steel Piston seal NBR

® | Piston rod Stainless steel @ | Rod seal NBR

@ | Piston Brass @ | Check seal NBR

® | Bumper Urethane @ | Tube gasket NBR

® | Speed controller needle Stainless steel Piston gasket NBR

@ | steelball Bearing steel @ | Needle seal NBR

Mounting nut Brass Nickel plated

1.3-49




Series CJ2ZW

Basic (B)
CJZZWB‘ Bore size H Stroke
WA
—
I =
" 1
s ] I
@ WA [
S Mounting nut* 2
NN S Piping port 2-M5 X 0.8 °
MM GA IpIng port 2- . GA NN MM
\ [T i 3
f | - it }
/B
Q
A lLF.l. NA NA F A
Rod end nut H S + Stroke H + Stroke
Z + 2 X Stroke
* Refer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B C D F GA H MM NA NDh8 NN S WA Ww Z
10 15 | 15 | 17 4 8 75 | 28 M4X07 | 21 8 300 M8 X 1.0 66 | 145 | 45 | 122
16 15 18 20 5 8 7.5 28 M5 X 0.8 21 10_8‘022 M10 X 1.0 67 145 55 123
Axial Foot (L)
CJZZWL‘ Bore size H Stroke
g e —
=
Rod end nut WA |
g?;::;e NN Mounting nut*
level N\ oFlGA Piping port 2-M5 X 0.8 NN MM
—r TR § MM () - s (=]
/?/\lﬁ [ a‘!‘:f | =)
f{‘s\ m| > ¥ = N+ S ' . -
%;}/{ == [T :H ~ ] U — S &
I 1T 1 = =T ~ al
1 | [}
LX i
LZ A |>( Y NA | = A
2.0LC H S + Stroke H + Stroke
Mounting hﬂlg o Z + 2 X Stroke
Rod end nut
d
-y i
ol
@ f
-B...' - —=H
Material: Iron
Part No.f Bore| B | C d H
NTJ-010A| 10 7 8.1 [M4X0.7| 3.2
NTJ-015A| 16 8 | 9.2 (M5X08| 4
* Refer to p.1.3-12 for details of the mounting nut. (mm)
Bore A|B|D|F |LB|LC|LH|LT|[LX|LY|LZ|GA| H MM NA NN S | WA |WwW| X z
10 15 | 15 4 8 165 | 4.5 9 16 | 24 |165| 32 | 75| 28 |[M4X0.7| 21 |[MBX10| 66 |145| 45 5 7 | 122
16 15 | 18 5 8 23 | 55| 14 |23 |33 | 25|42 | 75| 28 |[M5X0.8| 21 |MI0OX10| 67 |145| 5.5 6 9 |123

1.3-50



Built-in Speed Controller: Double Acting Double Rod Series CJZZW

Front Flange (F)

CJ2ZWF |Bore sizeH Stroke |

Mounting nut®

Cover 2-0FC__
surface level ounting NN GA  Piping port 2-M5 X 0.8 GA NN MM
. hole MM i | - . | %
ml;» = g s el e I '
| y I 0O B
[=] Il Y 1
=
/ R Rt
A . LE NA NA E . A
H S + Stroke H + Stroke
Rod end nut Z + 2 X Stroke
Rod end nut
d_
L/
@lﬁu d:i}‘
B H
Material: Iron
Part No. | Bore | B © d H
NTJ-010A| 10 | 7 |81 |[M4X07]3.2
NTJ-015A| 16 | 8 | 9.2 |[M5X08| 4
+ Refer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B D F FB | FC FT FX FY GA H MM NA NN S |WA|WW| Z
10 15 15 4 8 145| 45 | 1.6 24 14 7.5 28 M4 X 0.7 21 M8 X 1.0 66 |[14.5| 45 | 122
16 15 18 5 8 19 55| 23 33 20 7.5 28 M5 X 0.8 21 M10X 1.0 | 67 |14.5| 55 | 123

1.3-51

Cl1
CJP

o
ces
o1
VB
cos
Y
st




Low Friction: Double Acting Single Rod

Series CJ20

210, 916

How to Order

Standard stroke (mm)

15, 30, 45, 60, 75, 100, 125, 150

15, 30, 45, 60, 75, 100, 125, 150, 175, 200

Bore size ¢
10 10mm
16 | 16mm
Mounting

B Basic
L Axial foot 210
F Front flange 216
D Double clevis

16 — 60

20

L
| | | |
L ||16—60

o0

C73

With auto switch

Band mounting (Built-in magnet)

Port location on head cover

Symbol Port location
— Perpendicular
R In-line

A

Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch.

= Refer to p.1.3-54 for the configuration.

® Number of

switches
Auto switch — 2
* Refer to the table below for _s | 1
selecting applicable auto switches. n n

* |f requiring a built-in magnet cylinder
without an auto switch, refer to the
model number example below.

Part No. of Cylinder with Built-in Magnet

S Load voltage Auto switch model Lead wire™ (m)
. .o |Electrical| @ | Wiring ; Applicable Symbol “-A” (rail mounting) or “-B”
Style| Special function entr;/ 2| (output - A - Rail 05| 3|5 [Nonel ") 4 Y| ( 9) .
2 Perp. | Indine | & [V [@| N (band mounting) should be suffixed to the
(3N\/\F/’i'|’\‘e) | sy . c76 _ |ateH | @ l@|—|—| c | — part No. of the cylinder with auto switch.
< Y | — _ =
s Grommet | '** 200v AT2 |AT2H | @ | @ — £ |Rail mounting | CDJ2QB16-60-A
2 _ | 12v | 100V | C73 | A73 |A73H | @ (@@ — " |Band mounting| CDJ20B10-45-B
T No 2 wire 5V,12V| <100V | C80 | A80 |A80H | @ (@ |—|—| IC |Relay
wi
e Yes 24v| 12v | — |C73C|A73C| — | @ |@|@|@®| — | PLC
Connector [—
_ - No 5V,12V| <24V | C80C | ABOC | — ® 0600 C
D'agnf’zs‘é%fgg'ca"on Grommet |Yes — — — | A7TOW| — ® |0|—|—|—
3 wire (NPN) v — H7AL | F/NV| F79 | @ (@ | O|— c
Grommet| | 3wire (PNP) ' H7A2 | F7TPV| F7P | @ |@|O|—
s 2 wiire 12v . H7B | F7BV | J79 ® 0 O|—|
= Connector H7C | J79C | — ® 000
z ] Buire (PN | H7NW | F7NWV| Frow | @ (@ [O[—|
Q Diagnostic indication - , _ _ Relay
g (2 colon ves 3 wire (PNP) hav H7PW FIPW| @ (@O PLC
g H7BW [H7BWV| J79W | @ | @ |O |—
o - 2 wire 12v
= | Water resistant -
(%  colon) Grommet — H7BA — FIBA| — | @|O|—
With timer 3 wire (NPN) sV 12V — —_ FINT | — |@|O|— N
o 4 wire ‘ HINF| — |F79F | @ |@|O|—
1 with diagnosti
Latct wwl(zlsglrg?)slmoutpul (NPN) _ H7LF _ E7LE @ O|—| —
« Lead wire length 0.5m--enen — e.g.) C73C 5mceeeeens Z e.g)C73Cz
3meeeeeens L C73CL  None----N C73CN

# Solid state switches marked with* O ” are manufactured upon receipt of order.

1.3-52



Low Friction Style: Double Acting Single Rod Series CJZQ

Application Example

Specially designed to keep
friction of the piston to a
minimum. Suitable for
contact-pressure control
requiring smooth operation
at low pressures.

Low Friction
Min. operating pressure: 0.03MPa

JIS symbol
Double acting/Single rod

The low friction cylinder should be used with precision regulator (e.g. Series IR).

Driving roller

Winding roller

" Precision
regulator

Moving body

Wi

C85
CG1
Specifications
< — MB
Action Double acting/Single rod L
Fluid Air C95
Proof pressure 1.05MPa —
Max. operating pressure 0.7MPa CAl
Min. operating pressure 0.03MPa CSl

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C, With auto switch: ~10°C to 60°C*

Cushion Rubber bumper
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance 50

Bore size (mm) 210, 916

Mounting

Basic, Axial foot,
Front flange, Double clevis

Piston speed

50 to 750mm/s

210

0.035J

Allowable kinetic energy

216

0.090J

= No freezing

Standard Stroke

(mm)

Minimum Stroke for
Auto Switch Mounting

A\ Precautions

-

1 Refer to p.0-39 to 0-46 before 1
I handling. I

U |

Bore size Standard stroke
10 15, 30, 45, 60, 75,
100, 125, 150
16 15, 30, 45, 60, 75,
100, 125, 150, 175, 200

*Refer to p.1.3-3.

1.3-53



Series CJ2Q

Mounting Accessories/Rrefer to p.1.3-12 for details. Port Location on Head Cover
) ) Axial Front | Double Either perpendicular to the cylinder axis or in-line with the
Mounting Basic o . S . .
foot flange | clevis cylinder axis is available for basic style.
= | Mounting nut [ (] o — oy,
< A,ﬁ_é,
S | Rod end nut L [ ] [ ] [ "\\FQ
= \
» | Clevis pin — — — o 0 |
| Single knuckle joint o o o o -
'%_ Double knuckle joint* () ) () o In-ine Perpendicular
(@]
T bracket — — — o
+ Double clevis or double knuckle joint are packaged with pins and rings.
Mounting Bracket Part No. Sliding Resistance at the Low Friction Side
. Bore size (mm) 0.08
Mounting bracket Q_r
10 16 [
0.07 Pl
Foot CJ-L010B CJ-L016B / el
Flange CJ-F010B CJ-F016B S 0.06 e
T bracket™ CJ-T010B CJ-T016B =3 //
* T bracket is used with double clevis (D). % 0.05 //
. . . S /
Auto Switch Mounting Bracket Part No. (Band mounting) 2 o0a P
B - .g | //
ore size <
) Bracket part No. Note 2003
=]
10 BJ2-010 Common use to all of D-C7, ] 0.02
16 BJ2-016 C8 and D-H7 '
Note) A set of stainless steel mounting screws “BBA4” is attached. 0.01
(A switch mounting band is not attached. Please order the band
separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL” switch is set on the cylinder with the screws above 0 0.1 0.2 0.3 0.4 0.5 0.6 0.7
when shipped. Operating pressure (MPa)

Also, when a switch only is shipped, “BBA4” screws are attached. - -
* Converted to cylinder operating pressure.

Weight (9)
Bore size (mm) 10 16
Basic weight™ 24 55
Additional weight for each 15 of stroke 4 65

Axial foot 8 20

Mounting Front f
bracket weight ront lange 5 15
Double clevis** (with pins) 4 10

* This basic weight includes weights of mounting nut and rod end nut.

++ The mounting nut is not attached to the double clevis style, so the mounting
nut weight is already reduced.
Calculation example) CJ2QL10-45

* BaSiC WEIGN «vverreereeserseeneinns 24 (210)
» Additional weight «+«eooeeeieenees 4/15 stroke
o Cylinder stroke =« :w-eveevseeeen 45 stroke

* Mounting bracket weight ----:--- 8 (Axial foot)

24+4/15 X 45+8=44¢g

1.3-54



Series CJ2Q

Low Friction Style: Double Acting Single Rod

Construction (The cylinder cannot be disassembled.)

o)

Component Parts

No. Description Material Note No. Description Material Note
® Rod cover Aluminum alloy White anodized @ Rod end nut Rolled steel Nickel plated
@ Head cover Aluminum alloy White anodized ® Bumper Urethane
® Cylinder tube Stainless steel @ Piston seal NBR
@ Piston rod Stainless steel @ Rod seal NBR
® Piston Brass @ Tube gasket NBR
® Mounting nut Brass Nickel plated @ Piston gasket NBR
Basic Style (B)
CJ2QB ’ Bore size H Stroke HPort location on head cover
S| Mounting nut*
Rod end nut z
NN <G_A> Piping port 2-M5 X 0.8 GB Piping port
% MM /M5 X 0.8
‘\m;o '
Q W g Z.
=R i -
A B Port location on head
cover: In-line (R)
A F | NA NB
H S + Stroke
Z + Stroke Rod end nut
d
SRc
Bl 1L,
Material: Iron
Part No.|Bore | B | C d H
NTJ-010A| 10 | 7 | 8.1 |M4X07[3.2
NTJ-015A| 16 | 8 | 9.2 [M5X0.8] 4
* Refer to p.1.3-12 for details of the mounting nut. (mm)
Bore A B C D F GA GB H MM NA NB ND NN S z
10 15 12 14 4 8 8 5 28 M4 X0.7 | 125 | 95 83022 M8 X 1.0 46 74
16 15 18 20 5] 8 8 5 28 M5 X 0.8 125 | 95 10_8_022 M10 X 1.0 47 75

’ Refer to p.1.3-8 to 1.3-10 for dimensions of each mounting bracket.

Basic Foot
SCJ210, #1, #3

JT2QO10 +++vevevee SCJ210, #1
JT2QO16 ++ovevevee SCJ216, #1  SCJ216, #1, #3
* The data shows auto switch equipped styles.

Please delete the unnecessary parts.

Front flange
SCJ210, #1, #9
SCJ216, #1, #9

Double cleivis
SCJ210, #5
SCJ216, #5

1.3-55



Direct Mount: Double Acting Single Rod

Series CJZR

210, 216

How to Order

Bore size ¢
10 | 10mm
16 | 16mm

oun Standard stroke (mm)
& ounting 210 | 15, 30, 45, 60, 75, 100, 125, 150
A | Bottom mounting

216 |15, 30, 45, 60, 75, 100, 125, 150, 175, 200
Standard CJ2RA|16 460

T 1 | |
WIHEVSVIE CDJ2RA|16 — 60 —C73

With auto switch ® Number of
switches

Band mounting ) - (Built-in magnet) _—
m:‘ Auto switch B 2

e Port location on head cover
- ""_‘-'::' + Refer to the table below for selecting S 1
Symbol Port location applicable auto switches. n n

+ If requiring a built-in magnet
cylinder without an auto switch,

— Perpendicular

R In-line refer to the model number example
= Refer to p.1.3-58 for the configuration. below.
Applicable Auto Switches/ Rrefer to p.5.3-2 for further information on auto switch. Part No. of Cylinder with Built-in Magnet
5 Load voltage Auto switch model Lead wire™ (m) lcab
: .o |Electrical| § | Wiring i Applicable Symbol “-A” (rail mounting) or “-B”
Style| Special function entry _té (Output) bC AC Band Rail : Of (E) é) N(z;\lr;e g band » hould b Hixed to th
2 Perp. | Inine | © (band mounting) should be suffixed to the
?legrile) —| sy . c76 _ |a76H | @ |@|—|—|1c | — part No. of the cylinder with auto switch.
< Ye - - P — | — . N
S Grommet |'<* 200v A72 |AT2H | @ |@® _ £y | Rail mounting | CDJ2RA16-60-A
z || 12v | 100v BCEREAEREASHL © 0 0| — __|Band mounting| CDJ2RA10-45-B
i No 2 wire 5V,12V| <100V | C80 | A80 |[A80H | @ |@®|—|— | IC |Relay
e comecarl ™! 24v| 12v | — |C73C|A73C| — | o |@|®@|®| — |PLC
v - No 5V,12V| < 24V | C80C | ABOC | — ® 000 C
D'ag"USgg;gg'“““" Grommet | Yes —_ —_ — | A7TOW | — ® 0 —|—|—
3 wire (NPN) sv o] — H7AL|FINV| F79 | @ |@O|—| -
Grommet| | 3 wire (PNP) ' H7A2 | F7/PV | F7P | @ (@ |O|—
s 2 wire 12y - H7B |F7BV|J79 | @ |@|O|—|
2 Connector H7C | J79C | — o o 00
z ) ] e (PN| [ H7Nw [F7nwv| Frow | @ @ o[~
o iagnostic indication . ’ . _ Relay
g (2 color) ves 3 wire (PNP) 4y H7PW F7/PW | @ @O PLC
g H7BW [H7TBWV|J79W | @ |@ | O|—
=] N 2 wire 12V
= Water resistant i
(%  colon) Grommet — H7BA — F/IBA| — |@|O|—
With timer 3 wire (NPN) — — |FINT | — |@|O]—
[With dragriostc output | 5V,12V IC
ol 4 wire H7NF| — [F79F | @ |@|O|—
Latchwnth(g\zg‘r;rr:)sncoutput (NPN) _ H7LE . E7LE e 0|—| —
+ Lead wire length 0.5m:eeeeeee — e.g.)C73C [S171 EXTSCRRITES Z e.g.)C73Cz
M L C73CL  None:- N C73CN

* Solid state switches marked with* O ” are manufactured upon receipt of order.

1.3-56



Direct Mount: Double Acting Single Rod Series CJZR

Specifications

Square rod cover makes direct
contact mounting possible.

JIS symbol

Double acting/Single rod

A Precautions

e —————

1 Refer to p.1.3-3 before I
I handling. 1

U |

Action Double acting/Single rod
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.06MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C, With auto switch: ~10°C to 60°C*

Cushion Rubber bumper
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance 10

Bore size (mm) 210, 16

Mounting

Bottom mounting

Piston speed

50 to 750mm/s

Allowable kinetic energy

210 0.035J

216 0.090J

+ No freezing

Standard Stroke

(mm) —————
Bore size Standard stroke C95
10 15, 30, 45, 60, 75, 100, 125, 150 CAl
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200
Cs1

Minimum Strokes for Auto Switches Mounting

Min.
Mounting | Auto switch model N“”?ber el stroke
switches (mm)
2 (same surface) 50
D-c7 2 (different surfaces) 15
D-C8
1 15
o D-H7O 2 (same surface) 60
= D-H7OW -
< D-H7BAL 2 (different surfaces) 20
g D-H7NF 1 20
- D-C73C 2 (same surface) 65
g D-C80C 2 (different surfaces) 15
0
D-H7C 1 15
2 (same surface) 65
D-H7LF 2 (different surfaces) 25
1 25
D-A7/A8 2 10
D-A73C/A80C 1 5
D-F70V 2 5
o D-J79C 1 5
c
S |D-AT9W 2 15
é D-F7OWV 1 10
= D-F70, J79,
& | D-FroF, 2 »
D-A70H, A8OH
D-F70W, J79W 1 15
D-F7BAL
25
D-F7LF
25

Accesso ry/Refer to p.1.3-12 for details.

Standard

Rod end nut

Option

Single knuckle joint, Double knuckle joint™

+ Double knuckle joint is packaged with pins and rings.

1.3-57




Series CJZ2R

Weight (9) Port Location on the Head Cover
Bore size (mm) 10 16 Either perpendicular to the cylinder axis or in-line
Basic weight* 36 715 wnh_the cylmder axis is _avgﬂable for basic style.
(26 is available only as in-line style.)
Additional weight for each 15 of stroke 4 65

* This basic weight includes weights of rod end nut.

Calculation example) CJ2RA10-45
®Basic weight: -+ 36 (210)

® Additional weight: ---- 4/15 stroke

e Cylinder stroke: -+ 45 stroke

36+4/15 X 45=48¢g

Clean Series

In-line

Perpendicular

Auto Switch Mounting
Bracket Part No.(Band mounting)

Bore size Bracket part No. Note
(mm)
10 BJ2-010 Common use to
all of D-C7, C8
16 BJ2-016 and D-H7

Note) A set of stainless steel mounting

Q screws “BBA4” is attached. (A switch

mounting band is not attached.

Please order the band separately.)

“BBA4” screws are used for D-

C7/C8/H7.

“D-H7BAL” switch is set on the

cylinder with the screws above when

shipped.

Also, when a switch only is shipped,

“BBA4” screws are attached.

10-CJ2RA‘ Mounting H Bore size H Stroke ‘ Port location 0"‘

head cover

Clean series

The rod section of actuator is reinforced with the double-seal
structure. The air cylinder can be incorporated in the system
which directly discharges the external leak from the clean

room through the relief port.

Construction

Specifications

Action Double acting/Single rod
Bore size (mm) 210, 916
Max. operating pressure 0.7MPa
Min. operating pressure 0.08MPa

Cushion

Rubber bumper

Standard stroke (mm)

Same as the standard (Refer to p.1.3-57.)

Auto switch

Possible to be mounted

Mounting

Rear pivot mounting

e

1.3-58




Direct Mount: Double Acting Single Rod Series CJZR

Construction (The cylinder cannot be disassembled.) €%
B) €) 1) IJ\ 4) 3 8 5 10 ) 2
| \ A | [ [
I'. \‘ \‘: \ \‘\ \ \\ \'l\l II |
\ \\ \ % \\ \ I| II I
T - .' | cJ1
N \ \ \ | | | R
X 3 \ N LY \ f |
\ y " \. \ \\\ N \l" |] II| !u C JP
\ e . 1 jl L
o ‘ _____IA\ B i\—\'ﬁ%’
—f - w_], R N o an I
(5 & EPJF\ T CM2
N C85
CG1
Component Parts MB
No. Description Material Note No. Description Material Note —
@ Rod cover Aluminum alloy White anodized @ Bumper Urethane C95
@ Head cover Aluminum alloy White anodized ® Piston seal NBR —_—
® Cylinder tube Stainless steel ©O) Rod seal NBR CA1l
@ Piston rod Stainless steel ) Piston gasket NBR —
® Piston Brass @ Tube gasket NBR CS1
® Rod end nut Rolled steel Nickel plated —
Bottom Mounting
CJ2RA | Bore size H Stroke HPort location on head cover
Port location on head
«~ X, o cover: In-line (R)
GA Piping port 2-M5 X 0.8
Y Piping port M5 X 0.8
MM GB
[l \ % @} QO
T _ )¥ | T
L A&{’_‘r- - T \‘J i
N Rod end nut / 1&
LH NA NB 0B
LB 2-0LD S + Stroke — Rod end nut
Z + Stroke d
OO
B Sl
Material: Iron
Part No.| Bore | B C d H
NTJ-010A| 10 | 7 |81 [M4X07| 32
NTJ-015A| 16 | 8 | 9.2 [M5X08| 4
(mm)
Bore A B C D GA | GB H L LB LD LH | LX MM NA | NB X Y S z
10 15 12 14 4 16 5 20 | 238 16 |35, 26.5Depth of counter bore:4 | 8 12 | M4X0.7 |205| 95 | 28 8 54 74
16 15 18 20 5 16 5 20 | 26 | 20 |@45,08Depthof counter bore:5 | 10 16 | M5X0.8 |205| 95 | 28 8 55 75
H Rear pivot
CJ2RAL0 --oveee SCJ210, #10
CJ2RAL6 -oveee SCJ216, #10

* The data shows auto switch styles.
Please delete the unnecessary parts.

1.3-59



CJ2 Series 3/10/99 2:36 PM Page 60 $

Series CDJZ2R

Auto Switch Mounting Position

Reed Switch Solid State Switch
<Band mounting> <Band mounting>
D-C7/C8 - p— D-H7L/H7OW/H7BAL/H7F pT—
=3
==
29 1IB
( ):D-HLF

Auto switch

<Rail mounting> " - <Rail mounting>
A7/A8 M\ D-F7/J7
D-F7OW/J79W
D-F7OF/F7BAL Auto switch
As
( ): D-FILF
D-F70V/F7LIWV Auto switch

L
]_\.._

i

Auto switch

Auto switch

235

Auto Switch Mounting Position

Auto switch
model D-C7 D-A700H/A80H D-F70O0W
D-C8 D-H70] D-H7OW . D-A73C/A80C D-F7BAL
D-C73C D-H7C DehliiEA S D-A8 DTNt D-F70F D-A79W
D-C80C D-H70OF D-J79W
D-F700V D-F7O0WV
Bore size A B A B A B A B A B A B A B
10 2.5 25 1.5 1.5 0 0 3 3 3.5 35 75 75 0.5 0.5
16 3 3 2 2 0.5 05 35 35 4 4 8 8 1 1
Auto Switch Mounting Height
Auto switch| D-C7/C8 D-A7CJH/A80H
model | D-H7O/H7O0W| D-C73C D-A7 D-F7/J7 D-A73C D-F70O0V
D-H70F D-C80C D-H7C D-A8  |D-F7TOWM79W| D-A80C D-F7TO0WV D-J79C D-ATOW
D-H7BAL D-F7BAL/F7TOF
Bore size Hs Hs Hs Hs Hs Hs Hs Hs Hs
10 17 19.5 20 16.5 175 235 20 23 19
16 20.5 23 23.5 19.5 20.5 26.5 23 26 22
1.3-60

o




Direct Mount: Single Acting Spring Return/Extend

Series CJZR

210, 216

How to Order

stroke (mm)

15, 30, 45, 60

15, 30, 45, 60, 75, 100, 125, 150

Action

Single acting/Spring Return

¢ Standard
Bore size ¢ 210
1__0 10mm 216
wAl* 16| 16mm
Mounting S
_A_[ Bottom mounting T

Single acting/Spring Extend

CI2RA (1645

T T T 1

C73

With auto switch

® Number of

(Built-in magnet) M’IES—
Port locat head Auto switch — 2
ort location on head cover * Refer to the table below for selecting S 1
Symbol Port location applicable auto switches. n n
- = If requiring a built-in magnet
— Perpendicular cylinder without an auto switch,
R In-line refer to the model number example
« Refer to p.1.3-58 for the configuration. below.
* Not applicable to single acting/spring
extend style (T).
Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch. Part No. of Cylinder with Built-in Magnet
5 B Load voltage Auto switch model Lead wire" (m) ) . )
Style| Special function |Electrical _cg (CV;/L::;?!) BE G B Rail 0.5 | 3| 5 |Nong Apr:)lg::ble Symbol *-A” (rail mounting) or *-B
entry |2 Perp. | In-line O L@ N (band mounting) should be suffixed to the
(3Nvgi’(‘e) _ | sy . c76 _ |ateH | @ l@|—|—| c | — part No. of the cylinder with auto switch.
e
i Grommet| " | T 200V | — | A72 |AT2H| @ |@|—|—| £ [Rail mounting | CDJ2RA16-60S-A
z _ - 12v | 100V |PC7S | A7 [ATSHI @ |@ @ |— Band mounting | CDJ2RA10-455-B
B No 5 wire 5V, 12V| <100V | C80 A80 |A80H | @ |@|—|— | IC |Relay
wi
e Yes 24v[ 12v | — |C73C|A73C| — | @ |@|®|@®@| — |PLC
Connector —
» - No 5V, 12V| =24V | C80C | A8BOC | — ® 000 cC
D'agng;‘gg.'gg'ca“‘m Grommet|Yes — — — | A79W| — ® e —|— | —
3 wire (NPN) o] — H7A1 | FINV| F79 | @ (@|O|— c
Grommet 3 wire (PNP) ' H7A2 | F7PV| F7P | @ (@ | O|—
= 2 wire 12v . H7B | F7BV | J79 ® @ O|—|
= Connector H7C | J79C | — ® 000
Z ; swie (V)| [ H7NW | FINWV| Frow | @ [@[O[—|
@  |Diagnostic indication - ' — — Relay
8 (2 color) Yes 3 wire (PNP) 24V H7PW F7/PW| @ (@O pLe
g H7BW |[H7BWV| J79W | @ (@ | O |—
=] - 2 wire 12V _
= | Water resistant
3 2 colon) Grommet — |H/BA| — |F/BA| — |@|O|—
With timer 3 wire (NPN) sv. 12 — —_ E7NT | — |@|O|— |c
W\l:dl:jnosucoulpul 4 wire ' H7NF R E79F [ ® O|—
o -
st wen) || — wir| — |[Frir| @ [@]o]-[—
* Lead wire length 0.5m:-eeveee — e.g.) C73C Smeeeeeneee Z e.g.)C73Cz
3meeeeees L C73CL  None----N C73CN

* Solid state switches marked with* O ” are manufactured upon receipt of order.

1.3-61

Cl1
CJP

w2
5
=
Ve
=3
oL
st




Series CJZ2R

Specifications

Square rod cover makes direct

contact mounting possible.

JIS symbol

Single acting/
Spring return

— AN

Single acting/
Spring extend

Action Single acting/Spring return| Single acting/Spring extend
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.15MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C, With auto switch: ~10°C to 60°C*

Cushion Rubber bumper
Lubrication Non-lube
Thread tolerance JIS class 2
Stroke tolerance o

Bore size (mm) 210, 916

Mounting

Bottom mounting

Piston speed

50 to 750mm/s

Allowable kinetic energy

210 0.035J

216 0.090J

= No freezing

Standard Stroke

(mm)
Bore size Standard stroke
10 15, 30, 45, 60
16 15, 30, 45, 60, 75, 100, 125, 150

Minimum Stokes for Auto Switch Mounting

®Refer to p.1.3-57.

Accesso ry/Refer to p.1.3-12 for details.

Standard

Rod end nut

Option

Single knuckle joint, Double knuckle joint™

+ Double knuckle joint is packaged with pins and rings.

Auto Switch Mounting Bracket Part No. (Band mounting)

A\ Precautions

1 Refer to p.1.3-21 before I

I handling.

U |

1.3-62

Bore size Bracket part Note
(mm) No.
10 BJ2-010 Common use to all of D-C7,
16 BJ2-016 C8 and D-H7

switch mounting band is not attached. Please order the band
separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL” switch is set on the cylinder with the screws above
when shipped.

Also, when a switch only is shipped, “BBA4” screws are

QNote) A set of stainless steel mounting screws “BBA4” is attached. (A

attached.
Spring Force (N)
Bore size Retracted Extended
(mm) side side
10 6.86 3.53
16 14.2 6.86




Direct Mount: Single Acting Spring Return/Extend Series CJZR

Weight
Spring Return @ Spring Extend @
Bore size (mm) 210 216 Bore size (mm) 210 216
15 Stroke 38 73 15 Stroke 44 78
30 Stroke 45 90 30 Stroke 50 94
45 Stroke 54 112 45 Stroke 59 114
. 60 Stroke 63 134 o 60 Stroke 67 135
Weight Weight”
75 Stroke — 155 75 Stroke — 154 cJ1
100 Stroke — 198 100 Stroke — 192 I
125 Stroke — 234 125 Stroke — 226
150 Stroke — 260 150 Stroke — 250
# This weight includes weight of rod end nut. + This weight includes weight of rod end nut.
Construction (The cylinder cannot be disassembled.)
CJ2RAC-0IS MB
—AA 0 O @ e @ ® 5 C95
1 \ s Y N 5, —
_ | L A
\ CAl
| 5 \
\ . . % 1 —
| L
-. ; A\ cst
Y ) NS 7 T 7 i
f -+ +3h - 4 i E —
=slam] | @
CJ2RAO-OT
AA mw @ @ @ ® Odu &®& ® ® @ @ @
1= = o u NN NSAAN T £ £ F 7 1
s I| \ 8 % \ .\\ .'. 1 ,"’I £ ; _."'l ',.f |
| \ \\\ b *\\ \ | :_J.-" : / ::
\ ; "“ \\\ \ ™ \\_ .-’"f / / I:I
E x 777
] I - T - — | - LS S S — = -
A f/"‘\‘ | l |
Component Parts
No. Description Material Note No. Description Material Note
@® Rod cover Aluminum alloy White anodized Spring seat Brass
@ Head cover Aluminum alloy White anodized ©® Bumper Urethane
® Cylinder tube Stainless steel Rod end nut Rolled steel Nickel plated
@ Piston rod Stainless steel @ Piston seal NBR
® Piston A Brass @ Tube gasket NBR
® Piston B Brass ® Piston gasket NBR
@ Return spring Piano wire Rod seal NBR

1.3-63



Series CJZ2R

Single Acting/Bottom M

ounting

Spring return/CJ2RA ‘ Bore size H Stroke ‘ S‘ Port location on head cover

MM

N

Rod end nut

Bleed port

S + Stroke

Z + Stroke

Spring extend/CJ2RA| Bore size H Stroke | T

X + Stroke

Rod end nut
MM

Piping port M5 X 0.8

Piping port M5 X 0.8

GB_
Piping port M5 X 0.8
$
S ﬁ
.08 |
NB Port location on head
cover: In-line (R)
Bleed port

E OB
A NA
H + Stroke S + Stroke
Z + 2 X Stroke
Rod end nut
H
Material: Iron
PartNo. | Bore | B | C d H
NTJ-010A 10 7 8.1 (M4X0.7| 3.2
NTJ-015A 16 8 9.2 (M5X0.8| 4
(mm)
Bore A B C D GB H L LB LD LH LX MM NA | NB X Y
10 15 12 14 4 5 20 23 16 |035, 96.5Depth of counterhore: 4| 8 12 M4 X 0.7 13.5 95 28 8
16 15 18 20 5 5 20 26 20 |g45, 88Depth of counter bore: 5| 10 16 M5X0.8 | 135 | 9.5 28 8
Dimensions by stroke/Spring return
Symbo S Z
St
Bore %k [ 5 101516 to 3031 to 4546 to 60] 6L to 75|76 to 100[ 10110 125] 12610 150 5 to 15[ 16 to 30]31 to 4546 to 60|61 to 7576 to 100] 101 0 125 126 o 150
10 53.5 | 61 73 85 — — — — | 735 | 81 93 | 105 | — — — —
16 535 | 62 74 86 92 | 116 | 134 | 146 | 735 | 82 94 | 106 | 112 | 136 | 154 | 166
Dimensions by stroke/Spring extend (Dimensions not mentioned in the below table are the same as the above table.)
Bore GA | NA | NB S z
510 15|16 to 30 [ 3L to 45 |46 to 60|61 to 75 |76 t0 100 (10110 125|12610150|5 to 15|16 to 30 | 3L to 45|46 to 60| 61 to 75 |76 to 100 | 101 to 125 | 126 to 150
10 16 | 205 | 55 | 56.5 64 76 88 — — — — 76.5 84 96 108 — — — —
16 16 |[205| 55 | 56,5 | 65 77 89 95 | 119 | 137 | 149 | 765 | 85 97 | 109 | 115 | 139 | 157 | 169

1.3-64



Non-rotating Rod/Direct Mount: Double Acting Single Rod

Series CJZ2RK

210, 916

How to Order

CJ1
Bore size ¢ —
10[ 10mm CJP
E—
Standard stroke (mm) —
Mounting 210 |15, 30, 45, 60, 75, 100, 125, 150 CM2
A _[Bottom mounting @16 |15, 30, 45, 60, 75, 100, 125, 150, 175, 200 ——
C85
CG1
SIENET CJ2RKA|16 —60 —
T L MB
HQENERTIe CDJ2RKA|16—60 — C73 C95
. CA1
With auto switch A NuTbher of [
(built-in magnet) switches
Port locat head Auto switch —— 1 2 7CS]'
ort location on head cover + Refer to the table below for selecting S
Symbol Port location applicable auto switches. n T

— Perpendicular
R In-line
+ Refer to p.1.3-67 for the configuration.

Applicable Auto Switches/Rrefer to p.5.3-2 for further information on auto switch.

« If requiring a built-in-magnet
cylinder without an auto switch,
refer to the model number example
below.

Part No. of Cylinder with Built-in Magnet

5 Load voltage Auto switch model Lead wire™ (m)
. . ical|l ®| Wiring - Applicable
Style| Special function |Electrical| § outout Rail 0.5 | 3 [ 5 [Nongl "~
enty |3 (Output) DC AC Band Perp. | Inine | © |O|@| 0N o2
oy |—| v | — |c6| — |ateH| @ |@|—|—|ic | —
E, Grommet Yes —| — 200V — A72 |A72H | @ (@ |—|—|
5 || 12V | 100V | C73 | A7T3 |A73H | @ |®@ | @ |—
B No o 5V, 12V| <100V | C80 | A80 [AB0H | @ |@|—|— | IC |Relay
wire
e Ye 24v| 12v | — |C73C|A73C| — |® |@e|®|/®@| — |PLC
Connector [~
‘ - No 5V, 12V| <24V | C80C | ABOC | — ® 000 cC
g o " | Grommet ves — | = | — [ATW| — | @ |@|—|—|—
3 wire (NPN) sv 1w — H7A1 | FINV| F79 | @ (@ |O|— c
Grommet| | 3wire (PNP) ' H7A2 | F7TPV | F7P | @ |@|O|—
- X H7B | F7BV | J79 ® 0 O|—
S 2 wire 12V — —
2 Connector H7C | J79C | — ® 000
% ; 3 wire (NPN) sy 12V H7NW [FINWV|F79W | @ | @ | O |— Ic
Q Diagnostic indication - ) — — Relay
g (2 color) ves 3 wire (PNP) a4y H7PW FIPW| @ @|O PLC
g H7BW [H7TBWV|J79W | @ | @ | O |—
=R 2 wire 12V
= | Water resistant —
3 @ colon) Grommet — |H7/BA| — |F/BA|— |@|O|—
With timer 3 wire (NPN) sy 10V —_ — FINT | — |@|O|— N
Wl:wdl:gdnosllcou\pul 4 wire ' H7NF R E79F ® (00—
” n
atcl wwt(zlcaglgt’))sncoulpul (NPN) J— H7LF — E7LE ®|O|—| —
* Lead wire length 0.5m:-eeeee — e.g.) C73C |11 EEESTRIRRRTS Z e.g.) C73Cz
3Meeeeeeees L C73CL  None::- N C73CN

+ Solid state switches marked with* O ” are manufactured upon receipt of order.

Symbol “-A” (rail mounting) or “-B”
(band mounting) should be suffixed to the
part No. of the cylinder with auto switch.

CDJ2RKA16-60-A
CDJ2RKA10-45-B

Rail mounting

Ex.

Band mounting

1.3-65



Series CJZ2RK

Specifications

Non-rotating rod with
hexagon rod.

High non-rotating accuracy

210: £1.5° @16: +1°

Auto switch can be mounted to
detect the cylinder stroke position.

JIS symbol

Double acting/Single rod

&

A\ Precautions

r
1 Refer to p.0-39 to 0-46 before 1
I handling. 1

U |

1.3-66

Action Double acting/Single rod
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.06MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C, With auto switch: ~10°C to 60°C*

Cushion Rubber bumper

Lubrication Non-lube

Thread tolerance JIS class 2
+1.0

Stroke tolerance

0

Non-rotating accuracy

210: £1.5°, @16: +1°

Mounting Bottom mounting
Piston speed 50 to 750mm/s
210 0.035J
Allowable kinetic energy
216 0.090J

= No freezing

Standard Stroke (mm)
Bore size Standard stroke
10 15, 30, 45, 60, 75, 100, 125, 150
16 15, 30, 45, 60, 75, 100, 125, 150, 175, 200

Minimum Strokes for Auto Switch Mounting

*Refer to p.1.3-57.

Accesso ry/Refer to p.1.3-12 for details.

Standard

Rod end nut

Option Single knuckle joint, Double knuckle joint™

+ Double knuckle joint is packaged with pins and rings.




Non-rotating Rod/Direct Mount: Double Acting Single Rod Series CJZRK

Weight @
Bore size (mm) 10 16
Basic weight™ 36 715
Additional weight for each 15 of stroke 4 6.5

* This basic weight includes weight of rod end nut.
Calculation example: CJ2RKA10-45
* Basic weight: «+-eeeeeeee 36 (910)
« Additional weight: 4/15 stroke
* Cylinder stroke: -« 45 stroke
36+4/15 X 45=48¢g

Port Location on Head Cover

Either perpendicular to the cylinder axis or in-line with the cylinder axis is
available for basic.

P
\%Q
In-line Perpendicular
Auto Switch Mounting Bracket Part No. (Band mounting)
Bore size Bracket part No. Note
(mm)
10 BJ2-010 Common use to all of
16 BJ2-016 D-C7, C8 and D-H7

(A switch mounting band is not attached. Please order the band
separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL” switch is set on the cylinder with the screws above
when shipped.

QNote) A set of stainless steel mounting screws “BBA4” is attached.

Also, when a switch only is shipped, “BBA4” screws are attached.

A\ Caution
Precautions on handling
<Mounting>

® Avoid using the air cylinder in such a way that rotational torque would be
applied to the piston rod because this will deform the non-rotating guide,
thus affecting the non-rotating accuracy. Refer to the table below for the
approximate values of the allowable range of rotational torque.

210 216
0.02 0.04

Allowable rotational torque (Nm)

e Operate the cylinder in such a way that the load to the piston rod is
always applied in the axial direction.

®To screw a bracket onto the threaded portion at the tip of the piston rod,
make sure to retract the piston rod entirely, and place a wrench over the
flat portion of the rod that protrudes. To tighten, take precautions to
prevent the tightening torque from being applied to the non-rotating guide.

Construction (The cylinder cannot be disassembled.)

Component Parts

No. Description Material Note No. Description Material Note
@® Rod cover Aluminum alloy White anodized @ Bumper Urethane

@ Head cover Aluminum alloy White anodized Piston seal NBR

©) Cylinder tube Stainless steel © Rod seal NBR

@ Piston rod Stainless steel Piston gasket NBR

® Piston Brass @ Tube gasket NBR

® Rod end nut Rolled steel Nickel plated

1.3-67

Cl1
CJP

e




Series CJZ2RK

Bottom Mounting

CJ2RKA ’Bore size H Stroke ‘ ’Port location on head cover

4%
GA GB
Rod end nut Y o
MM ™ Piping port 2-M5 X 0.8 Piping port
_'______r' \ QC)
Cjk < ;>~n & d :
RN ¢ =V
e KA n 0B
. NB i
LH 2-0LD Rod cross section A NA INB | Port location on head
LB H S + Stroke cover: In-line (R)
Z + Stroke
Rod end nut
d
)
) o
B H
Material: Iron
PartNo. | B | g | ¢ d H
size
NTJ-010A| 10 7 |81 |M4x07]32
NTJ-015A| 16 8 | 92 [M5x08]| 4
(mm)
Bore A B C GA | GB H KA L LB LD LH | LX MM NA | NB X Y S z
10 15 | 12 | 14 | 16 5 20 | 4.2 | 23 | 16 |35 6.5Depthof counterbore:4| 8 12 | M4X0.7 [205| 9.5 | 28 8 54 | 74
16 15 | 18 | 20 | 16 5 20 | 5.2 | 26 | 20 |@45, o8Depthof counterbore:5| 10 16 | M5X 0.8 [20.5| 9.5 | 28 8 55 | 75
Bottom mounting
Bl ci2rRKAL0 e SCJ210, #10
CAD| OREZT VI J SCJ216, #10

* The data shows auto switch styles.
Please delete the unnecessary parts.

1.3-68



Non-rotating Rod/Direct Mount:

Single Acting Spring

Return/Extend

Series CJZ2RK

210, 916

How to Order

o Standard stroke (mm)
___Boresize o 210 |15, 30, 45, 60
& 10mm 216 | 15, 30, 45, 60, 75, 100, 125, 150
16mm
‘g / Action
Mounting S | Single acting/Spring return
Bottom mounting T | Single acting/Spring extend

CJI2RKA|16—45

T T T 7

C73

CDJ2RKA[16]{45

With auto switch \d Nu_erher of
(built-in magnet) switches
Port locati head Auto switch = 2
ort focation on head cover = Refer to the table below for S 1
Symbol Port location selecting applicable auto switches. n n
- — Perpendicular + If requiring a built-in magnet
: R In-line cylinder without an auto switch,
refer to the model number example

= Refer to p.1.3-67 for the configuration. below.
= Not applicable to single acting/spring
extend (T).
Applicable Auto Switches/refer to p.5.3-2 for further information on auto switch. Part No. of Cylinder with Built-in Magnet
5 » Load voltage Auto switch model Lead wire*(m) ) . .
Style| Special function |Electrical g (g\’d;'l;‘li) be A Rail 05 ]3] 5 Nond Apllz’lg:gble Symbol “-A” (rail mounting) or “-B’
@iy || = Band e, | indine | © |0 @] N (band mounting) should be suffixed to the
(:«;Nm;’r\le; —| sv o c76 _ |a76H | @ |@|—|—| 1c | — part No. of the cylinder with auto switch.
= Y, — | — — — | —
2] Grommet |'*° 200V AT2 |AT2H| @ |@® — £, | Rail mounting |CDJ2RKA16-60S-A
z L 12v | 100V | C73 | A73 |A73H | @ |@|@|— Band mounting | CDJ2RKA10-455-B
© No 2 wire 5V,12v| <100V | C80 | A80 |[A80H | @ (@ |—|— | IC |Relay
e Yes 24v| 12v | — |C73C|A73C| — | @ |@|@|® — |PLC
Connector —
No, 5V,12V| =24V | C80C | A8OC | — ® (000 C
Dlagnoslécollgglcamn Grommet |Yes . — — AT9W - [ ®|—|—| —
3 wire (NPN) svivl — H7A1 | FINV| F79 | @ (@ |O|— c
Grommet| | 3 wire (PNP) ' H7A2 | FTPV | F7P | @ (@ |O|—
= ) H7B | F7BV [ J79 | @ (@ O|—
S 2 wire 12V — —_—
=1 Connector H7C |[J79C| — | ® ®@e/@|®
5, | 3 wire (NPN) sV 12V H7NW | FINWV| F79W | @ | @ | O | — I
o Diagnostic indication . ' _ _ Relay
g (2 colon Yo 3 wire (PNP) 24y H7PW F7PW | @ @O PLC
g H7BW |[H7BWV| J79W | @ | @ | O |—
o N 2 wire 12v
= Water resistant -
3 2 colon) Grommet — |H/BA| — |F/BA| — |@|O|—
With timer 3 wire (NPN) — — |FEINT | — |@®@|O|—
5V,12V IC
Wit diagnoens outPut 4 vire H/INF| — |F79F | ® |@|O|—
Latch with diagnostic output
" (Zlcolor)‘ - (NPN) — IRALE _ FILF bl ol A5 ol
+ Lead wire length 0.5m:eeveee — e.g.) C73C |13 4 EEEEEERRREE Z e.g.)C73Cz
1) EEPTRPRRRS L C73CL  None:: - N C73CN

+ Solid state switches marked with* O " are manufactured upon receipt of order.

1.3-69

ci1
=3
w2
5
=
Ve
=3
oL
st




Series CJZ2RK

Specifications

Non-rotating rod with
hexagon rod.

High non-rotating accuracy

210: £1.5°, g16: +1°

No lubrication required

Auto switch can be mounted to
detect the cylinder stroke position.

-

Action Single acting/Spring return | Single acting/Spring extend
Fluid Air

Proof pressure 1.05MPa

Max. operating pressure 0.7MPa

Min. operating pressure 0.15MPa

Ambient and fluid temperature

Without auto switch: ~10°C to 70°C, With auto switch: ~10°C to 60°C*

Cushion Rubber bumper

Lubrication Non-lube

Thread tolerance JIS class 2
+1.0

Stroke tolerance

0

Non-rotating accuracy

210: £1.5°, 916: £1°

Mounting

Bottom mounting

Bore size (mm)

210, 916

Piston speed

50 to 750mm/s

Allowable kinetic energy

210

0.035J

216

0.090J

+ No freezing

Standard Stroke

(mm)
Bore size Standard stroke
10 15, 30, 45, 60
16 15, 30, 45, 60, 75, 100, 125, 150

Minimum Strokes for Auto Switch Mounting

 Refer to p.1.3-57.

Accessory/Rrefer to p.1.3-12 for details.

Standard

Rod end nut

JIS symbol

Single acting/
Spring return

—O-AA

Option Single knuckle joint, Double knuckle joint™

Single acting/ + Double knuckle joint is packaged with pins and rings.
Spring extend Auto Switch Mounting Bracket Part No. (Band mounting)

/\/\ Bore size
(mm)
| 10 BJ2-010

16 BJ2-016

Note) A set of stainless steel mounting screws “BBA4” is attached.
(A switch mounting band is not attached. Please order the band
separately.) “BBA4” screws are used for D-C7/C8/H7.
“D-H7BAL" switch is set on the cylinder with the screws above
when shipped.
Also, when a switch only is shipped, “BBA4” screws are attached.

Bracket part No. Note

Common use to all of D-C7,
C8 and D-H7

A\ Precautions

e ————— Spring Force -
1 Refer to p.1.3-36 before -: Bore size Retracted | Extended
1 handling. 1 (mm) side side
== d 10 6.86 353
16 14.2 6.86

1.3-70



Non-rotating Rod/Direct Mount: Double Acting Spring Return/Extend Series CJZR

Weight

Spring Return

()]

Spring Extend

()]

Bore size (mm) 210 216 Bore size (mm) 210 216

15 Stroke 38 73 15 Stroke 44 78

30 Stroke 45 90 30 Stroke 50 94

45 Stroke 54 n2 45 Stroke 59 114

Weight* 60 Stroke 63 134 Weight* 60 Stroke 67 135
75 Stroke — 155 75 Stroke — 154

100 Stroke — 198 100 Stroke — 192

125 Stroke — 234 125 Stroke — 226

150 Stroke — 260 150 Stroke — 250

# This weight includes weight of rod end nut.

# This weight includes weight of rod end nut.

Construction (The cylinder cannot be disassembled.)

~e ]

Single acting/Spring extend

—&n

Component Parts

Single acting/Spring return

L

- N

&

No. Description Material Note No. Description Material Note

@® Rod cover Aluminum alloy White anodized ©® Bumper Urethane

@ Head cover Aluminum alloy White anodized Rod end nut Rolled steel Nickel plated
® Cylinder tube Stainless steel @) Piston seal NBR

@ Piston rod Stainless steel @ Tube gasket NBR

® Piston A Brass @ Piston gasket NBR

® Piston B Brass Rod seal NBR

@ Return spring Piano wire

Spring seat Brass

1.3-71

Cl1
CJP

w2
5
=
Ve
=3
oL
st




Series CJZ2RK

Single Acting/Bottom Mounting

Spring return/CJZRK’ Bore size H Stroke ‘ S ’ Port location on head cover

X
Rod end nut Y Bleed port
MM | e | S
<] & : :
ke &
NB
2-0LD Rod cross A NA S + Strok "
section H + Slroxe
Z + Stroke

GB_ Piping port M5 X 0.8

Spring extend/CJ2RK | Bore size H Stroke \T

P
@ =

Piping port

Port location on head
cover: In-line (R)

X + Stroke |
>
GA
Rod end nut Y
MM ™ Piping port M5 X 0.8 Bleed port
4 O
JRY N o \ [0)
T @
= s .| 1 T = =
ROE 4 A
TR OB
LH] A NA NB
~ 1B 2-0LD H + Stroke S + Stroke
Z + 2 X Stroke Rod end nut
d
O}o|
B _.—LH
Material: Iron
Part No. | Bore B C d H
NTJ-010A| 10 8.1 [M4X0.7| 3.2
NTJ-015A] 16 | 8 [ 9.2 [M5Xx08] 4
(mm)
Bore A B C GB H KA L LD LH LX MM NA NB X Y
10 15 12 14 5 20 4.2 23 3.5, 86.5Depth of counter bore: 4| 8 12 M4 X 0.7 135 | 95 28 8
16 15 18 20 5 20 5.2 26 4.5, 88Depth of counter bore: 5| 10 16 M5 X 0.8 13.5 9.5 28 8
Dimensions by stroke/Spring return
Ssymbo/ S z
]
Bore ke 5t015(16t0 30|31 to 45|46 to 60|61 to 75|76 to 100|101 t0 125|126t0 150 |5 to 15(16 to 30|31 to 45 |46 to 60 | 61 to 75 |76 to 100|101 to 125 | 126 to 150
10 53.5 61 73 85 — — — — 73.5 81 93 105 — — — —
16 53.5 62 74 86 92 116 | 134 | 146 | 735 82 94 106 | 112 | 136 | 154 | 166
Dimensions by stroke/Spring extend (Dimensions not mentioned in the below table are the same as the above table.) (mm)
Bore GA | NA | NB S z
510 15(16t0 3031 to 45|46 to 60|61 to 75|76 t0 100|101 t0125]126t0150|5 to 15| 16 to 30 | 31 to 45|46 to 60| 61 to 75 | 76 to 100|101 to 125 | 126 to 150
10 16 | 205 | 55 | 565 64 76 88 — — — — 76.5 84 96 108 — — — —
16 16 | 205 | 55 | 565 65 77 89 95 119 | 137 | 149 | 76.5 85 97 109 | 115 | 139 | 157 169

1.3-72



World Wide & SMC Support...

North American Branch Offices For a branch office near you call: 1-800-SMC-SMC1 (762-7621)

SMC Pneumatics Inc. (Atlanta)
1440 Lakes Parkway, Suite 600
Lawrenceville, GA 30043

Tel: (770) 624-1940

FAX: (770) 624-1943

SMC Pneumatics Inc. (Austin)
2324-D Ridgepoint Drive
Austin, TX 78754

Tel: (512) 926-2646

FAX: (512) 926-7055

SMC Pneumatics Inc. (Boston)
Zero Centennial Drive

Peabody, MA 01960

Tel: (978) 326-3600

Fax: (978) 326-3700

SMC Pneumatics Inc. (Charlotte)
5029-B West W.T. Harris Blvd.
Charlotte, NC 28269

Tel: (704) 597-9292

FAX: (704) 596-9561

SMC Pneumatics Inc. (Chicago)
27725 Diehl Road

Warrenville, IL 60555

Tel: (630) 393-0080

FAX: (630) 393-0084

SMC Pneumatics Inc. (Cincinnati)
4598 Olympic Blvd.

Erlanger, KY 41018

Tel: (606) 647-5600

FAX: (606) 647-5609

SMC Pneumatics Inc. (Cleveland)
2305 East Aurora Rd., Unit A-3
Twinsburg, OH 44087

Tel: (330) 963-2727

FAX: (330) 963-2730

SMC Pneumatics Inc. (Columbus)
3687 Corporate Drive

Columbus, OH 43231

Tel: (614) 895-9765

FAX: (614) 895-9780

SMC Pneumatics Inc. (Dallas)
12801 N. Stemmons Frwy, Ste. 815
Dallas, TX 75234

Tel: (972) 406-0082

FAX: (972) 406-9904

SMC Pneumatics Inc. (Detroit)
2990 Technology Drive
Rochester Hills, Ml 48309

Tel: (248) 299-0202

FAX: (248) 293-3333

SMC Pneumatics Inc. (Houston)
9001 Jameel, Suite 180

Houston, TX 77040

Tel: (713) 460-0762

FAX: (713) 460-1510

SMC Pneumatics Inc. (L.A.)
14191 Myford Road

Tustin, CA 92780

Tel: (714) 669-1701

FAX: (714) 669-1715

SMC Pneumatics Inc. (Milwaukee)
16850 W. Victor Road

New Berlin, WI 53151

Tel: (414) 827-0080

FAX: (414) 827-0092

SMC Pneumatics Inc. (Mnpis.)
990 Lone Oak Road, Suite 162
Eagan, MN 55121

Tel: (651) 688-3490

FAX: (651) 688-9013

SMC Pneumatics Inc. (Nashville)
5000 Linbar Drive, Suite 297
Nashville, TN 37211

Tel: (615) 331-0020

FAX: (615) 331-9950

SMC Pneumatics Inc. (Newark)
3434 US Hwy. 22 West, Ste. 110
Somerville, NJ 08876

Tel: (908) 253-3241

FAX: (908) 253-3452

SMC Pneumatics Inc. (Phoenix)
2001 W. Melinda Lane

Phoenix, AZ 85027

Tel: (623) 492-0908

FAX: (623) 492-9493

SMC Pneumatics Inc. (Portland)
14107 N.E. Airport Way

Portland, OR 97230

Tel: (503) 252-9299

FAX: (503) 252-9253

SMC Pneumatics Inc. (Richmond)
5377 Glen Alden Drive

Richmond, VA 23231

Tel: (804) 222-2762

FAX: (804) 222-5221

SMC Pneumatics Inc. (Rochester)
245 Summit Point Drive

Henrietta, NY 14467

Tel: (716) 321-1300

FAX: (716) 321-1865

SMC Pneumatics Inc. (S.F.)
85 Nicholson Lane

San Jose, CA 95134

Tel: (408) 943-9600

FAX: (408) 943-9111

SMC Pneumatics Inc. (St. Louis)
4130 Rider Trail North

Earth City, MO 63045

Tel: (314) 209-0080

FAX: (314) 209-0085

SMC Pneumatics Inc. (Tampa)
8507-H Benjamin Road

Tampa, FL 33634

Tel: (813) 243-8350

FAX: (813) 243-8621

SMC Pneumatics Inc. (Tulsa)
10203 A East 61st Street
Tulsa, OK 74146

Tel: (918) 252-7820

FAX: (918) 252-9511

Europe

ENGLAND

SMC Pneumatics (U.K.) Ltd.
GERMANY

SMC Pneumatik GmbH
ITALY

SMC Italia SpA

FRANCE

SMC Pneumatique SA
HOLLAND

SMC Controls BV

SWEDEN

SMC Pneumatics Sweden AB
SWITZERLAND

SMC Pneumatik AG
AUSTRIA

SMC Pneumatik GmbH
SPAIN

SMC Espana, S.A.

IRELAND

SMC Pneumatics (Ireland) Ltd.
Asia

JAPAN

SMC Corporation

KOREA

SMC Pneumatics Korea Co., Ltd.
CHINA

SMC (China) Co., Ltd.

HONG KONG

SMC Pneumatics (Hong Kong) Ltd.
SINGAPORE

SMC Pneumatics (S.E.A.) Pte. Lid.
PHILIPRPINES

SMC Pneumatics (Philippines), Inc.
MALAYSIA

SMC Pneumatics (S.E.A.) Sdn. Bhd.
TAIWAN

SMC Pneumatics (Taiwan) Co., Ltd.
THAILAND

SMC Thailand Ltd.

INDIA

SMC Pneumatics (India) Pvt., Ltd.
North America

CANADA

SMC Pneumatics (Canada) Ltd.
MEXICO

SMC Pneumatics (Mexico) S.A. de C.V.

South America

ARGENTINA

SMC Argentina S.A.

CHILE

SMC Pneumatics (Chile) Ltda.

Oceania

AUSTRALIA

SMC Pneumatics (Australia) Pty. Ltd.
NEW ZEALAND

SMC Pneumatics (N.Z.) Ltd.

SMC offers the same quality and engineering expertise in many other pneumatic components

Valves

Directional Control Valves
Manual Valves

Mufflers

Exhaust Cleaners

Quick Exhaust Valves

Valves
Proportional Valves
Mechanical Valves
Miniature Valves
Fluid Valves

Rotary Actuators

Pneumatic Grippers

Cylinders/Actuators
Compact Cylinders
Miniature Cylinders
Rodless Cylinders

Vacuum
Vacuum Ejectors
Vacuum Accessories

Instrumentation
Pneumatic Positioners
Pneumatic Transducers

Air Preparation Equipment
Filters-Regulators-Lubricators
Coalescing Filters

Micro Mist Separators
Fittings

Air Fittings

SMC Pheumatics Inc.

P.O. Box 26640, Indianapolis, IN 46226

Tel: (317) 899-4440 »

FAX: (317) 899-3102



	Introduction
	CJ2 Standard: Double Acting Single Rod
	CJ2W Standard: Double Acting Double Rod
	CJ2 Standard: Single Acting Spring Return/Extend
	CJ2K Non-rotating Rod: Double Acting Single Rod
	CJ2K Non-rotating Rod: Single Acting Spring Return/Extend
	CJ2Z Built-in Speed Controller: Double Acting Single Rod
	CJ2ZW Built-in Speed Controller: Double Acting Double Rod
	CJ2Q Low Friction: Double Acting Single Rod
	CJ2R Direct Mount: Double Acting Single Rod
	CJ2R Direct Mount: Single Acting Spring Return/Extend
	CJ2RK Non-rotating Rod/Direct Mount: Double Acting Single Rod
	CJ2RK Non-rotating Rod/Direct Mount:

Single Acting Spring Return/Extend



